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Preface

‘Research Paper in English: Grammar Functions and Forms’ is a
manual for students who are planning to write research papers. This book is
designed to accompany another manual — ‘Research Paper in English:
Structure and Moves’ — and covers various grammatical topics indispensable in
scientific writing.

When presenting grammar material, the book goes beyond the language
system and moves from the notion of function to a grammatical form. Various
‘moves’ making up a research paper perform a particular communicative
function which is associated with this or that grammar form. For instance, in
the Introduction section, the Past Simple is used in literature review to describe
the contribution of other authors, while the Present Perfect relates previous
research to the current study. Another example is the Passive Voice which is
not generally recommended by research journal editors but is quite acceptable
in the Methods section to describe common procedures or techniques. The
sections and moves are characterized in ‘Research Paper in English: Structure
and Moves’.

This book provides clear and concise explanation, appropriate examples
along with ample practice material. It is divided into ten units each presenting
a specific grammar topic: Word Order, Verb Finite Forms, Passive, Simple
Tenses, Present Perfect, Reported Speech, Determiners, Verbals, Modals,
Noun Phrases and Articles. Each unit consists of two parts: General Grammar
aimed at helping the students refresh their knowledge of the basic features of
English grammar, and Academic Grammar where these features are related to
scientific writing. The learners are also encouraged to explore grammar aspects
used in the articles from their own research field and thus become familiarized
with the “language” used within their research community.

The manual is intended for the learners of B1 level and above (according
to the Common European Framework of Reference, CEFR), however it should
prove suitable for researchers who are only beginning to master the English
language.

Therefore, the desired goal of the manual is to provide students with a
new knowledge base for better understanding grammar used in Academic
English while enabling them to utilize this knowledge in their own writing.



Unit 1. Word Order in English Sentences

General Grammar

SVO

subject verb object

Sentence

Adverbial modifier

[ Noungroup | [ verbgroup | [ Noun grou |
AN RN

Article | | Adjective| | Noun Verb Verb Noun Adverb

[The] [new] [team] [will ] [perform] [experiments ] [tomorrow. ]

EXERCISES (GENERAL GRAMMAR)

A. Translate the following sentences into English paying attention to
the word order.

1) B MockBe *KHBET MHOTO JIIOJICH.

2) 51 paboTaro B YHUBEPCHUTETE, IJic BMECTE y4aTcs PyCCKHE M MHOCTPAHHBIC
CTYJCHTBI.

3) 51 oueHb XOPOIIIO TOHKUMAKO 3TO.
4) MHe OH OYCHb HPABHTCH.

5) OH KaX[plii pa3 TOBOPUII MHE.



Place of objects and modifiers

Object Adverbial Modifier
Indirect Indirect
Subject | Predicate | (pg Direct (preposi- | of Place of Time
preposi- tional)
tion)
We study Physics
I go to college | every day.
Prof. is delivering a lecture to his
Swales students.
The gave us all the
teacher materials.
We have practical in the on
classes laboratory | Monday.
B. Translate the sentence into English.
B nocneonee epemsa 6  mupe  nonyiapHolMu  CMAHOBAMCS

ajlbmepHamueHbsle 8UObI MONJIUBA.

C. Choose the sentences with the correct word order.

1. a) Propulsion system improvements provide direct means for reducing
aircraft fuel consumption.

b) Direct means for reducing aircraft fuel consumption provide propulsion
system improvements.

¢) For reducing aircraft fuel consumption direct means provide propulsion
system improvements.

2. a) Well documented in the literature is the use of nonlinear structural ROMSs™.

b) In the literature well documented is the use of nonlinear structural ROMs.

c) The use of nonlinear structural ROMs is well documented in the literature.

3. a) Itis now easy to prove the following lemma.

b) Now easy it is to prove the following lemma.

c) To prove the following lemma it is now easy.

! * ROM = reduced order model



|Academic Grammar

D. Read the following text about the iris-based person identification.
Find the following:

1) Title

2) Heading

3) Paragraph

4) Predicative

5) Predicate

6) Modal Predicate

7) Phrase

8) Adverbial of Purpose

9) Adverbial of Time

10) Clause (a group of words containing a subject and predicate and
functioning as a member of a complex or compound sentence)

11) Attribute

12) Linking words

13) Passive Voice

Prison Identification Technology Research
Based on Iris Image Recognition

3.1. Iris Inner Boundary Localization

The inner boundary of the iris includes the &=
limbus part at the junction of iris and pupil. The gray of |
iris inner boundary varies apparently. When the person
does not blink the eyelash and eyelid occlusion trouble
exists. The contrast of iris image is higher than other parts of the eye in the
infrared illumination. The localization for the inner boundary of the iris is easy.
Firstly, we adopt the traditional edge detection method for iris inner boundary
detection of image after pre-processing. Secondly, we use the connected domain
characteristics of multistage denoising approach to remove the eyelash, eyelid
and other interfering parts of the eye. Thirdly we adopt the circle fitting
approach based on the precise location of the inner iris boundary to locate the
circle center. Finally, we do the localization work of the iris inner boundary.

We use the Canny operator for iris boundary extraction. The Canny
operator is used to extract the iris inner edge and it can preserve the iris inner
edge well. And the detail characteristics are suitable for the follow-up precise
localization.




E. Make sentences according to the following models:

1) Subject — BE — predicative (noun or adjective)

2) Subject — verb predicate

3) Subject with an attribute (noun phrase) + verb predicate
4) Subject — predicate — direct object

5) Subject — predicate — indirect object — direct object

6) Subject — predicate — adverbial modifier of time

7) Subject — predicate — adverbial modifier of place

8) Adverbial modifier of purpose — subject — predicate

9) Subject — verb in the Passive Voice

10) Subject — modal predicate

F. In the articles from your research field find examples of the
following (copy the sentence or a part of the long sentence and
underline the example). Use the Glossary of Terms in Appendix 1:

Subject

Verb
predicate

Predicative

Direct object

Indirect
object

Simple
sentence

Compound
sentence

Complex
sentence

Principle
clause

Relative
clause

Conditional
clause




Unit 2. Verb Finite Forms (Tenses)

| General Grammar|

English finite forms of a verb indicate:
v tense (present, past, future),
v progressive aspect (progressive/non-progressive)
v perfective aspect (simple/perfect)

4 groups of tenses:

Simple: Continuous (progressive):

Present Simple (Indefinite) Tense; Present Continuous (Progressive)

Past Simple (Indefinite) Tense; Tense;

Past Continuous (Progressive)

Future Simple (Indefinite) Tense. Tense;

Future Continuous (Progressive)

Tense.
Perfect: Perfect Continuous:
Present Perfect Tense; Present Perfect Continuous

Past Perfect Tense; (Progressive) Tense;

Past Perfect Continuous

Future Perfect Tense. .
(Progressive) Tense;

Future Perfect Continuous
(Progressive) Tense.

The use of English tenses:

P>
key <> /% <

In progress Looking back Looking back at an
action in progress



Past

Past Simple

They worked there in 2010.
We came home at 5.

yesterday, the day before
uesterday, last week, 5 days
ago, in 2015, then, When we
were ...

Past Continuous
W

While they were working in
the lab, the alarm rang.

This time yesterday, | was
driving home.

while, when, as, all morning,
this time last week

Past Perfect

N

The experiment had already
started when they entered
the lab.

before, after, by the time, by,
for, since, when

Past Perfect
Continuous

e
LA

They had been working on
this model for 2 vyears
before they got the first
results.

for, since, How long...? before

Present Future

Present Simple Future Simple

| work at the IT department. They will come at 2.

He studies Chemistry.

every day, always, usually, tomorrow, the day after tomorrow,
often, sometimes, seldom, tonight, next month, in 3 days, soon
rarely, hardly ever, never, on

Mondays, on weekends

Present Continuous Future Continuous
W w

They are developing a new

method at thagggment. We will be working on the new

She is speaking on the project next month.
telephone now.

now, at the moment, at present, this time tomorrow, this time next

right now, while, as month, when, while, as, next.. ,
tomorrow
Present Perfect Future Perfect

A N

| have been in this job for 5 By the end of the month, the
years. results will have improved.

We have finished the report.
just, already, never, ever, yet, before, by the time, by then, till ... /

since, for, so far, this month, until...
recently, lately

Present Perfect Future Perfect Continuous
Continuous
<> <>

He has been writing this Next month he will have been
report all morning. working at this company for 20
We have been waiting for years.
the delegation for 2 hours.
since, for, Howllong ...? by, for, by the time

...10-...



How to build English finite forms:

Simple Continuous Perfect Perfect Continuous
am have have .
CIv, 7 vie)s s Ving ol — Vs, Dﬁ been V-ing
? 40 [y 2 are have -
‘g does ) -Eﬂ-D i 2 hhiiﬂ v, 2 "m':] been V-ing?
il ing
§ |00 notv, are have not been V-in
[ g
a b am. . []JJ?FE not V, has
[] Jis_ not V-ing
are
[V /! Ved TN Ving [] had Ve / V, [] had been V-ing
? did L] v 2 g , | 7had [] been V-ing
- werDymg'J 2 had [ Vg / V7| ©
S | []did not V, e [ had not Vs / Vs [] had not been V-ing
| shall shall , shall shall _
i V! wil be Ving il e Vs DW have been V-ing
o Shall - o
S i L V7 | 2 S (] be ving? :ﬂu” () have V| 7M20[] have been
= shall i W V-ing
5 r___“-, not Vi | [7] shall be V-ing =
s — will =" not shall_ =
wil D will nothave ‘%u [F;‘i:”ﬁ"l“ nothave been
V-ing
Simple:

Present: V,; — | read.

In 3" Person Singular (he, she, it) + -s — He reads.
Past: V; of Regular Verbs + -ed — We asked.
V, 2-9 of Irregular verbs — They came.
Future: Will + V; — It will happen.

Continuous: be (in Present, Past or Future) + V-ing

She is reading.

Perfect: have (in Present, Past or Future) + V5 of Irregular Verbs
— They have come.
OR + -ed of Regular Verbs — He has asked.

~11 ~



Perfect Continuous: have (in Present, Past or Future) + been +V-ing
They have been working.

Forms of the verb to BE (used when the predicate is a
noun or an adjective):

He is an engineer. (noun)
They are busy. (adjective)
Question Positive Negative
- I | - I -
Will you be? | vyou will be You will not be
he He He
she She She '=n
it It It e
we We We o
you You You
they They They
Am I I am | am not
he He He
Is is iS not v
she She She 3
) 2 (7]
it It It o
|
You You -+
Are you, we We are We are not
| | |
Was he ? he was he was not
she she she
it it it g
7))
we we we -+
Were you ? you were you were not
they they they

~12 ~



EXERCISES (GENERAL GRAMMAR)

A. Which English form would you choose for the following Russian

sentences?

1. 1 paboraro B Hay4YHOM UHCTUTYTE.

2. OH cenyac paboraer Hag HOBOW CTaTbEN.

3. OH TONbKO 4YTO 3aKOoH4YM1 paboTy Hag
CTaTbéMn.

4) OHa paboraer Haa CTaTbEN yXe ABE Heaenu.

5) B npownom rogy oH paborasn B KaHaae.

6) Buepa oHa paborasa Haa ctaTbén ¢ 5 oo
8 yacos Beuepa.

7) Oo Toro, Kak noctynuTb B Hall MHCTUTYT, OH
paboran B KaHage.

8) Mbl 3akoHYMIN paboTaTb Haj CTaTbén K
noHeaeNbHUKY.

9) 3aBTpa Mbl 6ygem paboraTtb Haa AOKIAA0M.

10) Mbl 3aKkOH4YMM paboTy A0 TOr0, KakK OHU
npuayT.

11) B yeTBepr oHa BeCb AeHb 6ygeT paborarp
B nabopatopuu.

12) B cpeay 6yaeT aBe Heaenu, Kak Mbl
paboraem Hag 3TUM SKCNEPUMEHTOM.

~13 ~

a) am working
b) work
c) have worked

a) is working
b) works
c) has been working

a) has been finishing
b) finished
c) has finished

a) has been working
b) is working
c) works

a) had worked
b) was working
c) worked

a) was working
b) had been working
c) worked

a) worked
b) was working
c) had been working

a) finished
b) have finished
c) had finished

a) will have worked
b) will work
c) will be working

a) will have finished
b) will finish

c) will have been finishing

a) will work
b) will be working

c) will have been working

a) are working
b) will be working

c) will have been working



B. What tense form would you choose for the following Russian
sentences? Fill the table with the verb forms and the numbers of
the sentences.

Present

Past

Future

Simple Continuous Perfect

A WNHR

0N O U

)

g
g
g

¢

. Buepa B 3TO BpeMs a9 mmucasia 3adBKY Ha rpaHT.

. B noHegenbHuk B 10 yacoB Mbl 6ygemM nnucarb NpoOBEPOYHbIN TECT.

. 1 Hanucana oT4YéT. [NpoBepbTE ero, NoXxanyncra.

. Kaxabln rog B KOHUE ceMecTpa CTYAEHTbl MALWYT KOHTPOSbHYO paboTy

NO aHITINIACKOMY S3bIKY.

. 3aBTpa K 12 yacaM s Hanunwy CTaTbio Mo 3TON TeMe.

. 8 cenvac nuwy nnaH paboTbl. MoaoXan MeHs.

. 3aBTpa 9 6yay nmucarp aHHOTALUMIO K CTaTbe.

. Korga Bbl KO MHe MmpuwnmM BYepa, S yXe Hamucas OCHOBHble Te3UCHI

AOoKaaa.

. Buepa a npuwwién aoMon, NpoCMOTPEN XypHalbl, HamMucas 3NeKTPOHHoe

NMMCbMO KN OoTNpaBwu €ro.

Practise verb tenses online:
http://www.english-4u.de/past_prog_ex5.htm

https://learnenglish.britishcouncil.org/en/english-grammar/verbs/

https://www.englishpage.com/verbpage/verbtenseintro.html

~14 ~


http://www.english-4u.de/past_prog_ex5.htm
https://learnenglish.britishcouncil.org/en/english-grammar/verbs/
https://www.englishpage.com/verbpage/verbtenseintro.html

Academic Grammar

Tense forms in Research Papers

Most common tense forms in research papers:

Simple Continuous Perfect Perfect
Conhnuous

I work. He has come.
He works. We have come.

Present

§| weeame™ -
0

c| We came.

o

0

.,g They will come.

L

EXERCISES (ACADEMIC GRAMMAR)

A. Look through the articles in your research field. Which tense forms
are used? Fill the table for each part of research articles:

Introduction Methods Results Discussion

Present
Simple

Present
Perfect

Past
Simple

Future
Simple

~15~



Unit 3. Passive Voice

General Grammarl

The active voice describes a sentence where the subject performs the
action stated by the verb.

=

John wrote this article last month.

(John is the subject, John did it)

With passive voice, the subject is acted upon by the verb.

Ty,

This article was written by John last month.

(The subject is “this article”, but John (not the article) did it.)

The passive voice is used when we want to emphasize the action (the
verb) and the object of a sentence rather than subject. This means that
the subject is either less important than the action itself or that we
don’t know who or what the subject is.

~16 ~



v' Many books on good writing prefer the active form to the passive
form (they consider the active voice to be more natural and
direct).

Look at the sentence below. Who initiated Second World
War?

Poland was invaded in 1939, thus initiating the Second World
War.

Which voice could be better here? Try to improve this
sentence.

Software applications that automatically check a text for grammar
and style, will usually highlight any usages of the passive and
recommend using the active as an alternative.

Dynamics and control of two-body and one-body tethered
satellites are considered. At first, nonlinear roll and pitch
motions of two-body systems are examined. Then the effects
of aerodynamic and electrodynamic forces on the stability of
a tethered satellite are discussed. Various control schemes
to stabilize the dynamics during retrieval of the subsatellite
are described. Finally, some dynamics and stability results
for one-body tethered satellites are presented.

Try to improve the above paragraph.

v' However, the passive is often a much better option (e.g. in the
Methods section).

~17 ~



Building the Passive Voice:

to be (in the appropriate tense form) + 3™ form of irregular verbs or regular
verbs with -ed

Simple Continuous Perfect
o The work is done. The work is being The work has been
S done. done.
w | The articles are
0 trans:a:ted r The articles are The articles have
o ) being translated. been translated.
Th k
The work was done. (_a work-was
A y being done. The work had been
& € articles were The articles were done.
translated. )
being translated.
g The work will be The work will have
5 | done. been done.
L.

@[} Not all verbs can be used in the passive. Verbs can be transitive
and intransitive:

Transitive verbs have a direct object receiving the action:

John wrote this article last month.

l direct object I

Intransitive verbs have a direct object receiving the action:

John went to the north campus after the lecture.

~18 ~



Some verbs can be both transitive and intransitive:

¢ N

Kate studies Spanish. (transitive)
Kate studies hard. (intransitive)

EXERCISES (GENERAL GRAMMAR)

A. Check yourself. Which English tense form would you choose for the

following Russian sentences?

Model:
0. 3Ty cTaTblo Mepesodsam yxe ABe Hedenu.

Example: 1a

a) has been translated
b) is being translated
c) is translated

1. KHura 6bina nepesedeHa Ha PYCCKUM
A3blK B 2015 rogy.

2. CtaTbn Ans 3TOro XypHana nepesoosam
Ka*Kabln mecs,

3. OTy cTaTblo Nepesodusau, KOrga A 3aLlén
B odwuc.

4. He BonHyMTecb, Balla cTaTtba 6ydem
nepeeedeHda K NOHeAE/IbHUKY.

5. Mucbmo nepesedeHo. MoxkeTe OTNPaBUTb
ero.

~19 ~

a) translated
b) was translated
c) had been translated

a) are being translated
b) are translated
c) have been translated

a) was translated
b) was being translated
c) had been translated
d) was translating

a) will be translated
b) is being translated

c) will have been
translated

a) had translated

b) has been translated
c) is translated

d) was translated




6. [1Be ero ctaTtbM yxe onyb/anKoBaHbl, a a)is being translated
o/Ha eLLé nepesodumcs. b) is translating
c) are being translated

7. K 2000 rogy Bce ero KHurn 6blau a) had been translated
nepeesedeHbl Ha PYCCKUMN A3bIK. b) were translated
c) have been translated

8. B cnepytouwem rogy MHoro HoBbIx KHUM 1 a) will translate
cTaTen 6ydem nepesedeHO Ha pa3Hble b) will be translated
A3bIKW. c) will have been

translated

B. Change active to passive.

Model: Somebody cleans the rooms every day.
— The rooms are cleaned every day.

People speak English all over the world.

They make progress every day in the world of science.
Workers make planes of aluminium.

Somebody left the door open.

They sent invitations to all the participants.
Somebody will meet the visitors at the airport.

They will buy a new computer class for our college.

John will finish the work in an hour.

 ® N Uk W=

They have postponed the meeting.

10. Somebody is using the computer right now.

Practise Passive online:
https://www.englisch-hilfen.de/en/complex_tests/passivel/index.php
https://www.e-grammar.org/passive-voice/testl-exercisel/

http://first-english.org/english learning/english _active passive/90 passive test english.htm
http://www.edudose.com/english/change-of-voice-questions-answers/

)

g
g
g

¢
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https://www.englisch-hilfen.de/en/complex_tests/passive1/index.php
https://www.e-grammar.org/passive-voice/test1-exercise1/
http://first-english.org/english_learning/english_active_passive/90_passive_test_english.htm
http://www.edudose.com/english/change-of-voice-questions-answers/

PASSIVE IN RESEARCH PAPERS

Academic Grammar

. To describe processes (typically in the Methods section). Use we if it is
not clear who carried out the action!

. When making general references to the literature or to what is
happening in the world in general.

. When it is unnecessary, difficult, or impossible to identify the originator
of the action.

. To report what is commonly believed to be true.

. To report formal decisions or to make announcements.

PASSIVE ACTIVE

The rust was removed by acid We removed the rust by acid-
treatment. treatment.

An aerosol solution was added to We added an aerosol solution to

make the flame front visible. make the flame front visible.
Several attempts have been Several researchers have
made to explain this phenomenon attempted to explain this
[17, 24, 33]. phenomenon [17, 24, 33].
Much progress is being made in They are making much

the field of telecommunications. progress in the field of

telecommunications.

The surface of the steel piping was | Something had caused the steel

fractured. piping to fracture.

A large sum of money was Someone recently donated a

recently donated to the hospital. large sum of money to the
hospital.

This drug is known to have serious | Serious side effects typically
side effects. arise from the use of this drug.

The law is expected to be passed | It is likely that the government
next year. will pass this law next year.
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PASSIVE BETTER THAN ACTIVE

Use the passive to avoid:

1

. An excessive use of we and us (but prefer an active form if possible)

automatically.

2. Using the impersonal form one.
3. Sequences of nouns.

4. Note! The passive is generally used with verbs such as install, upload
and download.

YES OK (1-3), WRONG (4)

1| An example of this effect is shown | We show an example of this
in Figure 4. effect in Figure 4.
= Figure 4 shows an example of
this effect.

1 The example can be | Let us strengthen the
strengthened by means of the| example by means of the
circuit in Fig. 3b. circuit in Fig. 3b.

2 | On the other hand the other case | On the other hand one obtains
of a branch is only obtained at| the other meaning of a branch
the TTC input. only at the TTC input.

3 | Costs can be further reduced since | Further reductions in costs
the components can be placed in| follow from the possibility to
arbitrary positions in the memory | place the components in
space. arbitrary  positions of the

memory space.

4 | The system is installed The system installs

automatically.

ACTIVE BETTER THAN PASSIVE

1. If your journal permits, use we to avoid confusion about who performed

the action.

2. Use the active form if this helps to shift the verb nearer to its subject.

3. Some passive constructions sound awkward or wrong

in English,

particularly with the verbs to aim and to focus.
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YES

NO

We compared our results with

those of Alvarez.

The results were compared
with those of Alvarez.

Possible if it is clear from the
context who did what.

The following section outlines the
state of the art in cybertronics.

In the following section the
state of the art in cybertronics
is outlined.

The system supports: X, y and z.

The following features are
supported by the system: X, y
and z.

The main aim of this project is to
develop an alternative to the
Internet.

This project is mainly aimed
at developing an alternative
to the Internet.

This paper focuses on the best way
to control the activities of
potentially rogue traders.

This paper is focused on the
best way to control the activities
of potentially rogue traders.

AMBIGUITY WITH PASSIVE
Some journals are against we:

we did x (active) > x was done (passive).

~ 23 ~

But! The passive does not say with 100% certainty who performed the action.

1. If the passive is used to talk about something which is commonly
referred to in the literature, use a word or expression that indicates
that this is common knowledge.

When talking about the literature and using the passive both to refer to
your own work and that in the literature, it is difficult to distinguishing
between the two.

There are various devices to avoid such confusion:

2. Use the names of authors and the active form.

If you only use the reference without the name of the author, the reader
does not see whether the reference refers to you or to another author.




study.

3. Use expressions such as our results show, in our work, in our

. Be careful with expressions like in a previous work.

YES

NO

Children are conditioned by their
parents [1, 7, 9]. Thus it is
generally assumed that children
in orphanages will ...

generally indicates that this is an
assumption made in the
literature and not specifically by
the authors of this paper

Children are conditioned by their
parents [1, 7, 9]. Thus it is
assumed that children in
orphanages will ...

It is impossible to understand
who has made or is making the
assumption.

Children are conditioned by their
parents [1, 7, 9]. It is well known
that children who have been
abandoned by their parents will ...

it is well known clarifies that this
is not just the author’s viewpoint.

Peters found that children perform
such tasks better than adults [34].

It was found that children perform
such tasks better than adults [34].

These features are
characteristic of this
[Smith 2010, Carsten
However, in our study, it was
found that they are also
characteristic of some completely
unrelated species.

generally
species
2013].

These features are generally
characteristic of this species
[Smith 2010, Carsten 2013].

However, it was found that they
are also characteristic of some
completely unrelated species.

Ying et al. noted that red is most
people’s favourite colour.
However, in a previous work
carried out by our group, it was
noted that green was ...

Ying et al. noted that red is most
people’s favourite colour.
However, in a previous work it
was noted that green was ...
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EXERCISES (ACADEMIC GRAMMAR)

A. Read the draft of a student’'s Materials and Methods section, and
the tutor’'s comments on it. Discuss what changes the student
should make in response to the tutor’'s comments.

| started my fieldwork recordings on 12 February, 2015, and
ended them on 12 March, 2015. My partner used a digital camera
to record the animals found on the beach and | marked the
animals with quick-drying non-toxic paint. We were making
recordings of environmental conditions, including the
temperature, the salinity and the substrate, at the same time. |
began the laboratory experiments at the same time as the
fieldwork. Each day, | collected 10 animals from the beach and
placed them in the controlled conditions in the laboratory until
the experiment began.

We set up the apparatus as shown in Figure 1 and | placed 1 crab
in each specimen tube. By the time an experiment started, we had
acclimatised the crabs for at least 2 days. | had fed the crabs
daily. I had prepared their food in advance. My partner used a
digital camera at the end of each experiment to record the
appearance of the animals. We had printed the photographs taken
at the beach for comparison. We were analysing results
continuously. We analysed our results using statistical tests.

Overall, you descrive vour methods clearly. You could improve
your writing by:

. focusing the reader’s attention on the method, rather thav
who used the methods;

. paragraphing more accurately;
. checking articles (the, a, aw).

B. Write the final version of the Materials and Methods section, using
the tutor’'s comments and the notes you made.
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Select the correct form: to be or to have.

. Since 2010 attention is / has only focused on the first problem.
. So far this topic is / has mainly been studied from a statistical
viewpoint.

The manuscript was / had finished on time.

The problems are / have increased.

The patient was / had taken to hospital.

The presentation was / had ended before I arrived.

The price of petrol is / has gone up.

The director was / had made to resign.

10. She was / had arrived an hour before.

11. Your English is / has improved.

12. The lecture is / has begun.

13. Demand is / has decreased.

CI

1. The material is / has subjected to a very strong force.
2

3

OO N U A

D. Change active to passive.

Example: This paper considers the advantages and disadvantages of a world
court of justice. = In this paper the advantages and disadvantages of
a world court of justice are considered.

In this paper we address the need to promote awareness.

We summarize the latest developments in search engines.

This survey has highlighted the urgency of the situation.

This work aims to find an alternative to school education.

We have not included details on this progress in this document.
In Section 4 we attempt to make some sense of these findings.

Future work will deal with this aspect.

® N O U A WD

One of the advantages of PCA analysis is that it enables one to classify
new samples quickly.

E. Change passive to active.

Example: In the Methodology it is shown how to follow the steps. = In the
Methodology we show how to follow the steps.

1. All the relevant values are reported in Table 1.
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9.

The results are shown in Figure 2.

This quantity was determined from the values in Table 2.

This meant that the values could be determined.

The model was built in accordance with Smith and Jones [69].

An increase in the speed that the reader can read the paper was recorded.
Ten datasets were generated.

In the present study a new methodology for solving the meaning of life was
developed.

The approach that was adopted in this work is highly innovative.

10. The results that were obtained in this study show that a lot of money has

been wasted by the department.

11. Future work will be dedicated to investigating the cerebral life of ants.

12. The languages analyzed, all the differences in tense usage, and numbers of

words are listed in Table 3.

. Change the following sentences from passive to active. The word

counts in the originals are given in brackets. How many words are
in your revisions?
For effective storage of industrial CO,, retention times of ~10 yr or greater
are required. (15 words)

It is hypothesized that groundwater pH must have been, on average, highest
shortly before the Late Ordovician to Silurian proliferation of root-forming
land plants. (24 words)

We were compelled to rely on the SOC90 data as no further information on
the occupational situation (employed vs. self-employed) or on the size of
the firm was available in the retrospective form. (32 words)

Moreover, it has been demonstrated that mineral-water reactions increase
the pH of groundwater even in the presence of abundant acid-producing
lichens (Schatz, 1963). (24 words)

G. Look through the articles in your research field. Do they have

many passive constructions? Fill in the table with various uses of
the Passive Voice in different sections of research articles:
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PASSIVE Use Article
(See pp. section
22-23)
1)
2)
3)
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Unit 4. Simple Tenses (Present & Past)

Academic Grammar

PRESENT SIMPLE IN RESEARCH PAPERS

Actions or situation which happen:

Established scientific facts

= repeatedly
= all the time
= Orany time

= findings

= theorems

= definitions
= Jemmas

= proofs, etc.

Some maps of the world’s oceans show
the widths of the continental shelves.

Today a wide range of sensor
devices exist that alter their
characteristics in response to a
stimulus.

events the present continuous is used.

To indicate trends and situation that are evolving now or for programmed future

It is well known that in many universities
how much you write (i.e. the quantity) is
often considered to be more important
than how well you write (i.e. the quality).

At the moment we are writing a
paper on ...

EXERCISES (ACADEMIC GRAMMAR)

A. In these sentences from an article on Aerospace Engineering, put
the verbs in brackets into Present Simple.

1. This method (to be) particularly suited for the mismatched
meshes that (to occur) naturally with disparate physical
domains.

2. Each physical phenomenon

(to have) a solver tuned to its

particular time and spatial scaling requirements.
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3. Void growth models (to be) the most common damage
evolution models.
4. This approach (to be) a simplified model of the actual

physics.

5. The evolution of the material state and the development of damage
(to affect) the stiffness of structural components.

6. The aircraft tracking system (to record) records
sufficient flight parameter data.

7. These commercial codes (to perform) well for thermal-
structural problems.

8. The SHm system also (to sense) and (to record) strain
histories at selected locations during the flight.

9. Many of the physical phenomena discussed above (to be)
nonlinear.
10. Conventional FEM practices (to require) increasing the

degrees of freedom.

B. Choose the correct form (Present Simple or Present Continuous).
1. Boston College looks for/ is looking for an international marketing
manager for their overseas recruitment drive.

2. Social enterprises can be defined as those which are placing / place
environmental concerns alongside profit.

W

. Monetary policy is operating / operates by influencing the price at which
money is lent.

4. Smartphones are establishing / establish themselves as the dominant
mobile device amongst younger consumers.

5. According to the Broadcasters’ Audience Research Board, the average
Briton watches / is watching just over thirty hours of television per
week.

6. David Hare’s plays, as Felton (2009) notes / is noting, provide actresses
with some of the strongest roles in modern drama.

N

. Most people are recognizing / recognize that a respect for the law is the
fundamental basis for a civilized society.

8. When a team works / is working intensively on a project, the team
leader should protect them from distraction.
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PAST SIMPLE IN RESEARCH PAPERS

When there is a clear time reference:

Past time indicators: The context shows that the action is

clearly past.
= jn 2011, last month, three

years ago

Smith first used this procedure more | In 2010 the Social Democrats challenged
than a decade ago [24]. the anti-GMO movement. The fact that
this party was in favour of genetically
modified products meant that ...

The reader cannot know if the party was
only in favour of GMOs in 2010, or if they
still are today.

Avoid the Present Simple to describe actions that took place in the past to avoid
ambiguity.

C. In these sentences from an article on Geographic Information
Systems, put the verbs in brackets into Past Simple.

1. Throughout our experiments, we (NOT, to see) significant
accuracy fluctuation due to any of these types of queries.

2. A secondary goal (to be) to make certain that clusters

(to be) random in size and shape.

3. Increasing histogram divisions to s > 5 (to have) no affect
on the accuracy.

4. The experiments (to demonstrate) that
6-dimensional space compounds the problem when creating small
buckets.

5. We (to make) experimental runs against data sets
ranging from 10,000 points to 1,500,000 points.

6. That preliminary result (NOT, consider) higher
dimensions, and it also (to have) only a static index
structure.
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Present Simple & Past Simple

Present Simple

Past Simple

Aims and methods

In the first sentence to describe
the whole paper

The aim of this research is to ...

The aim of the project was to ...

The initial aim changed.

To describe a
(method,

procedure
etc.) established by
other authors, i.e. to state
general principles relevant to
the procedure.

To outline what you did.

Our methodology consists of the
following steps: First, we gather the
data. Second, we sort the data by ...

To establish our verbosity index, we
analysed five languages. We
classified these languages in terms of
X, ¥, z. On the basis of these results,
we then calculated the number of ...

To describe a
(method,

procedure
etc.) established by
other authors, i.e. to state
general principles relevant to
the procedure.

A cloze procedure is a technique in
which words are deleted from a text
according to a word-count formula.
The passage is presented to
students, who then ...

To refer to your methodology,
process or procedure if you are
just explaining in general how it

To state what the objectives of
your experiments were, what
equipment was used, how other

works, rather than what you did | methods were adapted, what
on one specific occasion. steps were followed, etc.

Our methodology consists of the|In the second experiment, we
following steps: First, we gather the | proceeded as follows: First, we

data. Second, we sort the data by ...

gathered the data. Second, we sorted
the data by ...
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Present Simple

Past Simple

Results and discussion

| if you use the simple present
to report your findings it must
be 100% clear to readers that
you are talking about YOUR
findings and NOT what has been
reported in the literature.

To talk about YOUR findings.

We found that green and red
produces white. This only seems to
happen when the ratio of green to red
Is 6:1. But when the ratio is 4:1, this
produces yellow.

We found that green and red produced
white. This only seemed to happen
when the ratio of green to red was 6:1.
But when the ratio was 4:1, yellow was
produced.

The reader may think that ‘seems to
happen’ and ‘produces’ refer to what
other people have found.

The reader is clear that you are only
talking about what you found.

To state what a figure or table
shows, highlights, describes,
reports etc.

The results are given in Table 4,
which shows that ... In addition,
Figure 1 highlights that X equals Y.

To discuss your data and
results, and to state the
implications of your findings
(typically after show, explain,
highlight, believe, mean,
indicate, reveal).

We believe that this means that our
method outperforms all previous
methods.

Introductory verbs such as show, highlight, reveal can be either in
the present simple or past simple, but to talk about what you found,

discovered, noticed, etc.

only use the past simple.

These results highlight the
importance of carrying out tests in
triplicate.

We found that best results were
achieved by carrying out tests in
triplicate.
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D. This excerpt is from a report by Dr Shari Cohn, a researcher from
Edinburgh University. Dr Cohn is investigating the phenomenon
known as ‘'second sight', a psychic ability which for many
centuries has been claimed to exhist among Celtic peoples, such
as the Gaelic population of north-west Scotland.

In the gaps, write an appropriate form of the verb shown in brackets
(number 4 is negative). Be prepared to explain your choice of tense.

SECOND SIGHT

To find the frequency of second sight in the general population, a large-
scale mail survey using random sampling methods®
(BE) undertaken in different areas of Scotland. Second sight
(BE) generally regarded as being more prominent in
the Western lIsles and Highlands of Scotland than elsewhere. However,
the survey data® (SHOW) this*
(not, BE) the case — the phenomenon’
(OCCUR) in all areas in Scotland. Nor®
(BE) having a family background from the Highlands
and Western Isles a strong predictor of having second sight.
Throughout Scotland, people who’
(REPORT) having second sight® (BE) significantly
more likely to report second sight in blood-related family members.
This® (GIVE) empirical support to the traditional
belief that second sight™ (RUN) in families.

2

E. Choose the correct form (Present Simple or Past Simple).

An increase in storm frequency and intensity (1) is / was expected for the
Mediterranean area. The aim of this study (2) is / was to assess the risk of
soil erosion in sub-basin croplands in Tuscany, Italy. We (3) explore /
explored the potential response of soil erosion patterns to changes in temporal
distribution and intensity of rainfall events, land-use, and soil conservation
management practices by analyzing various scenarios. Most soil erosion (4) is
/ was associated with a limited number of intensive-to-extreme rainfall
events. An analysis on a sub-hourly basis (5) is / was carried out using the
SWAT model. Our analysis (6) highlights / highlighted three specific
management strategies that may help in preventing or reducing cropland
erosion. We (7) predict / predicted that these strategies could reduce
erosion by up to 25% in the studied area over the next ten years.
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F. Look through the articles in your research field and find examples
of Present Simple or Past Simple.

Fill in the the table with various uses of Simple Tenses in different
sections of research articles:

PRESENT SIMPLE use | Article
section
1)
2)
3)
PAST SIMPLE use | Article
section
1)
2)
3)
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Unit 5. Present Perfect

General Grammar

Present Perfect sometimes confuses students of English because on
the one hand it expresses an action in the past, on the other hand it has
a result now.

Moreover, there are two distinct uses of this tense - Present Perfect 1
and Present Perfect II.

PRESENT PERFECT I

The action has happened but is still connected The action
with the current situation happened during
o . .
7 the period that is
> Adverbs Without time not finished at the
indication (situation) time of speaking
already today
ol Yet (|n_ guestions and this morning
o/ negative sentences) _
T just this year
_E never
o ever
£
= recently
lately
— | have already done my | — What has happened? | | have seen Nick this
3 work. — I've dropped a box. week.
g—Let me have a look at it. (= the box is on the
© floor.)
i

é) Present Perfect I corresponds to the past tense in Russian:

I have seen Nick this week. - 4 Bugen Huka Ha 3Tou Heagerne.
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PRESENT PERFECT 11

The start of the period

The action began in the past and still continues now.

The duration of the period

for

— We have known each other

Use

Time since
indicators

Examples | since 2010.

years.

— They have been friends for 10

@ Present Perfect II corresponds to the present tense in Russian:
They have been friends for 10 years. — OHu Apy>xaT A4ECSTh JIET.

@ Normally, this meaning is expressed by Present Perfect Continuous, but
some verbs (that do not denote an action as a process) are not used in

Present Perfect.

é) Present Perfect is not used with the indicators of exact time (yesterday,

last week, 5 days ago, at 7 o’clock, on the 25" of September 2015, when
you came, etc.), or in questions starting with when / what time.

@ Present Perfect is NOT used for sequences of actions.

FORMS
Positive Question Negative

1.1 have asked* | 1. Have | asked? 1.1 have not asked
2.You have asked 2. Have you asked? 2.You haven’t asked
3. He 3. he 3. He

She  has come** Has < she‘ come? She > has not come

It it It (hasn’t)
1. we 1. we 1. we
2.you rhave asked/come | 2. Have < you ; asked/come? | 2.you  haven’t asked/
3. they 3. they 3. they) come
* Regular verb +-ed: ask - asked

*x* 37 form of Irregular verb: come - come
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EXERCISES (GENERAL GRAMMAR)

PRESENT PERFECT I

A. Use the words to make sentences in Present Perfect. The meaning
should be the same as in the sentence in brackets.

Model:

She / go out. (=She is not in the office now).
She has gone out.

1.1/ lose / my passport. (I can’t find my passport now).

2. Where is Mike? — He / go / to the laboratory. (He is in the laboratory now).

3. We / buy / a new computer. (We have a new computer now).

4. Can I take the journal? You / finish with it? (Do you know what is in the
journal?)

B. Complete the replies using already + Present Perfect.
Model:

What time is Becky arriving? - She has already arrived.

1. When is Tony going away?\

2. Do Kate and Phil want to see
this video?

3. When does Robert start his He
new job? ] .

4. Don’t forget to phone Bill. L .

5. when does the lecture begW & ..................................................... /

C. Are the underlined verb forms right (v)) or wrong (%)? Correct
them if necessary.

Model:

I have lost my key. I can‘t find it. - v
Have you seen Tom yesterday? — x Did you see ... ?
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1.
2.
3.
4,
5.

I have finished my work at 5 o’clock. .......ccccooviiiiiiii e

I am ready now. I have finished my work. ......c.ccccoovviiiiiniinn.

What time have you finished your work? .........ccceeiiiieeiciiee e,
Tina is not here. She has gone out. ...,

Where have you been last Friday? ...

PRESENT PERFECT 11

A. Complete the sentences using Present Perfect.

1.

2.
3.
4,

Sam is in Madrid. He in Madrid since
Monday.
I know Peter. I him for a long time.
We live in Exeter. We there for five years.
Eve works at college. She at college for three
years.

. Paul and Anna are married. They married since
2011.

B. Choose the correct tense form.
Model:

unkhkwhrE

John is / has been in the USA since September. has been is right

Liz is a good friend of mine. I know / have known her very well.

Liz is a good friend of mine. I know / have known her for a long time.
Martin works / has worked in a bank now. He likes his job very much.

How long do you live / have you lived in this house? About ten years.
George is / has been in Germany at the moment. He is / has been there for
the last five days.

Practise Present Perfect online:

https://www.perfect-english-grammar.com/past-simple-present-perfect-4.html

www https://www.englishcurrent.com/grammar/study-present-perfect-review-exercises/

https://www.englisch-hilfen.de/en/exercises/tenses/simple past present perfect3.htm
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PRESENT PERFECT IN RESEARCH PAPERS

Academic Grammar

Present Perfect Active is often used in an Abstract to announce a new
finding or some new advance in a particular discipline.
However, to add further details about this innovation / news, the Present

Simple or Past Simple are used.

Present Perfect

Present / Past Simple

We have developed a new
system for converting wind into
energy.

Our system works by harvesting wind from ...

We implemented the system in a wind farm
in ...

Present Perfect (NOT Present Simple)

1. is used to state how long (in days, years, months, etc.), with reference to
a present, the situation has been operative.
2. is used to indicate that this is the first (second, third, etc.) time that

something has been done.

3. is used in the Conclusions to summarize what you have done in the
paper — the focus is on the writing and construction of the papers (typical
verbs: present, show, describe, explain, outline).

YES

NO

1 | We have used this system for many
years.

We use this system since many years.

1 | We have not used this equipment for
several months.

We do not use this equipment from
several months.

2 | It is the first time that we have used
this system.

It is the first time that we use this
system.

3 | Conclusions: We have presented a
new methodology for teaching English.
We have shown that ... We have
described three cases where ...

Conclusions: We presented a new
methodology for teaching English. We
showed that We described three
cases where ...
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EXERCISES (ACADEMIC GRAMMAR)

A. Read the text on archeology. Name the underlined verb forms.

THE NEW ARCHAEOLOGY

Over 20 years ago, Old World archaeologists recognized (1)
that the chronologies of European prehistory, which had been based
on the radiocarbon dating method, were (2) incorrect owing to flaws
in the method. Another chronology has been proposed (3) that has
resulted (4) not simply in the redating of individual monuments but
rather, in terms defined by British archaeologist Colin Renfrew, in the
establishment of a new approach to prehistoric cultural development.
Previously, cultural achievements such as the development of
metallurgy were thought (5) to have radiated from a single point of
invention in the Middle East. Now, multiple sites of invention have
been posited (6), leading to a conception of humans as much more
innovative than previously supposed.

Since the 1980s, archaeologists in North America, Australia,
and New Zealand have increasingly been called upon (7) to adapt
their research strategies to the wishes and interests of indigenous
peoples, who have not only demanded (8) the return and reburial of
human skeletal remains and certain artefacts but also insisted (9) that
their cultural values be respected when excavations are conducted.
The accommodation of scientific research strategies to traditional
cultural sensitivities marks (10) a new direction in archaeological
practice and is a development that was scarcely contemplated (11) a
few decades ago, when it was assumed (12) that rigidly scientific
objectivity would soon dominate archaeology.

B. Using the information of this unit, explain the use of the Present Perfect
and Past Simple in the text of exercise A.
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C. Put the verbs into the correct form (Present Perfect or Past
Simple).

é} One verb is not in the Present Perfect or Past Simple.

WATERBORNE DISEASES

Cholera and typhoid® ............... (BE) widespread in Europe and
North America 100 years ago, but NOW” ..............ccoevemevnnnn,
(almost, DISAPPEAR) from the developed world, largely because of
improved  water  supplies and sanitation. However, this®
.............................. (not, HAPPEN) to the same extent in
developing countries. In Peru, for example, where there®
.............................. (BE) more than 500 000 cases of cholera since
1991, social expenditure® ..............ccoeeuun.... (DECLINE) over the
past 10 years and the supply of water to almost 90 per cent of the rural
population®.................... (still, BE) grossly contaminated. The World
Bank’ ...cccccceeeeeiieeiieeiieeieee.. (ESTIMATE) in 1993 that
diarrhoea and mtestlnal worm infections caused by poor water supplies
and bad sanitation® .................cooiiiiiiin (ACCOUNT FOR) as
much as 10 per cent of the entire disease burden of developing
countries.

The United Nations, recognising that most of the disease’
...................... (BE) the result of polluted water supplies,™
......................... (SET UP) a Decade of Water, 1981/1990. Its aim*!
................... (BE) to provide safe water supply and adequate
sanitation for everyone. Over the decade, the number of people lacking
a safe water supply in less well developed countries™
......................... (DROP) from 1800 million to 1200 million.
Although  the number of people without lavatories®
.......................... (REMAIN) at around 1700 million, against a
continued population increase, this™ ..................... (BE) significant
progress.
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D. In the following text on linguistics underline the correct verb form -
Present Simple, Present Perfect or Past Simple.

There is some cross-linguistic contrastive research to suggest
that a foreigner (1) is / was at a disadvantage when writing an
academic paper in the English language. It (2) is / has been / was
suggested, for example, that Asian languages such as Chinese,
Japanese and Korean (3) have / have had / had different patterns
of argument to English [Hinds]. Thus, one study (4) finds / has
found / found that those Korean academics trained in the United
States (5) have written / wrote in an "English' discourse style
[Egginton]. More generally Hinds (6) has put / put forward a
widely discussed position that Japanese (7) has / had a different
expectation as to the degree of involvement of the reader
compared to English [Hinds].

Research on German (8) shows / has shown / showed that
German academic writing in the social sciences (9) has / has had a
much less linear structure than English, to the extent that the
English translation of a German textbook (10) is / was criticized as
haphazard or even chaotic by American reviewers, whereas the
original had received no such reviews on the European continent.
Similarly, academic Finnish texts (11) have been / were shown to

differ in the way they use connectors.
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E. Look through the articles in your research field and find examples
of Present Perfect I or Present Perfect I1I.

PRESENT PERFECT 1 Use Article

1)

2)

3)

PRESENT PERFECT I

1)

2)

3)
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Unit 6. Reported Speech

General Grammar

Direct speech means to say exactly what someone else said. It is usually put
inside quotation marks (". . ."):

He says, “l am going to try a new method.”

Reported speech (also called indirect speech) means to say what someone
else said, without actually quoting them. Meaning, you do not necessarily use
their own words.

Quotation marks are not used with reported speech.

He says (that) he is going to try a new method.

Sequence of tenses is the dependence of the tense in the subordinate
clause on the tense in the principal clause.

When the verb in the principal clause is in the past, the tense of the verb in
the reported statement (the subordinate clause) goes one step backwards.

Present Simple turns to Past Simple,
Present Continuous turns to Past Continuous.

14

If the sentence was already in the past (Past Simple), it takes another “step
to the past - Past Perfect.

If the sentence was in Future Simple, will turns to would.

Examples:

"She is on holiday," he said. — He said that she was on holiday.

"She is returning on Monday," he said. — He said that she was returning on
Monday.

"She was on holiday," he said. — He said that she had been on holiday.

"She has been on holiday," he said. — He said that she had been on holiday.
"She will be on holiday," he said. — He said that she would be on holiday.

In Russian this rule does not work:

OH cKa3san: «fl pabortato B opuce». — "l work in an office," he said.
OH cKasan, YTo oH paboraet B oduce. — He said that he worked in an office.
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TENSE BACKSHIFT

DIRECT SPEECH

REPORTED SPEECH

Present Simple

He said, "I read books."
Present Continuous

He said, "I am reading the book."

Present Perfect Simple

He said, "I have read the book."

Present Perfect Continuous

He said, "I have been reading the

book."
Past Simple

He said, "I read the book."

Past Continuous

He said, "I was reading the book."
Future (Will)

He said, "I will read the book."
Past Perfect

He said, "I had read the book."

v v vV

v v vV

Past Simple

He said he read books.

Past Continuous

He said he was reading the book

Past Perfect Simple

He said he had read the book.
Past Perfect Continuous

He said he had been reading the book.

Past Perfect Simple
He said he had read the book.
Past Perfect Continuous

He said he had been reading the book.

Future-In-The-Past (Would)

He said he would read the book.
Past Perfect (no change)

He said he had read the book.

TENSE BACKSHIFT WITH MODAL VERBS

DIRECT SPEECH

REPORTED SPEECH

Can

He said, "I can read books."
Must

He said, "I must read the book."
May

He said, "I may read the book."

Could

He said he could read books.
Had to

He said he had to read the book
Might

He said he might read the book.
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NO TENSE BACKSHIFT WITH MODAL VERBS

DIRECT SPEECH REPORTED SPEECH
Would
He said, "I would read the book." He said, "I would read the book."
Could
He said, "I could read the book." He said he had to read the book
Should
He said, "I should read the book." He said, "I should read the book."
Might
He said, "I might read the book." He said, "I might read the book."

OTHER CHANGES WITH REPORTED SPEECH

DIRECT SPEECH REPORTED SPEECH
this =  that
these =  those
now =2  then
today =  thatday
yesterday > the day before / the previous day
two weeks ago > two weeks before
last month =»  the month before / the previous month
next month > the following month
in three years =  three years from then

NO TENSE BACKSHIFT

1. If the situation has not changed at the moment of speech (the verb in
the principal clause may be in the present or in the past):

“I speak English fluently.” -> Sonia says (said) that she speaks English
fluently. (Sonya still speaks English fluently)
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If we talk about common truth, natural law:

He said, "The Earth is round." — He said that the Earth is round.

If the verb in the principal clause if in Present Simple or Present
Perfect:

"I like History." — She says that she likes History.
"I will help you." — He has said that he will help me.

If the verb in the subordinate clause in in Past Perfect:

"I had never seen a kangaroo before my trip to Australia." — She said that she
had never seen a kangaroo before her trip to Australia.

With modal verbs could, should, would, might, must:

‘We could sell it for about 1,000 dollars,” he said. — He said they could sell it for
about 1,000 dollars.

REPORTED QUESTIONS

SPECIAL QUESTIONS (WH-QUESTIONS)

Special questions usually begin with questions words (often starting with wh-):
who, what, when, where, why, how.

While in usual questions we use the inverted word order(verb V = subject S),
in reported questions the word order is direct (S = V):

"What is your name?zl

“What is[v] your name[s]?”

She asks him what his name[s] is[V].
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The rule of the SEQUENCE OF TENSES is also observed here:

“What is[v] your name[s]?”
She asked him what his name[s] was[V].

The questions about the subject (usually beginning with who or what) has
the direct word order both in the direct and reported speech:

“"Who[s] is meeting [Vv] you at the airport?”
He asked her who[s] was meeting [v] her at the airport.

GENERAL QUESTIONS (YES/NO QUESTIONS)

General questions are answered with Yes or No. They usually begin with
auxiliary verbs (Do/Does in Present Simple, Did in Past Simple).

In reported general questions:

1. these auxiliary verbs are not used;

2. the word order is direct;

3. the subordinate clause begins with if or whether:

“Do you speak German?”

He asked me if I spoke German.
He asked me did-I-speak-German.

“Did he participate in the conference?”
She asked whether he had participated in the conference.

EXERCISES (GENERAL GRAMMAR)

A. Choose the correct form.

Model:

She said: She said that...
0. “I study she studied
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He said: He said that...

1. "I teach 1. HE
2. "I am teaching 2. He (e
3. "I have taught 3. HE
4. “I will teach A, HE
5. "I will be teaching 5 HE
6. "I will have taught 6. He oo
7. "I taught 7. HE
8. "I was teaching 8. He
9. "I had taught 9. HE e

B. Which English tense form would you choose for the following Russian
sentences?

Model:
He said that ... 0. usyyaem ¢onnocoouto. studied

She said that 1. muwer otyéThbl ABa pa3a
=30 =T o
2. cenyac nuuwiert OT4érT.
3. Hanucasna OT4YET BYepa.
4. nucasna OT4YET BUepa B 6
HACOB BEUEPA.  visrssssssssassssnssasnssnssarnnens
5. Hannwer OTYET 3aBTpa.
6. HuKorga He nucana
TAKUX COXKHDBIX OTHETOB.  teuvenrnrrnrnsenrnssnsensnnensnnsnnss
7. bypnet nucarb OTYET B
MOHEAENBbHUK C 3 10 5. ottt iiiia i i na i rannas

8. HAMULIIET OTUYET K  tiiiirirararararnrnssnsarnsnssnsnnnss
yeTBepry.

9. Hanucana OT4YET BUepa
K 6 HACAM. i iiiierararseanrarararararanraraens

~50 ~



C. Complete the following sentences in English paying attention to
the word order and the rules of the sequence of tenses.

Model:

OH cnpocun ... He asked ...
0. ... 3Hato N A [IKenH. ... if (whether) | knew Jane.
00. ... rae oHa J¥usém. ... where she lived.

OHa cnpocuna: She asked ...

1. ... HACTO /I 9 XOMKY B KMHO.  ooiiiiiiiiieinsnnnseeeesesssssssssasnnsnnnnsnnnneenes

2. ... KAKYIO CTATBIO S UMT@HO. oiiiiieiiesieainneeesssnnsnesssaannneesssannnnesssnnns

3. ... IOUEMY Sl YLUEJT PAHO.  teieiteniieeneeieeneaeaeeeaeeteeaeeaeneneasaneneanns

4. ... BBIKJTFOYMIT JIN S KOMIMBIOTEPD.  tiivireettrnnnnnnnnsassssssseseeemmmmnnmnssssnsssseesss

5. ... OAQY NN A HA JIEKLIMIO.  teireieeneinersereeeenessernenereaneasenernerneneenes

6. ... BHARO JTN A MAMKIIA. tittttissesnnserensssnnsssenssennsssensssessssssssssennns

7. ... OBIBAJT NN 9 B KUTAE. ittt se et irssssiiiaassssssaaseannnnns
8. ... IO S PABOTAJT BUEPA B OTO  weviiiuniirisiinntesssaannneessaaansteessaannneesennns
=] 01 1
O. ... TAE S MWMIT [10 TONO, KK tiiiiiiiiirerrrrreennnnnnnisrsrreessesreeersssnnnns
NPUEXAM CHOLA. i iiitteesssiinteeesaaa i iaaeeaaaas
10. ... OYAY NN 9 PAOGOTATD B ....cooiiniiiiiieiiitessaeraeeraaneeeaaneerannesins
NAbOPATOPUM 3ABTPA B 3 HACA.  tuvrrrnrrrrrnnnerrnnessanneessannessinnesanneesennens

D. Are the following sentences right (v') or wrong (x)? Correct them where
necessary.

Model:
He wanted to know where I came from. - v
She asked me did I pass the exam. — ¥ ... if I had passed ...

Mary asked me where I had been the week before.
I wondered why he never asks for help.

Pete wanted to know do I know Mathematics.

She asked if Tom had always lived there.

We wondered how this can happen.

It was interesting what would happen.

ouhwne

Practise Reported Speech online:
http://www.learnenglishfeelgood.com/reported-speech-mixed3.html
http://www.examenglish.com/grammar/B1 reported speech.htm

)

g
g
g

¢
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USE OF TENSES IN REFERENCE TO THE LITERATURE

Present Simple, Present Perfect & Past Simple

Past Simple to refer to the literature when you give the date within the
main sentence (not just in brackets)

Present Perfect to give past-to-present background information. The

Present Simple is possible here, but much less commonly used.

Present Perfect if the method, technique, procedure, etc., is the subject
of the verb and there is no time reference, Past Simple if the author is the
subject of the verb. In such cases there may or may not be a time

indication.

Past Simple (or less comonly Present Simple) to report what other
authors have suggested, proposed, claimed, implied, hypothesized, put
forward, etc. There cannot be a specific time reference of you choose to

use the Present Simple in such cases.

YES

YES

In 2007, Carter suggested that
women are superior to men [25].

Many authors [3, 6, 8, 12] have
claimed that there is life on Mars.

Many authors [3, 6, 8, 12] claim that
there is life on Mars.

This method has been used to
investigate both problems [24].

Smith  used this method to
investigate both problems [24].

This procedure has been exploited
by many authors in order to conduct
very diverse investigations.

Smith used this procedure in 2006
[24].

3 |In support of such treatment,
Griggs has made the surprising
discovery that ...

Recently, Griggs made the surprising
discovery that ...

4 | For instance, in [5] the authors
suggested that a new strategy
could be introduced to ...

For instance, in [5] the authors
suggest that a new strategy could be
introduced to ...
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EXERCISES (ACADEMIC GRAMMAR)

A. Underline the reporting verbs in the following sentences and put
them into pairs that have the same structure after the reporting
verb.

|

. Manning (2013) states that aerocapture and entry from Mars orbit produce
very different aerothermal environments.

2. Manning (2013) explains why aerocapture and entry from Mars orbit
produce very different aerothermal environments.
3. Manning (2013) emphasises the difference in aerothermal environments

produced by aerocapture and entry from Mars orbit.

4. Manning (2013) notes that aerocapture and entry from Mars orbit produce
very different aerothermal environments.

5. Manning (2013) pinpoints the difference in aerothermal environments
produced by aerocapture and entry from Mars orbit.

6. Manning (2013) describes why aerocapture and entry from Mars orbit
produce very different aerothermal environments.

B. Complete the table with reporting verbs.

Reporting verbs

explain/ 1 + why + main idea

state / 2 + that + main idea

emphasises / 3 + noun phrase (main idea)
C. a Which reporting verbs have a neutral meaning?

b Which reporting verbs highlight a key idea?

D. Cover the table and complete the following examples using a word
from B.

1. Manning (2013) notes drogue parachutes may be
necessary to stabilize a vehicle supersonically.

2. Manning (2013) why extreme temperature cycles pose
a structural design concern.
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3. Manning (2013) the importance of timeline margin in
the dynamic phase of flight.

4. Manning (2013) describes lift can increase the terminal
entry altitude.

5. Manning (2013) that the initial conditions for the
supersonic descent segment are strongly dependent on ballistic coefficient.

6. Manning (2013) the key role of landing capability for
mission safety.

E. Choose the correct tense (Present Simple or Past Simple).

Note: The author of the extract below is Anderson.

In a previous paper [Anderson, 2012] we (1) make / made
measurements of the speed with which bilingual adults (2) perform /
performed simultaneous translations of politicians' speeches. We (3) choose
/ chose politicians because it is well known that they (4) tend / tended to
use formal language. In the same study [Anderson, 2012] we (5) conduct /
conducted similar tests with Nobel prize winners' acceptance speeches, which
gave similar values of speed. These two findings strongly (6) suggest /
suggested that formal language represents an easier element for translation
than informal language. The performance of teenagers in analogous situations

also (7) confirms / confirmed the above finding [Williams, 2013].

Williams (8) finds / found that informal language, in particular slang,
(9) intensifies / intensified the stress levels of subjects undertaking
simultaneous translation. Therefore, the lack of changes that we (10) find /
found in our present research in the stress levels of bilingual adults with
respect to bilingual teenagers when simultaneously translating extracts from a
teenage soap opera, would seem to indicate that experience (11) plays /
played an important role. As a consequence of our latest findings, we (12)
conclude / concluded that stress levels in bilingual subjects tend to

decrease with age.
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Unit 7. Determiners

| General Grammar|

Determiners are words or groups of words that specify, identify, or
quantify the noun or noun phrase that follows it. They usually include
articles (a, an, the) and pronouns (this, some, other, another, my).

SOME, ANY, NO

SOME

ANY

NO

1. Positive sentences:

a) before countable
nouns in the plural

We have some
friends in London.

b) before uncountable
nouns in the singular

| have some money.

2. Special questions:

Who wants some
tea?

3. Requests:

May | take some
paper?

. Negative sentences

(after not):

We haven't any friends in
London.

2. General questions:

Have you got any money?

— No, | haven't any.

3. In positive sentences

with the meaning ‘it
doesn’t matter which’:

You can take any book.
4. After if:

If there is any paper on the
desk, take some.

4. When we express a

doubt:

| don't think there is any
mistake here.

Before
countable or
uncountable
nouns (no
articles or other
determiners are
used here):

| have no pen.

He has no money.
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QUANTIFIERS

Large quantity

—in negative
sentences

— after there
is/are

— after ‘have’

— before the
subject

A small but
sufficient
amount

A very small
(insufficient)
amount

In questions

BEFORE
COUNTABLE NOUNS

BEFORE
UNCOUNTABLE NOUNS

a lot of

He usually asks me a lot of
guestions.

He spends a lot of time on his
work.

many*

much*

We didn't see many cars
there.

There are many mistakes in
the text.

| have many books on the
table.

Many students took part in
the conference.

He didn’t spend much money.
There is much noise outside.

| have much free time.

Much progress is done in the
world of technology.

a few

a little

He has a few German books
at home.

He has got a little time to talk
to you.

(very, so, too) few

(very, so, too) little

| have very few French
books.

| have got very little free time.

How many?

How much?

* many/much are usually used:
v before the subject — Many students combine work and studies.
v after there is / are — There are many cars on this road.
v after have — They have much work to do.
v after not — | don’t have much time today.
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DERIVATIVES MADE FROM Some, Any, No AND Every

+ ? ?-+ - + ? -
some any no every

one someone anyone no one everyone
body somebody anybody nobody everybody
thing something anything nothing everything
where somewhere anywhere nowhere everywhere

« + » — positive sentence; « ? » — question;

« — » — negative sentence

d If the derivative determiner is the subject of the sentence, the verb is
in the singular:

Everyone is present.
Everybody knows him.

@ If the sentence has a negative determinter (no one, nobody, nothing), the verb is
in the positive form (there cannot be two negations in one sentence):

| know nobody here. or | don't know anybody here.

U Hdon'tknow-nobody-here:
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There is / There are

Use When we say about the presence of something or somebody
in a certain place

Example There is a computer on the desk. | There are students in the room.

The place is known, the object is mentioned for the first time:

What is on the desk? Who is in the room?

@ In Russian, such sentences usually start with the adverbial modifier of place:

Ha cmone — komneromep. B KomHame — cmyodeHmebl.
BUT!
Use When we say about the location of something or somebody
Example The computer is on the desk. |The students are in the room.
The object is known, the place is mentioned for the first time:
Where is the computer? Where are the students?
TYPES OF SENTENCES
IS a desk
IS not (isn't)
IS no desk L
There . in this room.
are two chairs
are not (aren't)
are no chairs
Is in this room?
Ao there a desk
two chairs

é) After there is, we never use the.

é) The negative form can also be built with no. In this case, no articles or numerals

are used:
There is no desk / are no chairs in the room.
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EXERCISES (GENERAL GRAMMAR)

A. Make questions and negative forms of the following sentences.

Model: There is some water in the glass.
Is there any water in the glass?
There is not any water in the glass.
There is no water in the glass.

. There is some powder in the box.

. There are some notebooks on the desk.

. There are some students in the classroom.
. There is some liquid in the bottle.

. There are some leaves on the tree.

. There are some boys in the gym.

O 00 O ~A W N +

. There is some paper on the shelf.

10. There are some people in the street.

B. Complete the sentences.

1. ThEIrE IS @ cieiiii i e .
B I 1= == = .
R S o = .
4, Are here o .
I I o 1= = 1= o I o PP .
6. There aren't .o e .
W2 I 2.1 (= T 2 [ T P .
8. ThEre @re NO ..ueiiiiii e ae s .
9. ThEIE IS SOME ..t s e e e rneeans .
10. ThEre @re SOME ..uiieiiiiiiie it e e e e e e aaeas .
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C. Choose the correct determiner (many / much / a few / a little /
few / little).

. There is not (MHOro) toner in the cartridge.

I have (Mano) time for English.

In Brazil there are (MHOro) monkeys.

Has he (MHoro) English books? - Yes, he has (MHoro) English books.
Has she (MHoro) friends? — No, she hasn't. She has (Mano) friends.
We have (Mano) bread at home. Go and buy some bread.

. Are there (MHoOro) trees around the house?

. The children have (MHoOro) video games at home.

© © N O U AW N e

. They don't have (MHoOro) classes today.

D. Choose the correct determiner.

1. Do you learn (some/any) foreign languages?

2. Has your friend got (some/any) English magazines?
3. Please take (some/any) French book you like.
4

. I don't think we've got (some/any) time to discuss this question
today.

. There are (any/no) flowers here in winter.

. There aren't (any/no) people in the park because it is cold.
I don't see (anybody/nobody) in the street.

. There is (nobody/anybody) at home.

© ©® N O W’

(Everything/Something) is all right. John is well now.
10. Is there (something/anything) interesting on TV today?
11. Has (somebody/anybody) got a newspaper?

12. (Somebody/Everybody) knows that fruit and vegetables are
healthy.

13. There is (anybody/nobody) in the office. It is too late.

14. I can't find my keys (anywhere/somewhere). - Of course, that is
because you leave them (anywhere/everywhere).
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Both ® Either ® Neither® None

Both Either Neither
two options one of two options no option
this AND that this OR that NOT this AND NOT
that
AND OR NOR

| can speak both Russian | can speak either Russian | can speak neither
and English. or English. German nor French.

Which is easier for you to
understand?

é none is used when there are more than two options.

None of my friends speaks (speak) French.
The verb can be singular (speaks) or plural (speak).

E. Choose the correct sentence.

1. a) You can either go by bus or by taxi. They are both efficient.
b) You can neither go by bus nor by taxi. They are both efficient.

2. a) If you need help you can either ask Debbie or John.
b) If you need help you can neither ask Debbie nor John.

3. a) Sally doesn't like neither pizza nor pasta.
b) Sally likes neither pizza nor pasta.

4. a) Both Terry and Nial want to go with me.
b) Either Terry or Nial want to go with me.

5. a) We tried a lot of hotels, but none of them had any rooms.
b) We tried a lot of hotels, but neither of them had any rooms.
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Each EVERY

e each of the two e every of many

e each separately e meaning «all»

e each of the limited number e of the unlimited number

e each of + noun/pronoun e every one of + noun/pronoun.

. Choose each or every.

. In a game of tennis there are two or four players. player has a
racket.

. Paul plays tennis Saturday.

We have a lot of different opponents, but we need to plan a unique
strategy for of them.

one of you will need to make an appointment to see me about
your dissertations.

. I tried to phone her two or three times, but time there was no
reply.

. Our volleyball team is playing well. We have won game this
season.

. I understood most of what they said but not word.

. The book is divided in five parts and of these has three sections.

Practise Determiners online:

https://www.usingenglish.com/quizzes/82.html
https://www.examenglish.com/grammar/bl_both_either_neither.htm
https://www.usingenglish.com/quizzes/70.html
https://elt.oup.com/student/solutions/preint/grammar/grammar_03_012e?cc=usé&selLanguage=en
http://www.bes.info.pl/grammar/quantifiers4.html
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DETERMINERS IN RESEARCH PAPERS

Academic Grammar

Any

Some

In negative sentences

In positive sentences

This did not give any
results.

interesting

This gave some interesting results.

Not...any =0

not ... some = ‘not all’

We were not able to understand any of
the figures — they were all too
complicated and unclear.

We were not able to fulfill some of the
referees requests, specifically the first
and last requests.

To indicate doubt (we are not
sure whether the event will take
place or not)

The table shows significant results, if
any, of each test.

Some tests may not have given significant
results.

The table shows some significant
results, in fact ...

If you need any clarifications, then do
not hesitate to contact me.

I don’t know if you require clarifications or not.

| need some clarifications with regard
to points 3 and 8.

If you use any in a sentence that
contains no negation or doubt,
then it means ‘one thing or
person at random from all
individuals in the world’.

Some and someone mean one
particular thing or person,
although exactly what or who is
not important.

Anyone can tell you that one plus one
equals two.

Someone wants to see you.

Any book on the subject will tell you all
you need to know.

| read about it in some book, but I
don’t remember which one.

Any is used in questions where
the answer is not known.

Some is used in questions where
the expected answer is
affirmative (e.g. in offers and
some kind of requests).

Excuse me, do you have any idea
where the nearest bank is?

Would you like some help?
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Any vs. No

1. No one is preferred to not ... anyone in formal situations such as
research papers.

2. Without and hardly require any rather than not.

YES NO

1 | To the best of our knowledge no one | To the best of our knowledge there
has found similar results to these. isn’t anyone who has found ...

2 |You can do this without any|You can do this without no
problems or at least with hardly any | problems or at least with hardly no
problems. problems.

a little, a few vs. little, few

1. A little (uncountable nouns) and a few (plural nouns) indicate a limited
quantity of something. They could be replaced by some.

2. Little (uncountable nouns) un few (plural nouns) indicate an extremely low
or surprisingly low number. They have a negative sense.

A LITTLE VS. LITTLE A FEW VS. FEW

1 | We have a little time left, so does | We have a few more experiments to
anyone else have any questions? do, five or six | think, and then we
have finished.

2 | Little is known about this very rare | Few researchers have investigated
disease. this complex phenomenon.

Almost nothing is known. Maybe only two or three researchers.
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much, many, a lot of, lots of

1. Much is used with uncountable nouns, and many with plural nouns.

2. Lots of is considered to be too informal, prefer a lot of (which some
authors still avoid on the basis that it is not sufficiently formal).

3. A lot of is usually replaced by not much or not many in negative phrases.

YES WRONG (*)
OR TOO INFORMAL

1 | There is not much information on | We do not have many information.*
this topic.

1 | We have not made much progress. | We have not made many progresses.*

1 | There have been many advances
in this technology.

2 | We have a lot of data on this issue. | We have lots of data on this issue.

3 | There are not many accessible | There are not a lot of accessible
papers on this subject. papers on this subject.

each vs. every, every vs. any

1. Each is used when it is important to underline that you are viewing things
as individual items, every when these things are seen as a mass.

Only each can be used before a preposition.
Some expressions require every and not each.

Often, there is no real difference between each and every.

v & DN

Any = only one, but it is indifferent which one, every = all.
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Each, Any Every

Each patient was given a slightly | Every patient in their hospital has
different dosage of the medicine. medical insurance.

No patient had the same dosage. All patients.

Each individual case wil be|ln every case death occurred
analysed separately. within three months.

In all cases.

Each of them has a different name.

= All of them have different names.

Patients will be examined every
week / every three months / every
third month.

Each time we do the experiment | Every time we do the experiment
something goes wrong. something goes wrong.

Any element in a set can be used. | Every element in this set is

Just one element, it does not matter important.
which one. All the elements.
no vs.not

. No + noun and not + a / the + noun are similar in meaning. The form
not + noun is incorrect (e.g. we-have-nrotreasonto-suppose-that).

No + noun is often replaced with not + verb + any + noun.

Adjectives that follow the verb to be and which are not associated
with a noun are generally preceded by not.

Use not before an adverb.

No longer can be written more formally as not ... any more /
longer.

No + comparative adjective means that the two things compared are
equal; not + comparative adjective means that the first thing is not, for
example bigger or stronger, than the second thing.
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NO

NOT

organ system to reach a functional

1 There is no reason to suppose that | This is not a good reason for ...
this is due to ...

1, | We encountered no problems with | We did not encounter any

2 the calculations. problems ...

1, |There are no unusual species in|It is not unusual to find strange

3 this area. species in this area.

1, (It is no surprise that the | Not surprisingly, the

4 cardiovascular system is the first | cardiovascular system is the first

organ system to reach a functional

state in an embryo. state in an embryo.

5 This system is no longer used. This system is not used any more.

This system is not

longer.

used any

6 Verifying X turns out to be no easier | X is not easier to solve than Y.

than verifying Y.

Y is probably easier to solve than X.

X and Y have the same level of

difficulty.

EXERCISES (ACADEMIC GRAMMAR)

A. Choose the correct determiner.

1. The next lemma considers (some / any) properties of axis trend
functions in general.

N

. Throughout our experiments, we did not see significant accuracy fluctuation
due to (some / any) of these types of queries.

3. (Some / Any) interrogations will need to be automated.

4. They need to find (some / any) alternative path, and check it again
against the database.

Ul

. At (some / any) given stage, the particles outlined in red are participating
in that stage; the particles outlined in black are inactive.

6. Two moving objects Q;(t) and Qx(t) define a query space at (some / any)
time t.
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ANNNANNNNANNNNNNNNNNNNANNNNNNNNNNNNNNNNNNNNNNNNANNNNNNNNNNNNNNNNNNNNNNANNN

7. This methodology has (few/ a few / little / a little) drawbacks, one of
which is the need to have volatile precursors.

8. However, there has been (few/ a few / little / a little) effort made to
integrate the physics in these individual models into a single
comprehensive representation of the aircraft.

9. Locating the query near the lower or upper corners affects relative accuracy
because the query returns very (few/ a few / little / a little) points.

10. The Figure also shows that even though (few/ a few / little / a little)
of the data sets tended to have good results at five and ten buckets, these
results are not guaranteed in general.

11. Apart from this, however, there is (few/ a few / little / a little)
difference in the surface morphology of the deposited films.

ANNANANANNNANNNNANANNNANNNNANNNNNNNNNNNANNNNNNNNNNNNNNNNNNNNNNNANANNNNNNNANNNNNNN

12. One such system, the Viking-era 70 deg sphere-cone aeroshell has been
used on (every / each) U.S. Mars landed mission.

13. The technical developments required in (every / each) of these areas are
discussed in the following section.

14. (Every / Each) hour of real flight produces about 1 petabyte of such real
data.

15. Moreover, the data structure was static, that is, it had to be regenerated
(every / each) time a point was inserted into the database.

ANAANANAANNANAANNNANNNNANAANANNANANNANAANANNANAANNNAANAANNNAANNANAANANNANAANNANAANNNAANNNANNNANANANNANANANAN

16. The stress transfer functions are applied to the loads in the flight loads
database to develop a stress spectrum at (every / each) point of interest
in the airframe.

17. Gaps introduce difficult areas to model when they are (not / no) uniform.

18. Normally the least square line (does not have / has no) a negative
value in the range of the histogram.

19. Moving object databases naturally suggest new aggregate operators that
have (not / no) equivalents in relational databases.

20. There was (not /no) initial plan to modify the MPF EDL system.

21. It was (not / no) a practical solution because of the quadratic size of the
data structure.

22. The robotic exploration program may pursue a large diameter supersonic
parachute, likely (not / no) larger than 30 m and deployed at velocities
below Mach 2.7.
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B. Choose lots, many, much, (a) little, (a) few.

I am writing to ask if you could possibly revise my paper. I imagine that you
must receive (1) lots of / a lot of / many requests such as mine, but I really
need your input as no one else has as (2) much / many expertise as you do in
this particular field. In reality, there is not (3) much / many information to
read, it would be enough if you could just read (4) a little / little/a
few/few of the Discussion (e.g. pages 12 and 13).The problem is that there
are (5) little / little/a few/ few studies in this field which makes
comparisons with the literature almost impossible. I realize that this is (6) a lot /
lots / much to ask, particularly as you have never even met me, but if you
could spare (7) little /a little /a few / few of your time, I would be

extremely grateful.
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Unit 8. Verbals

General Grammar

Verbals (non-finite verb forms) are words formed from a verb but functioning
as a different part of speech (= they do not belong to number of finite verb
forms, such as Present Simple, Past Perfect, etc.). These are:

1) participle
2) infinitive
3) gerund

Participle

is a word formed from a verb that plays a role similar to an adjective or
adverb.

In a sentence participles are used as attributes (onpegenexne) or

adverbial modifiers (ob6crosites1bCcTBO).

Participle I

has 4 forms:
Active Passive
Indefinite | Ving being + Vs The highlighted forms
are less common.
Perfect having + V3 | having + been + Vs

1. a) The boy playing in the yard is my son.
b) The houses being built in our town are very high. attribute
2. a) Going home, I met my friend.
b) Having finished my work, I went home.
c) Having been discussed, the book was sent
to the publishing house.

adverbial
modifier

Participle 11
has only one (passive) form
Veq — discussed
V3 - well-known

This is one of the museums visited by many people.
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Compare:

Julia thinks politics is very interesting. - Julia is interested in
politics.
It was very surprising that he passed the exam. - Everybody was

surprised that he passed the exam.

EXERCISES (GENERAL GRAMMAR)

A. Choose the correct form.

Model:
I was disappeointing-/ disappointed with the result. I had expected it
to be better.

. Are you interesting / interested in Physics?

N

. I had never expected to get this job. I was really amazing / amazed
when I was offered it.

3. She has learnt very fast. She has made astonishing / astonished
progress.

4. The work was really hard. Everybody feels exhausting / exhausted now.

Ul

. The lecture was boring / bored. 1 nearly fell asleep.

6. His explanation was so confusing / confused. 1t was difficult to
understand the whole idea.

B. Participles are also used as adjectives, e.g. an interesting story, a
well-respected man. Make an adjective from each verb in the list
to fit the sentences below.

curve, design, disappoint, make, realease, structure

Model:
A man with a very good reputation is a well-respected man.

1. A performance which did not please people was

a

2. A line that looks like the letter C is

a
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3. An article that has a good structure is

a well-

4. Equipment that serves its purpose well is

a well-

5. Artificial or synthetic material is
man-

6. A book published this month is

a newly

C. Study these sentences and then circle the right answer.

1 a I watched some men digging a hole in the road.
Did | watch until they had finished? YES NO DON'T KNOW

1 b I watched some men dig a hole in the road.
Did | watch until they had finished? YES NO DON'T KNOW

2 a I thought that Sybil was very interesting in the play.
Where was Sybil? IN THE PLAY  IN THE AUDIENCE

2 b I thought that Sybil was very interested in the play.
Where was Sybil? IN THE PLAY  IN THE AUDIENCE

3 a I must fix the bike before I ride it again.
Will I do the work myself? YES NO

3 b I must have the bike fixed before I ride it again.
Will | do the work myself? YES NO

4 a 'Where’s Bill?’' ‘Ne’s gone walking'.
What kind of activity is this? A SHORTONE A LONG ONE
4 b 'Where’s Bill?’ *He’s gone for a walk?’

What kind of activity is this? A SHORT ONE A LONG ONE

5 a You must have repaired the printer.
Is the printer still broken? YES NO

5 b You must have the printer repaired.
Is the printer still broken? YES NO
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Infinitive

is the basic form of a verb, without an inflection binding it to a particular
subject or tense. In English the infinitive is usually preceded by particle to but
sometimes it is used without it (e.g. after modal verbs).

Forms
Infinitive Active Passive
Indefinite (to) change (to) be changed
the action is simultaneous to the predicate
Perfect (to) have changed (to) have been changed
the action is preceding the predicate
Continuous (to) be changing —
the action is in progress
Perfect (to) have been changing —
Continuous
the action that started in the past and is still going on
Examples:
Active Passive
| am sorry
to be interrupting you
4yTO 4 nepebuBato Bac (8ech —
amom
pasa2oeop)
to interrupt you to be interrupted
4yTO 4 nepebuBato Bac (celivac, 4YTO MeHs nepebuBatoT (HO S
MHe Hado cka3ame...) doz2080pio)
to have interrupted you to have been interrupted
4yTO A Nnepebwun Bac (toraa) 4YTO MeHs nepebuBanu (Torga)
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Functions in the sentence
1. Subject:

To ask him of help was useless. — [lpocuTb ero o nomowm 6b10
6ecnonesHo.

2. Object:

He promised to come at 5 p.m. — OH obewan npunTn B 5 Beyepa.
3. Attribute:

She was the first to come. — OHa npuLaa NepBon.
4. Predicative:

The aim of our research is to find the cause of the problem. - Lenb
Halwlero nccnegoBaHnsa — HAMTU NPUYKHY Npobnembl.

5. Adverbial modifier:

He went to England to improve his English. — OH e3aun B AHruio,
YTOObl YAYUYLWINTb CBOW a@HINTMNCKUIA.

You are clever enough to understand it. — Tbl LOCTaTO4YHO YMEH, YTOObI
MNOHATb 3TO.

EXERCISES (GENERAL GRAMMAR)

A. Find the infinitve and define its form. Translate the sentences into
Russian.

He doesn't like to ask questions.

He doesn't like to be asked.

I'm glad to have invited them.

I am glad to have been invited.

I'm sorry to trouble you.

I'm sorry to have troubled you.

I'm glad to be working with you.

@ NOU AWM

I'm glad to have been working with you all these years.

. Complete the phrases to make sentences.

.. instructions to be executed...
.. programmes to be compiled.
.. files to be added...
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C. Using the infinitive patterns in the English sentences, translate the
Russian sentences into English.

1. I've got nobody to be afraid of.
Have you got anything to tell me about?
Y MeHsa MHOoro aen.
EMy HeueM ropauTbcs.
Y Hac eCTb, YTO BCMNOMHMUTD.

2. The first thing to discuss is to get in touch with them.
The next step to take is to buy a car.
MNepBoe, YUTO HYXHO caenaTtb, 3To 06CyaAnTb NIaH.
Cnepyioulee, 4YTo HYXHO caenaTb, 3TO YTBepAMTb MaH.

3. There's nothing to speak about.
There was something to discuss.

MoroBopuTb 6bI1I0 HE C KEM.

CMedaTbCs 34eCb He Haa 4veM.

4. This word is easy to pronounce.
She is difficult to please.
Ero agpec nerko 3anoMHUTb.
Bam TpyaHO yroauThb.

5. Mr Wright turned out to be a very cheerful man.
CTaTbs OKa3sasnacb O4YeHb TPyAHOMN.
OHa okazanacb o4YeHb pacCessHHOMW.

6. Walter was the first to be examined.
Who will be the next to answer?
KTO BbICTyMnan nepBbiM?
MeHs 3K3aMeHoBasIM NoCneaHNM.
Sl nepBbIM y3Han eeé.

D. Choose the correct translation.

1. Files to be excluded from processing...
A) ®annbl, KOTOpble cneayeT UCKIIUYUTL N3 06paboTKu...
B) ®annbl, NCKNOYEHHbIE U3 06paboTKMK...
C) ®annbl, KoTopble byayT UCKIOYEHBI U3 06paboTKM...

2. They saw his activity bring great success.
A) OHKM yBUAENM ero AesTenbHOCTb, KOTopas npuHecna 6onbLlwon ycnex.
B) OHM yBMaenn, 4to ero AeaTenbHOCTb NPUHOCUT 6ONbLLON yCnex.
C) OHu yBMAEnu, 4to ero AesaTeNbHOCTb NpuHecna 6o0nbLlon ycnex.
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3. These files are not to be added.
A) Hapo no6asutb He 3TK dannbl.
B) 2tu dannbl He cneayeT 4o6aBNATh.
C) OT0 He Te hannbl, KOTopble cneayeTt AobasnsATh.

4. To be accepted by the machine, information is to be in the form of digits or
characters.
A) lNMpuHaTaa KoMNblOTEPOM MHDOPMaUMa UMeeT popMy Lndp Uam CMMBOIOB.
B) YT06bI 6bITb NPUHATON KOMMNbLIOTEPOM, MHMOPMaUKUS A0/KHa 6bITb B BUAE
umdp mam CUMBOJIOB.
C) YT106bl 6bITb NMPUHATOM KOMMNbLIOTEPOM, MHMOPMaUUW cneayeT MPUHSATb
dopmy uUndp nam CMMBONOB.

5. I/O devices are known to be called peripheral devices.
A) YcTponcTtea BBOAA U BbiBOAA U3BECTHbI M Ha3biBAOTCSA BHELUHUMMN.
B) N3BeCcTHO, YTO YCTPOMCTBa BBOAA W BbIBOAA HA3bIBAOT BHELUHUMMU,

Gerund

is a verb form which functions as a noun and is formed the same way as
Participle I (with the help of - ing):
to read - reading, to write — writing.

Unlike the noun, it is never preceded by an article.

Unlike the participle, it can be preceded by a preposition or a possessive
pronoun:

By reading, we can explore new worlds.

Do you mind my borrowing these supplies?

In Russian it can be rendered by means of:

v' a noun denoting a process:
Learning a foreign language is not so easy.
- N3yyeHne MHOCTpaHHOro 43blka AAETCH He TaK Jierko.

v'a verb (usually an infinitive):
Saying is one thing and doing is another.
- CkasaTb - 3TO OAHO, a caenaTtb — 3TO ApYroe.

v' (if preceded by a preposition) a converb (aeenpuyactume):

By doing nothing we learn to do ill.
- He penas HM4ero, Mbl y4mMmcs genaTb 3/10.
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Forms

Active Passive
Indefinite Ving being + V3
Perfect having + V3 having + been + V3

He dreams of making a great discovery.
- OH MeuTaeT caenaTb BEIMKOE OTKpbITHE.

He dreams of being given a Nobel prize.
— OH MeuTaeT nonyuutb (=4T06bI EMY Aann) HobeneBcKyto npemMuto.

He is proud of having made a great discovery.
- OH ropauTca TeMm, 4YTo caenan BesiInkoe oTKpbITUE.

He is proud of having been given a Nobel prize.
- OH ropautca TeMm, 4yto nonyymn (=4To emy panu) HobeneBckyto
npemMuto.

Functions in the sentences

1. Subject:
Debugging a program is a hard job. - OTnagka nporpammbl — TpygHoe
aeno.

2. Object:
Nobody risked asking the question. — HUKTO He pPUCKHYN 3ajaTb 3TOT
BOMpoc.

3. Attribute:
One of the benefits of buying this system is that it has detailed
documentation. — OQHO M3 NpenMyLWecTB NOKYMNKNW 3TON CUCTEMbI B TOM,
4YTO OHa MMeeT NoApPOOHYD AOKYMEHTaUuMIo.

4. Predicative:
I am against accepting this plan. — 4 npoTuB TOro, 4to6bI NPUHMMATL
3TOT MNJiaH.

5. Adverbial modifier:
By using our software you will solve a lot of problems. — Vcnonb3ys
Halwe nporpaMMmHoe obecreyeHune, Bbl pelmTe MHOXEeCTBO nNpobnem.

@ Gerund is often used in special patterns some of which are listed in Appendix 3.
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EXERCISES (GENERAL GRAMMAR)

A. Which of the following sentences contain a gerund?

1. Go on writing, while we are reading these articles.
While they were talking, I left the office.

Learning a foreign language is not easy.

Is he still playing the video game?

Our teachers tell us something interesting every day.
I am afraid of losing my keys.

People living in that house are our old friends.

NounsLDN

B. Find the gerund and define its form. Translate the sentences into
Russian.

1. I like his method of teaching.

2. It's no use talking to him.

3. He left without saying a word.

4. He was suspected of keeping something from us.
5. I hate being reminded of things.

6. I don't remember having seen her there.

7. We insist on Pete's making a report.

8. Do you mind our being present?

9. I never heard of him behaving like that.

10. Do you mind my colleague joining us?

C. Translate the sentences into Russian paying attention to the doer
of the action denoted by the gerund.

1. I remember leaving a message for him. I remember his leaving a message
for me.

2. Mr. Blank apologized for having caused a trouble. Mr. Blank apologized for
his children having caused a trouble.

3. We don't mind cooperating with you. We don't mind your cooperating
with us.

D. Make sentences according the the model.
Model:
I advise you to read the book. The book is worth reading.

1. Go and see the film. The fiim

2. That's a good song. The song

3. Don't quote this man. He is not worth

4. Remember his words. What he says is worth
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E. Translate the sentences into English.

1. 2TO WOy CTOUT NOCMOTPETb.
2. 06 3Tnx dakTax CTOUT YNOMSAHYTb.
3. O6 3TOM He CTOUT CropUTb.

F. Ask questions according to the model.

Model:

It s useless to argue with him. What's the use of arguing
with him?

1. It's no use accusing him.
2. It's useless to object to it.
3. It's no use talking, let's get down to work.

G. Translate the sentences into English.

1. Kakon TofNK OT TOro, 4to 9 CUXYy goma?
2. Kakomn cMbIcn cnopuTb?
3. Kakomn cMbICcn puckoBaTb?

H. Using the model, make as many sentences as possible.

Model: We'll solve the problem by using this algorithm.
We learn to speak English speaking.

We can't learn a foreign language only arguing.

One learns to swim by reading books.
You won't change anything swimming.

You won't achieve anything shouting.

I. Translate the sentences into English.

1. OH npotmB TOro, 4tobbl MpurnawaTte MeHegkepa. OH NpPOTUB TOro, 4TOObLI
Bbl npurnawann MeHepkepa. OH npotmB TOro, 4tobbl 6bin npurnawéH
MeHeaxep.

N36erante roBopuUTb C TaKUMU NHIOAbMN.

OHa He nepecTtaBana 6paTb YPOKWN @aHIIMNCKOIo s3blKa.

OHM MeyTaloT NOCEeTUTb Haly pupmy.

DTY KHUTY CTOUT NpoOYecTb.

HeT cMbiCna ncnonb3oBaTbh 3T AAHHbIE.

S
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Constructions with Participles and Infinitives

Complex Object

Subject + predicate + OBJECT (noun or pronoun) + INFINITIVE or PARTICIPLE

Russian: clauses starting with kak, 4yto, 4yT0bhbI.
3 groups of verbs:
1. perception: to see, to watch, to notice, to hear, to feel, etc.

They are followed by:

v/ OBJECT + BARE INFINITIVE (infinitive without to) to show a finished action:
I saw him cross the street. — {1 Buaen, Kak oH nepeweén ynmuy.

v' OBJECT + PARTICIPLE I to show an action in progress:
I saw him crossing the street. — {1 Bugen, Kak oH nepexoaun ynuuy.

2. suggestion or wish: to expect, to believe, to want, to wish, should
(would) like, etc.

They are followed by:

v' OBJECT + INFINITIVE (with to):
We expect her to arrive tomorrow. — Mbl 0OXXuaaem, 4to OHa npubyaetr
3aBTpa.
I want you to come in time. — {1 xo4y, 4TO6bI Bbl NPULLIN BOBPEMS.

3. Permission or command: to let (pa3pewnts), to make (3acraButb).
They are followed by:

v' OBJECT + BARE INFINITIVE (infinitive without to):
He let the children go to the movies. — OH pa3speLwwunn 4eTAM NOUTU B KUHO.
Don’t make me do this work. — He 3acTtasnsnte MeHs genaTb 3Ty paboTy.

@ If make is used in the Passive Voice, the Infinitive has to:

He was made to do the work again. — Ero 3acraBuin cgenatb paboty
CHOBa.

Complex Subject

Subject (noun or pronoun) +:
1) PREDICATE in Passive + INFINITIVE (with to).

3 groups of verbs:

A) perception: to see, to watch, to notice, to hear, to feel, etc.
Someone was heard to be going upstairs. — CnbilWHO 6bIN0, KaK KTO-TO
LWEN Ha BTOPOW 3Tax.
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B) thinking: to know, to think, to consider, to expect, etc.
He was thought to be a great scientist. — Ero cuntasim Be/IMKUM y4EHbIM.

C) reporting: to say, to report (coobwats), to state (yrBep>xgatb):

He is said to have been to all the countries in the world. — ToBopAT, OH
nobbiBan BO BCEX CTPaHax B MUpE.

2) PREDICATE in Active + INFINITIVE (with to) of such verbs as: to seem (kazamescs), to
happen (canyyamecs), to prove (okazamecs), to turn out (okazamecs):

They seemed to have forgotten him. — OHu, ka3asnocb, 3abbisin ero.

3) MODAL CONSTRUCTION — to be likely (seposmHo), to be unlikely (s8pad nu), to be
sure, to be certain (HasepHsaKka) + INFINITIVE (with to):

She is unlikely to support your idea. — Bpsg sin oHa rnogaep>xut Baily
naero.

EXERCISES (GENERAL GRAMMAR)

A. Combine two sentences using Complex Object.

Model.
I saw the plane. It took off in the sky.
- I saw the plane take off in the sky.

I heard their teacher. He was explaining the new rule to them.
- I heard their teacher explaining the new rule to them.

1. I noticed the boy. He took out a laptop and started to type something.

2. We heard a foreigner. He was explaining something in broken Russian.

3. We heard somebody. He knocked at the door.

4. T watched him. He turned to his friend and whispered something in his ear.

5. We saw Kate. She was drawing something in her pad.

B. Combine two sentences using Complex Object.

Model.
Did anybody go out? - I don't know. I didn't see anybody go out.

1. Has Jake arrived yet? - Yes, I think I heard him

2. How do you know I took the money? - I know because I saw you

3. Did the doorbell ring? — I'm not sure. I didn't hear
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4. Can Tina play the guitar? - I've never heard

5. Did I lock the door when I went out? - Yes, you did. I saw

C. Translate into English.

1 Mbl cnbiWwanu, Kak OH UrpaeT Ha rmTtape.

2 Sl BUAen, Kak OH MblJ1 MallMHY BO ABOpe.

3. 4 cnbiwan, Kak oHa pa3roBapusaeT rno TenedoHy.
4 Mbl He BUAENN, KaK OH BbiWen 13 oMy.

5 OHM 3aMeTnIn, KakK OH B354/ CYMKY.

D. Complete the questions. Use do you want me to ...? or would you

like me to ...? with one of these verbs (+ any other necessary
words):

come lend repeat show shut wait

Model:
Do you want to go alone or do you want me to come with you?

1. Have you got enough money or do you want

2. Shall T leave the window open or would you

3. Do you know how to use the machine or would

4. Did you hear what I said or do

5. Can I go now or do

. Translate into English.

E

1. 4 xouy, uTO6bI BbI NOBecUIN 3Ty doTorpacduio B LEHTpeE.

2. Ham 6bl XxoTenocb, 4Tobbl BpeMs n Mecto cobpaHusa ycTtpamaano BCeEX.
3. HuKTO He oxunpgan, 4to dunbM byaeT MMeTb TaKOW ycnex.

4. OH xoTen, 4tobbl Mbl 3anncanu nx pasrosop.

5. OHa xo4eT, yTobbl Tbl CaM pacckasan en 06 3ToM.

6. MHe 6bl Xx0Tenocb, YTo6bl OHN 6bINN CYHACTIUBLI.

7. He no3BonsnTte AeTsM urpatb CO CAMYKaMMU.

8. He cMewnTe MeHs!
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F. Re-word the sentences according to the model.

Model: They say the ship has already arrived.
— The ship is said to have already arrived.

. They say this university was built in the 11th century.

Her colleagues think she is good at management.

. I suppose they are watching a film now.

He says that N is a promising designer.

. The newspaper reported that the summit was a success.

I believe that he has already reached the top of the mountain.
. They say a satellite will be launched next month.

\I_C)\Ln:bwl_\)l—t

G. Complete the sentences.

He turned out
Roger was seen
. Ann is likely
. The accident is reported
Steve Jobs is known
.The flight is said
. They are sure
. They are supposed

H. Translate into English.

FoBopAT, 3Ta obcepBaTopusa 6bina noctpoeHa B XVII Beke.
MN3BeCTHO, YTO OH TaNaHT/INBbIN ANU3ANHED.

OH obszaTenbHO NpUAET K BaM.

Oxupganu, yto nobeanT Hawa KoMaHAaa.

Mbl cnyyanHo BCTpeTunun ero B 6aHke.

MpeanonaraeTcs, YTO OHU yexanu Ha or.

OnbIT OKasascsa HeyaauHbIM.

CuunTaloT, YTO OHM caenann HeobblIKHOBEHHOE OTKpbITUE.

. Bupgenun, yto MawmHa Myanacb ¢ 601bLON CKOPOCTLIO.

10. Oka3anocb, YTO OHa HENnJI0X0 roBOPUT MO-UCMNAHCKMU.

©CONOUAWN R

Practise Verbals online:

https://www.proprofs.com/quiz-school/story.php?title=verbals-gerunds-participles-and-infinitives
www http://englishteststore.net/index.php?option=com content&view=article&id=4700&Itemid=418
https://www.englisch-hilfen.de/en/exercises list/gerund infinitiv.htm
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VERBALS IN RESEARCH PAPERS

Academic Grammar

Participle
Past Participles

1. In most cases past participles can always go after the noun, but in many
cases they cannot go before. So, put them after and you will probably be
right!

2. In some cases both positions are possible, though when the past participle
is located after the noun it is often followed by further details.

3. Be careful with used. Before the noun it means ‘second hand’, after the
noun it means ‘which is used’.

YES NO OR NOT COMMON
1 | It shows details of all results found. | It shows details of all the found
results.
1 | The datareported show that ... The reported data show that ...

2 | It shows details of all the specified
actions.

It shows details of all the actions
specified (in the manual).

2, | This was the application used by | This was the used application by
3 | the testers. the testers.

3 | I bought a used car.

i. e. a second-hand car

EXERCISES (ACADEMIC GRAMMAR)

A. Choose the correct form.

1. The hypothesized threshold / threshold hypothesized by Sasaki and
Takahashi is much lower than ours.
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. The proposed solution / solution proposed in the present paper has

three main advantages.

. The obtained results / results obtained can then be used to determine

the cost.

. The considered samples / samples considered were taken from three

different sources.

. This value concurs with the found amount / amount found.

6. The solutions of treated samples / samples treated were then added to

the final mixture.

. The solutions of treated samples / samples treated with this acid

showed a completely different behavior.

. The same components were found in all the investigated samples /

samples investigated.

. There is not doubt that the quality of offered goods / goods offered is

inferior.

10. This is actually much higher than the calculated value/value

calculated in Sect. 14.1.

B. Choose the correct form.

1.

The life prediction process depicting / depicted in Figure 1 was the best
that could be done in the years before digital computing was commonplace.

. This model becomes a virtual sensor, interpolating / interpolated sparse

acquired data over the entire airframe.

More recently, space-time methods have been employed as well as many
other applications required / requiring self-adaptive solution strategies.

Another promised / promising method is the combined / combining
interface boundary condition procedure.

. The thermal stress solution can be computed adequately by performing a

thermal analysis followed / following by a structural analysis.

. As the panel deforms out of plane, it is more exposed to the engine

exhaust resulted / resulting in greater heating.

. The structural FEM models the entire range of physics acted / acting on

the structure.

. The prediction of the remained / remaining useful life of aircraft structure

requires modeling of the response of the structure to all of the applied loads.

. An example of such an interface method is the common refinement scheme

proposed / proposing by Jaiman et al. [5].

10. The technical developments required / requiring in each of these areas

are discussed in the followed / following section.
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s

Infinitive

When you talk about the aim / purpose of an action.

The infinitive is never preceded with for.

The negative infinitive is: in order not to, so as not to.

Infinitives are often used after adjectives (including superlatives) making
part of the predicative.

When a quantifier (e.g. enough, too much, too many, too little, too
few) is followed by a noun + verb construction, the verb is in the

nfinitive).

YES

NO

To make extra money, he designs
and develops software.

For to make extra money, he

designs and develops software.

For making extra money, he designs
and develops software.

| need money to buy a house.

| need money for buying a house.

In order not to lose data, make
back-ups regularly.

For not losing / For don't / To don't
lose data, make back-ups regularly.

It is straightforward to verify that x
= y

It is straightforward verifying that x =
y.

It has been claimed that five users
is enough to catch 85% of of the
problems on the vast majority of
websites.

It has been claimed that five users is
enough for catching 85% of the
problems on the vast majority of
websites.

There are too few studies with too
few patients to determine which is
the the best drug.

There are too few studies with too
few patients for determining which
is the the best drug.
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Passive Infinitive

1. It is used when the verb that follows the noun is not the subject of that
noun (i.e. when something else is responsible for the action).

2. In some cases, both forms are possible, e.g. the active infinitive may
indicate that the reader is expected to do the tasks, whereas the passive
leaves this more open.

ACTIVE INFINITIVE PASSIVE INFINITIVE

1 | This enables us to calculate the | This enabled the ratio to be calculated.
ratio.

1|We still need to identify the | The variants that influence these traits
variants that influence these traits. | still need to be identified.

1 | We remained after the It remains to be seen whether the
presentation to see Professor Yu's | government will actually implement this
experiments. policy.

2 | Below is a list of tasks to do next | Below is a list of tasks to be done next
week. week.

Gerund

1. When the verb is the subject of the sentence.
2. After a preposition, adverb or conjunction.

3. The gerund is not used when we are talking about an aim, objective or
target. Instead, the infinitive is used.

YES NO

1 | Developing software is their core | To develop software is their core
business. business.

2 | Before starting up the PC, make sure | Before to start up the PC, make
it is plugged in. sure it is plugged in.

3 | Our aim is to investigate the use of X. | Our aim is investigating the use of
X.

= Investigating the use of X is our aim
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1.
2.
3.

4,

Let and Make

To is not used after make (in active sentences) and let.
To is used after make in passive sentences.

Do not use let’s (i.e. the contracted form of let us). Let’s is considered
too informal.

Let is often used when giving preliminaries. The verb after let is in the
infinitive form (without to).

YES NO

The engine makes the wheels go | The engine makes the wheels to go
round. round.

Please let me know as soon as | Please let me to know as soon as
possible. possible.

He was made to write the paper by | He was made write the paper by his
his professor. professor.

Let us now look at Equation 5. Let's now look at Equation 5.

Let X be a compact convex setin a|Let X to be / Let X is a compact
topological vector space Y. convex set in a topological vector j
space Y.

EXERCISES (ACADEMIC GRAMMAR)

A. Choose the correct form.

. Passing / For passing / To pass this exam you need to study / studying.
. For not failing / To not fail / To don't fail / In order not to fail /So as not to

fail | suggest that you study as much as possible.

. To carry / Carrying out this request entails to do / doing a lot of research.

. To live / Living in Europe is often easier than to live / living in Africa.

. To live / Living well in Japan you need a high salary.

. Not to have / To don't have / Not having access to email would be a problem

for most people.

. | visited the mosque before to come / coming to the conference.
. This section is devoted to analyze / analyzing the production process.
. This is dedicated to provide / providing a good service for everyone.

10. This article contributes to understand / understanding how the process works.
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B. Choose the correct form.

|

. We did these tests proving / to prove our hypothesis.
2. Developing / To develop this program entailed carrying / to carry out various
tests.
. One approach is exploiting / to exploit the vast range of software already
available.

. We would like you participating / to participate in our congress.

. They expect having / to have their results ready by the end of the year.

. Itis difficult proving / to prove that x=y.

. That x=y is easy proving / to prove.

. Proving / To prove that x=y is straightforward.

. But going / to go back to what you said earlier...

10. Could you explain that again using / to use different words?

11. I hear you may be able helping / to help out with writing / to write the paper.

12. | was wondering whether you might be interested in joining / to join the
Scientific Advisory Board.

13. Rather than going / to go through each report individually, we have organized
our response under general areas.

14. Thank you for your help in solving / to have solved this problem.

15. We have amended the paper addressing / to address most of the comments
outlined in the referees' reports.

16. The manuscript has been revised following / to follow the indications that you

and the referees gave us.

w
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C. Read the sentences. Underline the words which you would
translate into English with gerund.

1. WN3yyeHne wmexaHmama ob6pas3oBaHUs YrAepoaHbIX HAHOCTPYKTYp Mpu
TepMUYECKOM ncnapeHnn rpaduta B nrasme ABnseTcsl CRoXHOM 3afadven ns-3a
MHOroobpasmsi pasnuyHbiXx aKTopoB, BMAUAIOWNX Ha MpPOLECC, peLlleHue
KOTOPOW HEBO3MOXHO 6€e3 MOoHATUA U AeTanbHOro aHanusa Bcex pa3oBbiX U
CTPYKTYPHbIX NpeBpaLLeHni, NPoONCXoasaLmx B NnpoLecce cMHTesa.

2. XummnoTepanusi B Halle BpeMsi OCTaeTCd OCHOBHbIM Cnocobom reyeHus
3r10Ka4YeCcTBEHHbIX 00pa3oBaHMi pPasnnYHOM NPUPOAbLI.

3. MNMonyyeHHble pesdynbTaThbl NOKa3bIBaOT, YTO TEXHONOIMMSA TEPMUYECKOTO CUHTE3a
YrnepoaHbIX HaHOCTPYKTYpP AdaeT BO3MOXHOCTb MOBbLICUTbL 3GEEKTUBHOCTb
npouecca 3a Cc4éT nogbopa onTUManbHbIX TEXHOMOMMYECKUX napameTpoB
cvHTe3a. [Mopaepxka cTaburbHbIX MapamMeTpoB npouecca HenocpeacTBEHHO
BINUSIET Ha KAYeCTBO U BbIXO[ CUHTE3NPYEMOro Npoaykra.
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D. Look through the articles in your research field. Do the have
verbals? Fill in the the table with verbals in different sections of
research articles:

Introduction Methods Results Discussion

Participle I

Participle 11

Infinitive

Gerund
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Unit 9. Modals

| General Grammar|

Modal verbs are different from normal verbs in that they:

1.

do not denote an action but the speaker’s attitude towards the action
expressed by a verb (in the form of the infinitive without to) that follows the
modal verb to:

I can dance.

have no -s in the third person singular:
He can swim.

have no Future forms or Continuous and Perfect forms. In this case their
equivalents are usually used (to be able to, to have to):

We'll have to go there tomorrow.
have no verbals (Participle, Infinitive or Gerund);

the questions and negative sentences are built without do or did:
a) in questions the modal verb is before the subject:

Can you do it?

- Yes, I can. / No, I can't.
b) in the negative sentence not is used after the modal verb:

He cannot do it.

MODAL VERBS OF ABILITY

1. CAN

She | can play the piano. ability, capability (= she knows how
todoit)

We | can see the river through| possibility due to circumstances
this window. (=the window faces the river)

| cannot move this heavy box. physical ability
can’t

Can

| speak to Mr Brown? asking for permission (usually in
questions)
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é} The past form could denotes only general ability. If the ability relates to a
single event in the past, to be able is used:

I was able to file my taxes online this year.
In negative sentences both are possible:

We weren’t able to get tickets for the concert.
We couldn’t get tickets for the concert.

2. TO BE ABLETO

In the past and the future, it is used as the equivalent of can. In the present,
can is more common:

Michael can easily multitask.
Michael is able to easily multitask.

3. MAY
You may smoke | here. permission
May | | speak to Mr Brown? asking for permission (more
polite than can)
You may not | take more than 5 books prohibition
from the library.

4. TO BE ALLOWED TO

In the past and the future, it is used as the equivalent of may. In the present,
may is more common:

They are allowed to go there.
They may go there.

MODAL VERBS OF NECESSITY

1. MUST

He must do this work today. obligation, duty or necessity
Must | you go now? necessity

Children must not play with matches. strong prohibition
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2. TO HAVE TO

In the past and the future, it is used as the equivalent of must. It has the
meaning of obligation or necessity imposed by circamstances (in
Russian: npuxoanTcsi, BbIHY)XAEH):

They had to do it again.

@ In negative sentences have to means absence of necessity:

You don’t have to go there. (Bam He Hy>XHO TyAa natn.)

But! You mustn’t go there. (Bam Hesnb3s Tyaa matu.)

TO BETO

It means a previously arranged plan or obligation resulting from the
arrangement. It is used in the Present and Past.

We are to meet at seven.

We were to meet at seven.

Compare:
He is to leave for London in two days. He must leave now.
— OH ponxeH yexaTb B JIOHOOH Yepe3s — OH posnxeH cenvac yexarb. (it is
ABa gHs. (itis a plan) an obligation)

3. SHOULD

Should is used for advice or recommendation:
You should talk to a doctor. - Bbl gomkHbl (BaM cregyet, S Bam
COBETYH) M0roBOPUTL C BPAYOM.

He shouldn’t work so much. - OH He gosmxeH (emy He creayet, He
Hafo 6bl) Tak MHOro paborartsb.

If should is followed by Perfect Infinitive (have + V3/Veq4), it means regret
or reproach about what has (or has not) been done:

You should have thought of it before. - Bam Hago 6b1710 nogymars 06
3TOM paHblLUeE.

They shouldn’t have left. - OHu He go/KHBI 6bIIM (MM HE Haao 6biso,
He c/1e40Basio) ye3xarb.
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OTHER FUNCTIONS OF MAY (MIGHT), MUST, CAN (COULD)
DEDUCTION & SPECULATION

Each of these verbs can denote supposition, certainty, uncertainty,
doubt, etc. (In Russian: Bcé moxeTt ciiyuntTbCs. VX AOM AOJ/IKEH HaxoAMUTbCS
rae-To psigoM. IToro He MOXeET 6biTb!)

1. MAY (MIGHT) shows that the speaker thinks that something is possible
but is not very sure. In this meaning may and might (without much
difference in the meaning) are used in positive and negative sentences.
The same meaning can be expressed by perhaps or maybe:

Let’'s wait. They may (might) still come. - fasavite nogoxgém. OHu
eLyé MoryT rnpuunTy.

2. MUST shows that the speaker is quite sure of his / her words. In this
meaning must is used in positive sentences. The same meaning can be
expressed by probably:

They must be hungry. - OHu, AJO/DKHO ©ObITb (HaBepHoeE),
rnporosio4asmce.

3. CAN (COULD) shows that the speaker doubts about something (in
general questions) or thinks it is impossible (in negative sentences):

Can (could) it be true? - Heyxenn 310 npasaa?

He can’t (couldn’t) think so! - OH He moxer Tak gymartb! (He moxert
6bITb, 4TOBbI OH Tak gymMas!)

é} If the action refers to the past, the modal verb is followed by the Perfect
Infinitive (have + V3/Vq):

He can’t have done it. - OH He Mor aTOoro cgenars.

é}é} If the action refers to the present and expressed with a verb denoting a

process, the modal is followed by the Continuous Infinitive (be +

They must be waiting for us. — OHu, 4O/IKHO 6bITb, HAacC XAYT.

@é}é} If the such a verb is used in the Simple Infinitive, the action refers to
the future:

They may still come. — OHu ewé moryT npunTn.
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EXERCISES (GENERAL GRAMMAR)

A. Complete the sentences. Use can if possible; otherwise use to be
able to.

Model:
John has travelled to many countrues. He can speak five languages.

1. I haven't to sleep very well recently.

2. Mary drive but she hasn't got a car.

3. I can't understand Paul. I've never understand him.

4. T used to play chess very well but I can't do it now.

5. 1 can't see you on Sonday but I meet you on Monday
evening.

6. Tell George about your problem. He might help you.

B. Choose can or may.

1.1 come and see you tomorrow, if I have time.

. Do you think you do that?

. What time is it? - It be around six o'clock.

. Only a person who knows the language very well answer
this question.

A WN

5. we come and see you next Sunday at three o'clock in the
afternoon?

6. You read this book. You know the language very well.

7. I help you?

8. I ask you to help me?

9. When you come and see me? - Let me see: 1

come tomorrow but I find some time on

Saturday. Yes, we meet on Saturday around three o'clock.

Is this all right?

C. Choose must or have to (sometimes either is possible).

1. It's later than I thought. I go now.

2. Tom left before the end of the meeting. He go home early.

3. When you come to Moscow again, you come and see us.

4. Last night Kate got ill suddenly. We call a doctor.

5. You really work harder if you want to pass the
examination.

6. I'm afraid I can't come tomorrow. I work late.

7. I'm sorry I couldn't come yesterday. I work late.
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8. James doesn't like his new job. Sometimes he work at
weekends.

9. Barbara may go away next month.
10. We couldn't repair the car ourselves. We get it to a
garage.

D. Complete the sentences with should (shouldn’t) and the proper

infinitive.

1. I am not feeling well. I ate too much. - 1 SO
much.

2. That man on the motorbike isn't wearing a helmet. That's dangerous. — He

a helmet.

3. When they got to the restaurant, there were no free tables. They hadn't
reserved a table. They a table.

4. The notice says that the shop is open every day from 9.30. It is 10 o'clock
now but the shop isn't open yet. It open.

5. The speed limit is 40 miles an hour, but George is doing 60. He

6. We went to London. A friend of ours lives in London but we didn't go to see
him while we were there. When we saw him later, he said:
You .

7. 1 was driving behind another car. Suddenly, the driver in front stopped
without warning and I drove into the back of his car. It wasn't my fault. He

8. I walked into a wall. I wasn't looking where I was going.

E. Translate into English.

1. Bam Hago 6bl NOroBOpMTb CO CreunaancTom.

2. 51 BaM goskeH BCE pacckasaTb 06 3ToM.

3. EMy Hapo 6bl HanUTu apyryto paboTy.

4. Mbl AOMKHbI BblIM BCTPETUTLCS B 5 4acoB, HO OH ono3aan, U HaMm NpULLIOCh
noaoXaaThb.

5. BaM He cnepyeT NoXuUTbCA cnaTbh Tak NO34HO.

6. PexkTtop nosmkeH npuHATbL Hac B 14.00.

7. 30eCb HeNnb3s8 nepexoanTb yauuy.

8. HaM He Haao 6bIn10 TpaTUTb Tak MHOMO BPEMEHMU MOMNYyCTY.

9. ToM foO/MKeH BCTPETUTb HACc B a3ponopTy.

10. A posmkeH paHo BCTaBaTb, MOTOMY UYTO S XWUBY AasieKo OT YHUBEPCUTETA.

11. Bam He cnepyeTt 6pocaTb HayKy.
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Complete the sentences with must or can’t.

F.

1. You've been working all day. You be very tired.

2. This restaurant be very good. It's always full of people.

3. That restaurant be very good. It's always empty.

4. You're going on holiday next week. You be looking forward
to it.

5. It rained every day during their holiday, so they have had
a very nice time.

6. Helen has passed her final exam. She be very pleased.

7. They got there very quickly. They have walked very fast.

8. Pete and Brenda go abroad on holiday very often, so they
be short of money.

G. Translate into English.

1. Bbl, 4OKHO 6bITb, XeneH, Hawa HoBas acCUCTEHTKA. — [la, a Bbl, BEPOSATHO,
Mank. 4 MHOro o Bac cnblwana.

2. Hawum napTHéEpaM MOryT NOHPABUTbLCA 3TU UAEU, HO S HE COBCEM YyBEPEH.

3. OTOT HOoMep TenedoHa He MoXeT 6biTb HenpaBubHbIM. OHMU, BEPOSATHO, BCE
elwé B oTbese.

4. Bbl, MOXeT OblTb, MEHS HEe MOMHUTE, HO S BAaC MOMHIO OYEHb XOpOoLWO. Mol
YUYNNINCb B OAHOM YHUBEpPCUTETE.

5. PobepT cerogHsa 3aecb? — He 3Hat. A ero He Bugen. — A toxe. 'ae 6bl OH
Mor 6bITb? A AO/IKEH C HUM MOrOBOPUTD.

MODALS IN RESEARCH PAPERS

|Academic Grammar

Can versus May
(present and future ability and possibility)

1. Can indicates a characteristic behaviour. When certain conditions are met
or desired, can indicates that things are possible but do not necessarily
happen.

2. May indicates only the potential for something to happen. It indicates
uncertainty and is thus used to make hypotheses, to speculate about the
future, or to talk about probability.

3. Can indicates certainty regarding the future.
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4,

May + Perfect Infinitive (have + V3/Vg4) is used to indicate a deduction
made about a past event.

I The form Can + Perfect Infinitive does not exist.

Sometimes there is very little difference in meaning when may and can
are used in the positive sentence, however can indicates greater certainty
and is therefore preferred in definitions.

CAN

MAY

Bilinguals are people that can speak
two languages.

Bilinguals may sometimes have
learning difficulties when very young.

This situation can be [= This
situation is] quite dangerous when
hydrogen is present in the chamber.
Such dangers can be mitigated by
properly designing the
compartments.

It may be dangerous to speculate
about the possibilities of this actually
happening as so many factors are
involved.

| can see [= | will see] you tomorrow
- what time shall we meet?

| may be here tomorrow, but | am
not 100% sure.

Our sample was only small. Clearly,
this may have affected the results.

In our view, having two systems can
/ may be a more reliable way for
dealing with this problem.

In our view, having two systems can
/ may be a more reliable way for
dealing with this problem.

A university can be defined as a
place of advanced learning.

A university may be defined as a
place of advanced learning.

Must, Cannot, Should
(deductions and speculations about the present)

. Must is used for drawing logical conclusions in the positive form; have to

is not generally used in such contexts.

. Cannot is used for drawing logical conclusions in the negative form.

Should indicates what is likely (but not certain) to happen.
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YES

NO

equal three.

If X=1and Y = 2, then X + Y must

IfX=1and Y =2, then X+ Y has to
equal three.

equal five.

If X=1and Y = 2, then X + Y cannot

If X=1and Y = 2, then X + Y must
not equal five.

If the two substances are mixed
together, they should go red. However,
occasionally the mixture is brown.

If the two substances are mixed
together, they must go red. However,
occasionally the mixture is brown.

2.

Could, Might (not)
(deductions and speculations)

Could is often used to suggest a possible course of action.

Might indicates a possible reaction to or consequence of a course of
action - but there is no certainty that this reaction or consequence will

take place.

The difference between could and might is sometimes very slight -
could has the sense of certainty, while might of uncertainty (this may or

may not happen).

Sometimes could and might can be interchangeable.

Could not is not used to make speculations, instead cannot is used;
might not means that there is a possibility that something is not true.

COULD

MIGHT

Future research could be directed
towards elucidating this pathology.

Such research might then reveal
the true causes of this pathology.

If we had more energy then we could
certainly increase production.

We might be able to increase
production, but only if the following
set of requirements were all
complied with.

These factors could

interpreted as being indicative of...

[=can] be

Unfortunately, the referees might
[=may] interpret our findings as
being indicative of ...
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4 | The temperature then rises | The history of the world could /
dramatically. This effect could /| might be categorized as a series of
might be due to ... and this could | random events.

/might explain why ...

5 | This cannot be the reason why the | This might (may) not be the reason
first two experiments gave very|why the first two experiments gave
different results. There must be | very different results. There is a
another reason ... possibility that there are other
explanations ...

Should
(obligation and recommendation)

1. Should (not) is used to make strong recommendations (rather than
giving direct orders).

2. Should is often found in Conclusions, when the authors give their
recommendations to other authors regarding possible directions for future
work.

3. To avoid sounding arrogant, be careful how you use should when saying
how your findings, applications, methodologies might be useful for other
people - prefer may or phrases like We believe that... .

YES NO

1 | Special glasses should be worn in the
lab. Computers should not be turned
off without first being prepared for
shutdown.

2 | Future work should address the need | Future work must address the
to... need to ...

3 | Our approach may also be useful for | Those working in the field of
those working in the field of medicine. medicine should also use our
approach.

3 | We believe that an important feature of | An important feature of any future
any future work should be an attempt | work should be an attempt to ...
to ...
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E

XERCISES (ACADEMIC GRAMMAR)

A. Choose can or may: negative.

1

1

. This paper analyses why many African Americans cannot / may not be
participating in clinical trials.

. We begin from the premise that what you see cannot / may not always be what
you get. In fact, in some cases...

. We believe that sequence identity cannot / may not be sufficient to guarantee
that the right species is indentified.

. However, the alcohol content of wine cannot / may not possibly be the sole
explanation for this phenomenon. We believe that there are at least three other
feasible explanations. Firstly,...

. The advice contained in this document cannot / may not be suitable for your
situation. In addition, some content that appears in this document cannot /may
not be available in electronic formats.

. It is possible that an increase in inflation cannot / may not necessarily damage
the economy.

. These levels correlate with brain damage but certainly cannot / may not be
attributed to brain damage alone.

. We have designed and developed a walking toy that cannot / may not stop
moving unless switched off.

0. This drug can be prescribed to patients who cannot / may not be treated with
conventional medicines due to allergies and side effects.

B. Choose can, could or might: negative or positive.

1

N

4.

. A greater understanding of our findings can / could lead to a theoretical
improvement.

. Although this is a small study, the results can / could be generalized to several
areas.

. Further studies are needed to determine whether these findings could / might

be applied to mechanical components.

Our findings could / might be applied quite reliably in other engineering

contexts without a significant degradation in performance.

. Our research only focuses on the situation in China, whereas it can / might be
important to include Korea as well. In fact, the inclusion of Korea would enable
us to...

. These findings could / might be exploited in any situation where predictions of
outcomes are needed.

. Unfortunately, our database cannot / might not tell the exact scale of Chinese
investment overseas. Consequently we cannot / could not conclude that...
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8

. We only had a limited number of samples. A greater number of samples can /
could lead to a different set of conclusions.

C. Choose could or might: negative.

1.

One reason for this discrepancy is that the apparatus could / might not have
been sensitive enough to detect minor constituents; alternatively, the sample
could / might have become contaminated with the air.

. We would like to thank Professor Wallwork without whose help this study could
/ might not have been completed.

. This could / might be explained by the fact that some severe cases could /
might not have been diagnosed correctly because of a lack of appropriate
facilities in the hospital.

. In each case, we found that x and y were identical in structure. This means that

they could / might not have been discriminated in terms of this structure, but

only in terms of their behavior.

These results clearly prove that the event could / might not have been a

mere coincidence, but rather, that it must have been an integral part of the

process.

. Although some of the contributing factors could / might not have been detected
by this pilot study, the results nevertheless show that...

. The same results could / might not have been obtained with the multispectral
satellite data that is currently available, since they are not reliable enough.

. Their support, without which this work could / might not have been done, is
gratefully recognized.

. This operation could / might not have been performed successfully on human

beings without the preliminary years of work on animals.

10. We could / might not do all the tests within the allocated time, in fact we only

managed to do three out of five.

D. Choose could or might: positive.

1.

As could / might have been predicted from the relative lack of cross-reaction
with digitoxin, the results show that...

. If subjects with long experience of such side effects had been consulted, the
trial could/might have been designed differently or, more probably, could /
might never have started.

It is an appealing idea to hypothesize that these effects could / might be
responsible for the discrepancies.

. Such a correlation could / might have been predicted a priori, since patients in
Group 1 also exhibited an expected tendency to be affected by the drug.
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5. The result constitutes what could / might be described as a breakthrough in the
field.
6. A number of criteria could / might be suggested for finding the best fit.

E. Choose various modal verbs or alternative forms.

1. We weren't allowed to / couldn't go in the museum because we didn't have
enough money.

2. We weren't allowed to / couldn't go in the church because we didn't have the
right clothing.

3. We had to spend / should have spent more than we were expecting, but

we're happy with the result.
. You shouldn't have done / didn't have to do it without asking my permission.
. We should have spent / would have had to spend twice as much if we'd gone
via Bangkok.

. You should / have to try doing it like this.

. You should / have to wear a seat belt when driving in the UK.

. You were supposed / had to be here at 8.00 — where have you been?

. They had /were supposed to do this yesterday, why didn't they?

10. I had / was supposed to go to Paris yesterday but there was a strike.

11. The meeting had / was supposed to start at 10.00, but by 10.30 only half the
people had arrived.

12. We should have tried / were supposed to try to get them to lower the price,
then we would have got a better deal.

13. You should have told /would have had to tell me that you were going to
London, | could have given you some ideas on where to stay.

14. 1 had / was supposed to give a presentation and although | was terrified it
actually went very well.

o b~

© 00 N O

F. Choose can, could, may or might (1)

DISCUSSION

Our findings highlight that most species of dog show significantly higher levels of
intelligence than cats. Of course, the opposite (1) can / may also be possible. In
fact, it (2) cannot / may not be ruled out that certain species of cat, for example,
Siamese, show intelligence traits that are remarkably similar to those of dogs. We
suggest that other factors besides intelligence (3) can / may be involved, such as
the visual and olfactory senses. This implies that, in a restricted number of cases,
cats (4) can / could be considered as being more intelligent. It (5) can / may be
premature to reach such conclusions, and clearly there (6) can /may be other
possible interpretations for our findings. However, we believe that our findings are

~103 ~



clear evidence of the superiority of dogs, particularly labradors, over cats of nearly
all species. We do not know the exact reasons for the discrepancy between our
findings and those of Santac [2016], but it (7) can / might reflect feeding habits. In
fact, it is widely believed that feeding habits (8) can /may favor intelligence, but we
propose that such habits (9) can / may in some cases have absolutely no effect
whatsoever.

G. Choose can, could, may or might (2)

DISCUSSION

There are several aspects that (1) can / could be further researched and parts of this
experiment that (2) may / could be improved. New areas to research (3) might /
could include using different tasks for subjects to undertake. One reason why there
were no significant differences found between feedback conditions (4) can / could
have been that the feedback given to subjects did not have sufficient impact. The right
kind of feedback (5) can / could generally make a significant difference to the results
[Cohen, 2014]. In our case, instead of telling participants that they performed "above"
or "below" average, a more meaningful statement (6) might / could have been used
that gave the same type of feedback with more power. A larger subject pool (7) can /
might help fix this problem. In addition, we believe that having a wider variety of
participants (8) can / may also help with generalizability of results.

Practise Modals online:

http://www.myenglishpages.com/site_php files/grammar-exercise-modals.php
www  hitp://www.perfect-english-grammar.com/modal-verbs-exercises.html
http://www.grammar-guizzes.com/modalquiz.html
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Unit 10. Noun Phrases

| General Grammar|

Academic style is characterized with nominalization — a wide use of nouns
(in contrast to verbs).

The most common phrase type is Adjective + Noun:
an old film

If the noun is preceeded by several adjectives, their order is very important:

1. opinion:
an important event
2. appearance (size, shape, age, colour):
a big box
3. origin:
a Swiss watch
4. material:
a leather jacket
5. purpose (often with -ing):
a writing desk

E.g.: stylish grey American leather running shoes

é} OpSASh COMP formula can help you memorise the order of adjectives:
Opinion - Size - Age - Shape - Colour - Origin - Material 2 Purpose

é}é} Collocation (=compatibility) of nouns and adjectives is different in English
and Russian:

cunbHoe aBmxxeHue — heavy traffic
cnabobin aHrnmnckmnimm — poor English

To check if the words collocate in English, the following dictionaries can
help:

m https://www.macmillandictionary.com/
¥ http://www.freecollocation.com/
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Phrases consisting of TWO NOUNS can be of three patterns:

1. -'s genitive:
John’s house

2. —of-phrase:

the end of the road

3. —=Noun + Noun:
a tennis ball

-'s genetive

of-phrase

Noun + Noun

Possession (Whose?)

1) people:

the teacher’s question —
the students’ tests

(with plural nouns we add
apostrophe ‘ only)

2) names:

Sam'’s job

3)

organizations and

companies:
the government’s policy

4) time and distance:

a minute’s pause
mile’s distance —

—a

5) geographic names:
Europe’s future

Restrictive meaning

(usually used with the definite
article the)

1) Belonging (with the nouns
which are not used with -’s):
the foot of the mountain

2) Specification:

the colour of amber

the head of the department

Description (with the
indefinite article a):

1) quality:

a book of interest

2) amount or quantity:
a temperature of 20

a fine of 15 dollars

3) composition:

a group of students
4) material:

aring of gold

5) contents:

a glass of water

The first noun
defines the second

(— What kind of ...?):
aroad accident

1) belonging (part of
the whole):

a car key
2) place:
a kitchen table

3) purpose:

a can opener — (to
open cans)

4) material:
a cotton shirt

5) container:
a coffee cup

6) amount or quantity:
a five-litre tank

7) regularity:

the evening news

~ 106 ~




EXERCISES (GENERAL GRAMMAR)

A. Underline noun phrases in the following text. Define their type.

Aerospace engineering today is the discipline of creating
aerospace systems, primarily various types of aircraft, rockets,
missiles, satellites, space ships, aerodynamic decelerators,
lighter-than-air platforms, and other airborne and spaceborne
systems. Since its inception with the advent of powered flight at
the beginning of the twentieth century, aerospace engineering
has been presented with repeated challenges and undergone
remarkable transformations. During its earliest years, the
emphasis was primarily on understanding the aerodynamics and
control principles needed to develop increasingly safer and
more capable aircraft configurations, and on the development of
improved reciprocating engines

B. Place the adjectives in the proper order.

Model:
school / French / famous / business -
a famous French business school

Chemistry / young / student / brilliant
large / box / storage / plastic

Ikea / desk / new / office

boat / model / splendid / old

stamps / postage / valuable / Australian

. table / small / coffee / wooden

N O U N wN e

new / long / Japanese / black / pen / wooden / nice

C. Using a dictionary (Macmillan Dictionary or Online Oxford
Collocation Dictionary), find the best translation of the following
Russian phrases into English:

OrPOMHbIE U3MEHEHUS
ymncTasa npaBaa

. TSHKEénaga 3agada

AW oe

. 3aKNATbIN Bpar

~ 107 ~



D. Using Macmillan Dictionary, find the adjectives that collocate with
the following nouns. Find the Russian equivalents for the phrases
you made:

1. occurrence
2. majority

3. obstacle

E. Rephrase the following using the noun + noun pattern:

Model:
a ticket to a theatre - a theatre ticket

1. a magazine about cars -

2. photos taken on holiday -

3. somebody whose job is to inspect factories -
4. a hotel in Moscow -

5. the results of a test -

6. a scandal with a football club -

7. a system that has two parts -

F. Make phrases with the following words. Use 's genetive where
possible:

Model:
the owner / this shop - the owner of this shop
the father / Jack - Jack’s father

1. the coat / that woman

2. the bottom / the page

3. the son / Mary

4. the cause / the changes

5. the newspaper / today

6. the name / that square

7. the new manager / the firm

8. the result / the basketball game
9. the ground floor / that building

10. the economic policy / the state
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G. If the noun is preceded by two or more attributes, it may be
difficult to understand their relations, e.g.:

a small car factory - a small factory that makes cars or a factory that
makes small cars?

To avoide ambiguity, the hyphen may be used:

a small-car factory - a factory that makes small cars
Use the hyphen in the following phrases.

1. blue lined paper

2. light gray laptop computer

3. artificial heart valve

4. dominant group member

5

. rapid release mechanism

Avoiding of

Repetition of preposition of in one sentence (or title) is often considered as
bad style. It can be avoided by:

1. word exchange - most English nouns turn into adjectives if they are
put before another noun:

members of the board — board members

2. 's genetive:
the economy of the country — country’s economy

3. gerund:
development of software — developing software

4. infinitive:
the right of voting - the right to vote

5. for:
algorithm of analysis - algorithm for analysis
Reword the phrases to avoid of:
. opportunities of a career

. the success of the company

. the door of the office

H.

1

2

3. the solution of a problem
4

5. the population of Russia
6

. the plan of losing weight
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NOUN PHRASES IN RESEARCH PAPERS

Academic Grammar

Noun + Noun

In academic writing noun + noun phrases help to express complex ideas in a
concise way through a variety of relationships:

Sourse - shale gas = gas that comes from shale
Purpose - defence systems = systems that are used for defence

Specialization - accounts manager = a manager who is in charge of
accounts

Composition - lead walls = walls made of lead
Content - linguistics essay = an essay on/about linguistics
Location- back pain = pain in the back

Time - weekend job = a job that takes place at the weekend

The first noun in these combinations is usually singular (trairs train
timetable - pacnucaHue ABWXEHUS Noe3anoB, wmarkets market crash — obsan
pblHKOB), unless it is always plural (e.g. linguistics as a subject) or generaly
plural (accounts as a department in a company). Nouns that are often used in
the plural include: arts (arts centre), arms (arms manufacturer), sales (sales
figures).

Sometimes you can use noun + noun + noun: accident research centre,
government press release, business opportunities conference. In such
combinations, the key noun (modified by others) is the last one:

project team l|eader = a person who leads the team of people who
develop a project

When we translate these combinations into Russian, we usually start with the
last noun:

PYKOBOAMUTE/b KOIIEKTUBA Pa3paboTuynMKoB NpoeKTa

Noun + and + noun phrase can also modify the following noun:

A trial and error approach is sometimes the best way forward in scientific
research.
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EXERCISES (ACADEMIC GRAMMAR)

A. Complete the sentences with one of the words or phrases in the box.

water  European Union member  market arts
research  protest cash family law and

1. There are normally maximum limits on withdrawals
from ATMs.

2. order debates in Parliament on matters such as the
latest crime figures normally attract a full house.

3. movements against government cutbacks are already

taking place in the UK.
4. Growth in the number of Vietnam's telecom companies has been so strong

that there are now indications of saturation.

5. Since 2007, there have been 27 states.

6. The role of the doctor has been weakened by the
transience of local populations.

7. supplies to rural communities have been put at risk
by the drought.

8. The Getty Foundation is a major source of funding,

particularly in the area of museums and archives.

Noun + Prepositional Phrase
Nouns can also be modified by prepositionsl phrases (noun + preposition),
e.qg. for, in, or of:
Public protests can sometimes lead to a change in the law.
Sometimes these phrases can be longer and more complex:

There is a risk of reaching a simplistic rather than useful
conclusion if the enquiry is rushed.

Certain nouns are followed by particular prepositions:

for - demand, case, motivation, reason, advertisement, application, basis
(also basis of), need, preference, request, respect, substitute:

In the latest poll, a majority of those taking part expressed a
preference for the 'first past the post' electoral system.
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in — decrease, drop, fall, reduction, increase, rise belief, change (also change
to), interest:

There was a sharp rise in inflation in the first quarter of 2009.

into - enquiry, investigation, research (also research on/in) insight (also
insight on):

Studies of chimpanzees can provide an insight into/on human
behaviour.

of - analysis, examination, exploration (also examination/exploration into)
example, type, means, method, way, cause, cost, description, dozens,
experience (also experience in), idea, importance, knowledge, lack/shortage,
level, opinion, part, risk, study (also study into), victim:

An analysis of the data shows which illnesses are likely to be
exacerbated by stress.

é) Preposition into suggests a deeper analysis than of:

an examination of the photo
an examination of/into the causes of the conflict

on - article, assignment, book, dissertation, essay, lecture, project, work
attack (also attack against), ban, emphasis, expert (also in), tax:

Some commentators see a ban on smoking in open-air spaces such as
parks as the logical next step.

@@ About can follow article, book, essay, lecture and project but sounds less
precise and more informal.

to - approach, alternative, answer, attention, damage, introduction,
response, right:

Protestors argue that wind farms cause visual damage to the
environment.

towards/to - move, movement, progress, attitude:

Progress towards meeting the provisions of the Kyoto agreement has
been worryingly slow.
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advertisement for
alternative to
analysis of
answer to
appetite for
application for
approach to
article on
assignment on
attack against
attack on
attention to
ban on

basis for

basis of

belief in

book on

case for
cause of
change in

change to

Nouns + prepositions

cost of
damage to
decrease in
demand for
description of
dissertation on
dozens of

drop in
emphasis on
enquiry into
essay on
examination of
examination into
example of
experience in
experience of
expertin
expert on
exploration into
exploration of

fall in

idea of
importance of
increase in
insight into
insight on
interest in
introduction to
investigation into
knowledge of
lack of

lecture on
means of
method of
motivation for
need for
opinion of
part of
preference for
project on
reason for

reduction in
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request for
research in
research into
research on
respect for
response to
right to

rise in

risk of
shortage of
study into
study of
substitute for
tax on

type of
victim of
way of

work on



B. Complete each sentence with a preposition.

1. There have been a number of recent articles what is
perceived as abnormal worldwide weather patterns.

2. As an alternative conventional cars, hybrids still have
a great deal to prove to the would-be consumer.

3. An investigation the train crash resulted in a
substantial fine for the track maintenance company.

4. James Hopper is the second CEO in recent weeks to complain about a

shortage young UK entrepreneurs.

5. There is no substitute practical, on-the-job training.

6. A move vegetarianism is particularly prevalent
amongst teenagers.

7. Some victims identity theft have found themselves
liable for their losses through their personal behaviour.

8. There is a growing interest ecologically-sustainable

ways of heating domestic properties.
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Unit 11. Articles

| General Grammar|

In a very simplified way*, the use of articles can be presented as follows:

A/An
(only with countable
nouns in the singular)

The

7]

(zero article)

Something IS
mentioned for the first
time:

| have read a book.

We don’t know about
this book yet

Something has been mentioned
before:

The book was interesting.

This is the book | have just talked
about.

Instead of A/An with
countable nouns in the
plural:

They are engineers.

Classifying:
He is an engineer.

He is one of many
engineers.

Something is known from
common experience:

The library is closed on
Monday.

The library that we usually use.

Instead of A/An with
uncountable nouns:

Water is life.
Knowledge is power.

Generalization:

An animal can be
trained.
Any animal can be
trained.

Something is unique:
The earth goes around the sun.

There is only one earth and one
sun.

With proper names:

Jim Connor is our new
engineer.

After There is:

There is a mistake in
this report.

There is a limiting attribute**:

What is the name of the man
talking to Jeff?

= of that particular man

If the noun is preceded
by a pronoun:

some water
my computer
this book

If the noun is preceded by a
ordinal number:

They live on the ninth floor.

If the noun is preceded by a
superlative adjective:

The Volga is the longest river in
Europe.

* For a simple Russian explanation of the use of articles see Appendix 4.

** |limiting attribute is a phrase or clause that indicates such a quality of an object (a
number of objects) which makes it distinct from all other objects of the same class
or kind.
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é’ limiting phrases are often made with of:
He started the engine of the car.

@ The noun that is the Subject of the sentence is usually known to the
speaker and listener and therefore is used with the definite article:

The new computer is very fast.

@ When we talk about location of something, we usualy use the definite
article:

The new computer is on the desk.

é The noun after have is usually something new and therefore often used
with the indefinite article (but only if there is no limiting attribute):

We have a new computer.
BUT
We have the computer that can perform these calculations.

alan some
singular plural some
countable uncountable the no article is

not known known necessary
specific general

Articles make up a number of set expressions that should be remembered
(See Apendix 5 "Set Expressions with Articles”).

The following algorithm can be useful (though not 100% accurate) when
chosing an article:
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. No
l Is it a noun? : article

YES

Countable?

YES NO

. Is it known from the context or experience?
Singular?
YES ' NO

NO
Is it the subject? Is it known from the
context or experience?
YES NO THE Is there a limiting attribute?
NO

Is it the subject?

YES NO
HE

YES

I

Is there a limiting
attribute?

Is there a limiting
attribute?

Does it start with a limiting attribute is a phrase or
CREEELY clause that indicates such a quality of
an object (a number of objects) which
makes it distinct from all other
objects of the same class or kind.

\. J
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EXERCISES (GENERAL GRAMMAR)

A. Which of the following nouns are countable and which are
uncountable? Distribute them in two columns. Remember that
some nouns can be countable in one meaning and uncountable - in
another.

activity, advice, aircraft, behavior, business, clothes, data,
department, email, engineering, equipment, euro, experience, figure,
gold, hardware, idea, information, job, knowledge, laboratory,
machine, machinery, metal, money, news, noise, office, page, paper,
people, person, product, programme, progress, recommendation,
report, research, safety, software, space, traffic, work

Countable Uncountable

________________________________________________________
________________________________________________________
————————————————————————————————————————————————————————
________________________________________________________
————————————————————————————————————————————————————————
————————————————————————————————————————————————————————
________________________________________________________

————— — — — — — — ——— ————— . — — — — ——— —— Y Y, Y, N, Y, S, Y N Y ———— . — — — — — — — — —
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B. Without translating the sentences into Russian, decide which
articles should be used with the words in bold.

. benukoB He Bbixoaun n3 goma 6e3 rasow v 30HTHUKA.

. HepaBHO s mo3HakoMuncs ¢ 04HUM MOPSIKOM.

. He npoexanu Mbl 1 kmsomerpa, Kak CloMasioCb KOJ1€Co.
. Y Bac ecTb ypHas noumtatb?

1
2
3
4
5. Y MeHs cenyac ecTb XypHaJibl, HO 1 HE AyMal0, YTO OHU UHTEpPECHbIE.
6. 51 He Kypto curapbl, He MOrnn 6bl Bbl MHE faTb curaperty?

7. 4Apyr TaKk He NocTynaerT.

8. OH NbéT Yyal He U3 YallKM, a U3 CTaKaHa.

9. AIBepb 3aKpbiTa.

10. Y Bac ecTtb Tes1e¢poH?

11. TenegpoH onsaTb CcrioMancs.

12. Ha nnowagmn TeMHo.

13. Bbl ntobute cobak?

14. He gppa3Hun cobaky, oHa Tebs yKyCuT.

15. He rnagb cobaky, ecnu Tbl €é He 3Haelb.

16. Pyuka He nuwerT.

17.Y Bac eCTb py4Ykm B rnipogaxe?

18. 'ae 9 Mory KynuTb nasbTo?

19. 'ae Bbl KyNunv nasabTo?

20. B aToM MarasunHe 6oraTbin BbiI6GOp MasibTo n nNjiaTtbeBs.

21. MHe HY>XHO CHATb KOMHAarty.

22. [poBeTpu KOMHarTy.

23. Hosx He pexer.

24. Y 1ebs HeT HOXKa?

25. Bo3bMu HOXK 1 oTpexb cebe xneba.

26. Mbl He 3Hanu, 4YTO 34€eCb eCTb 03€epo.

27. O3epo - rnybokoe.

28. 3aMok cnomarncs.

29. KoMy 4 Mory otaatb NOYMHUTL 3@MOK?

30. Tbl He 3HaeWb, rae YNHAT 3aMKH?

31. He 3abyab KynnTb 3aMOK.

32. Y Hac cerogHs anesibCUHbI Ha OecepT.

33. AnenbcuHbl B byderTe.

34. Bo3bMu cebe anesibCuH.

35. AnesibCHUH He KUCNbIN?
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C. Is the use of articles correct (v)) or wrong (%) in the following
sentences? Correct the wrong ones.

Model:

LoOoNOU R WNH

What is on television today? - v

What is name of this square? - x ... the name ...

Our office is on tenth floor.

Which is best restaurant in your town?
What time is dinner?

How far is it to city centre?

They are going to London at end of September.

What are you doing next Sunday?
What’s longest river in world?

They were at conference last month.
. Your file is on top shelf on left.

10. They want to discuss the following questions.

Practise Articles online:

https://www.usingenglish.com/quizzes/216.html

21 http://englishteststore.net/index.php?option=com_content&view=article&id=58&Iltemid=453
www
7 http://www.myenglishpages.com/site php files/grammar-exercise-articles.php

http://www.grammarbank.com/articles-exercises.html

ARTICLES IN RESEARCH PAPERS

O versus The

Zero article:

1. In the plural: computers, books.

2. Uncountable: hardware, information.

3. Abstract nouns (either singular countable or uncountable: life, success,
performance.

4. Some nouns change meaning if they are used with or without the.

5. Titles to papers occasionally omit the article of the first noun. Both forms
(i.e. with and without articles) are common.

6. Captions to figures often omit the definite article.
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7]

THE

Oracle do not sell computers.

The computers that we have at our
institute are ...

Research is essential if progress is to
be made.

The research that we have

conducted so far proves that ...

There was a significant effect of the
road conditions on speed.

The speed of the car was optimal.

The probe has been launched into
space.

The space between A and B must
be wide enough to accommodate C.

Development and validation of a test
to measure competence in English.

The development and validation of
a group testing of logical thinking.

Figure 1. Average rainfall 2010-

2020.

We predicted the average rainfall
for 2020.

O versus A/An

1. A / An must be used before a singular countable noun, the zero article
before an uncountable noun : a computer, a test.

2. A / An must be used before names of instruments, pieces of equipmewnt,
etc.

3. With reference to an academic position:
a / an refers to a job that is held by several people;

the zero article is used when stating a specific job position that is only
held by one person.

A / AN 7]

You cannot travel there without
providing information about the
reason for going.

1 |You cannot travel there without a
passport or without a visa.

2| A Thermoquest Trace GC gas
chromatograph with a PTV injector
and coupled with an ion trap mass
spectrometer PolarisQ was used.

We used equipment located in our
laboratory.

She is Professor of Education at

3| She is a professor, not a senior _ :
the University of Atago.

researcher.
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Contradictory usage of articles in scientific English

NORMAL ACCEPTED USAGE

ALSO POSSIBLE IN SCIENCE

After the incubation, all complexes
were analyzed on 0.8 agarose gels
and electrophoresed in TBE.

After incubation, the number of
bacteria was determined by a direct
count.

Title: The effects of salinity on dry
matter partitioning and fruit growth in
tomatoes grown in nutrient film
culture.

Title: Fruit Yield and Quality in
Tomato.

Those compounds which have been
most effective on wheat have
invariably  been  proportionately
active on the tomato.

Lycopene, found primarily in
tomatoes, is a member of the
carotenoid family.

In this study, we describe a
recessive mutant of tomato.

An analysis of the data showed that

Analysis of the data showed that ...

A further analysis of the data
showed that ...

Further analysis of the data

showed that ...

The total amount of protein was
determined by spectrophotometry
using BSA as a standard.

The protein content of each well was
then determined using the Pierce
protein assay, using BSA as
standard.

We may assume without any loss of
generality that the quantity “M(ca)” is
computable for any M.

Without a loss of generality we
assume that E{|ni[} = 1.

For simplicity, and without loss of
generality, we will assume that ...
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EXERCISES (ACADEMIC GRAMMAR)

A. Choose the correct article (the or 9).

(1) The / @ researchers have a very privileged position as they are paid to
do what they like doing. (2) The / @ researchers in industry tend to be paid
more than (3) the / O researchers at university. (4) The / @ researchers at
Manchester University are studying ways to improve English as a language of
international business communication: the project is called Bizglish. (5) the /
@ only researchers in the project who are not being sponsored by the British
government are those from abroad. (6) the / @ Researchers who started the
project have now all left the team. There are two types of researchers
involved in the project. (7) the / @ researchers who are studying the ways
mother tongue speakers communicate and (8) the / @ researchers studying
the way non-native speakers use English. (9) The / @ researchers who are
studying the way non-native speakers use English have provided the most
interesting results so far. (10) The / @ researchers that I met yesterday told
me that the project was going very well.

B. Check your answers to exercise A by answering the questions
below. If your answer indicates that the researchers in questions
are specific researchers, then you must put the. The numbers
below refer to the numbers in ex. A.

1) Are we talking about specific researchers that we've already mentioned, or
all researchers?

2-3) Are we talking about specific researchers that we have already
mentioned, or essentially all researchers in industry and all researchers
at university?

4) Are we talking about specific researchers at Manchester University that we
have already mentioned, or just some researchers at Manchester
University that we have not already mentioned?

5-6) Have these researchers already been mentioned in some way? Are they
defined in some way? Are they specific researchers or simply
researchers in general?

7-8) a) Have these researchers been explicitly mentioned before? b) Could we
say: some researchers are studying non verbal ways in which we
communicate and others are studying the language we use? c) Could we
say (in a similar way): There are two types of researchers involved in
the project: English researchers and foreign researchers?
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9) Have these researchers already been mentioned? So, are they specific?

10) Does this mean all researchers, some researchers, or very specific

researchers?

C. Choose the correct article (the, a/an vwnn 9).

1.

This paper investigates the / @ effect of the / @ removal of gas, vapor,
dust and aerosol from the / @ atmosphere.

. The / An examination of the / @ samples showed significant variability in

terms of the / @ weight in the / @ presence of high values of FT3.

. The / @ sample is indicated with a / an/ the / @ * and contains garlic (a

/ an / the / @ ingredient used in adhesives in paintings).

. The / @ solution was added immediately after the / @ weighing.

5. The / @ values observed are influenced by many factors such as the / @

pre-heating of the / @ oil media before use, the / @ age of the paint, the
/ @ conservation environment, and the / @ effects of radical reactions
initiated by the / @ pigments.

. Choose the correct article (the or 9).

. The / @ aim of this paper is to review all the / @ relevant works in the /

@ literature.

. We wanted to test for any toxic effects of copper in fruit. The / @ Samples

of the / O fruit were collected at the / @ harvest time to test for the / O
residues of copper in the / @ edible parts.

3. The / @ presence of copper contaminants was confirmed by GC-MS.

»

S 4

10.

The / O snow samples were analyzed after the / @ melting. These
samples were then ...

In general, the / @ formation of the / @ clouds seems to depend on ...
Using this toothpaste totally prevents the / @ plaque formation.
The / O force triggers the / @ mechanism described above.

The / @ Blakes’s hypothesis suggests that the / @ Boolean value cannot
be estimated in such cases.

With regard to the / @ passive immunization, the / @ administration of an
antibody that recognizes the disease in the / @ patients with the / @ mild
to moderate symptoms is very useful.

The / @ rapamycin is a naturally occurring compound with the / O
immunosupressant activity that is used to prevent the / @ organ rejection,
especially in the / @ kidney.
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Ul

. Choose the correct article (the nnun 9).

This can be seen in the / @ figure.
The / @ Table 1 highlights that ...
Please see the / @ appendix for further details.

This is highlighted in the / @ Results (the / @ Sect. 3.4) and commented
on in the / @ Discussion (the / @ Sect.3.5).

. This is the / @ story of my life.

6. I work at the / @ Dept. of X at the / @ University of Shanghai in the / O

7.
8.
9.

10.
11.
12.
13.

14.

15.

China. Before I worked in the / @ UK.

We found that the / @ 15% of these samples were contaminated.

I was the / @ best student in the / @ class.

The / 9 pollution has significantly affected the / @ environment.
The / O Italians are not very patriotic but the / @ French are.
The / @ most of the / @ samples were tested using this method.
We carried out this research the / @ last year.

There is a congress in the / @ last week of September the / @ next
year.

We found this data on the / @ Internet, but it is not referred to in the
/ O literature.

The / @ knowledge of the mechanisms involved is essential. But the /
@ knowledge we currently have is insufficient.

Articles used in set expressions in academic texts are given in Appendix
5 Part II
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Appendix 1
Grammar terms

active voice — deiicmeumenvhutit 3a102. Cm. Voice

adjective — npunazamensnoe — Tax *xe Kax U B pyCCKOM S3bIKE, 03HAYAET
IIPU3HAKK, CBOWCTBA M KadecTBa MNPEAMETOB. B mpemiokeHuH, Kak
NpaBujIo, BBICTyNaeT B (QYyHKUMU onpeAeneHus. Mwmeer creneHu
cpaBHenus (degrees of comparison):

v' CpaBuurenbHas (comparative) — mokassIBaeT, 4To OAMH IPEIMET
WU JIUIO 00JIalaeT KaKuM-JTMOO MPU3HAKOM B OOJIbIIIEH CTENEHHU,
geM JApyrod mpenMer wind Juio. OOpa3yeTcs ¢ IMOMOIIBIO
cybdukca -er qs koporkux cios (long — longer) u cnoBa more —
JUIs JUTMHHBIX (Interesting — more interesting).

v' IlpeBocxoxuas (superlative) — mokaseIBaer, 4TO OAMH IPEIMET
WU JIUIO 00JIalaeT KaKuM-JTM0O MPU3HAKOM B OOJIbIIIEH CTENECHHU,
4yeM Bce ocTaibHble. OOpa3zyercst ¢ nmomoibio cyddukca -est mms
kopotkux cioB (long — longest) u cioBa MOSt — I ATMHHBIX
(interesting — most interesting). OObuHO YyHmOTpeOISETCS C
OIPEIECIIEHHBIM aPTUKIIEM.

Adverb - mnapeuue — cnoso, o6o3HaualOIEe NPHU3HAK JCHCTBUS
(cocTosiHMs) WK KauecTBa. [ensrcs Ha:
v’ mapeums obpaza naeiicteus (Adverbs of Manner): well, badly,
quickly, slowly, etc.;
v" napeuus Bpemenn (Adverbs of Time): today, soon, now, late, etc.;

v' mapeuns dactotsl ¥ nosropsiemoct (Adverbs of Frequency and
Repetition): often, never, always, sometimes, etc.;

v mapeunst mecra (Adverbs of Place): here, there, above outside,
downstairs, etc.;

v mapeuns crenenu (Adverbs of Degree): very, quite, much, little,
too, etc. u npyrwue.

Tak e Kak M MpuiaraTebHOE, UMEET CTeNeHH cpaBHeHus (degrees
of comparison).

adverbial clause — npudamounoe oo6cmoamenbcmeennoe npeodoiceHue.
Cwm. Sentence

adverbial clause of cause (reason) — npuoamouHoe
obcmoamenvcmeennoe npuuunsvt. Cm. Sentence
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adverbial clause of condition — npudamounoe oocmosamenvcmeennoe
ycaosua. Cm. Sentence

adverbial clause of manner — npudamounoe odcmosamenvcmeeHnoe
obpasza oeiicmeusn. Cm. Sentence

adverbial clause of place — npudamounoe ob6cmosamenbcmeeHHoe
mecma. Cm. Sentence

adverbial clause of purpose — npudamounoe odcmosamenbcmeeHHoe
ueau. Cm. Sentence

adverbial clause of reason (cause) - npuoamounoe
oocmoamenvcmeennoe npuuunst. Cm. Sentence

adverbial clause of time - npudamounoe oo6cmoamenvcmeenmnoe
spemenu. CM. Sentence

Adverbial Modifier - oocmoamenvscmeo — osnavaer pasznuuHble
XapaKTePUCTUKU JEHCTBHS, a TAK)Ke CTENEHb KauecTBa. B 3aBrcumocTH
OT 3HAYCHHS JCIIATCS Ha:

v’ obcrosrenscTBo Bpemenu (Adverbial Modifier of Time):
We shall meet tomorrow.
v’ obcrostenbetBo  yactotHoctr  (Adverbial — Modifier  of
Frequency):
| am always careful.
v’ obcrostenbetBO  oOpasa neiicteus  (Adverbial Modifier of
Manner):
She walked quickly.
v’ obcrostenscto mpuumbel  (Adverbial Modifier of Cause /
Reason):
The accident happened owing to bad driving.

v' obcrosrensctio ean (Adverbial Modifier of Purpose):
Jane has come to help us.

v’ obcrostenbeTBo crneacTeus / pesynsrata (Adverbial Modifier of
Result / Consequence):

It is too cold to go out.

v’ obcrosrensctBo yeaosus (Adverbial Modifier of Condition):
Without faith there can be no cure.

v' obcrosrensctBo yerynku (Adverbial Modifier of Concession):
In spite of his anger John listened to me attentively.
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v’ 00CTOATENBCTBO CONYTCTBYIOIINAX 00CTOSITENHCTB 51
nocneaytomero aeiicrBus (Adverbial Modifier of Attendant
Circumstances and Subsequent Events):

We walked three miles without meeting anyone.
He woke up to see that it was daylight.

v’ obcrostensctBo  cpaBHenus — (Adverbial — Modifier  of
Comparison):
A mountain is higher than a hill.
v' obcrostenscTBo crenenu (Adverbial Modifier of Degree):
The story is extremely long.

v' obcrosrenscTBo Meprl (Adverbial Modifier of Measure):
The room measures 30 feet across.

v’ obcrostenbetBo  uckmouenuss  (Adverbial — Modifier  of
Exception):
The road was empty except for a few cars.

adverbial modifier of attendant circumstances and subsequent
events — 00cmoamensCmeo CoOnyCmeyruwux o006CmoameibCme u
nocneoyrowezo oeiiccmeus. Cm. Adverbial Modifier

adverbial modifier of cause (reason) — o6cmoamenbcmeo npuUUUHbL.
Cwum. Adverbial Modifier

adverbial modifier of comparison — oocmoamenvcmeo cpasnenusn. Cum.
Adverbial Modifier

adverbial modifier of condition — o6cmoamenvcmeo ycnosus. Cwm.
Adverbial Modifier
adverbial modifier of degree - oocmosmenvcmeo cmenenu. Cwm.

Adverbial Modifier

adverbial modifier of exception — oocmoamenvcmeo ucknwuenusn. Cum.
Adverbial Modifier

adverbial modifier of frequency — o6cmoamenbvcmeo wacmomuocmu.
Cwm. Adverbial Modifier

adverbial modifier of manner — o6cmoamenscmeo obpasza Oeiicmeus.

CwMm. Adverbial Modifier

adverbial modifier of measure — oocmoamenvcmeo cmenenu. CM.
Adverbial Modifier
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adverbial modifier of purpose — o6cmosamenvcmeo yeau. Cm. Adverbial
Modifier

adverbial modifier of reason (cause) — o6cmoamenbcmeo npuyUUHbL.
Cwm. Adverbial Modifier

adverbial modifier of result — oocmoamenvcmeo pesynromama. Cwm.
Adverbial Modifier

adverbial modifier of time — o6cmosamenvcmeo epemenu. Cm. Adverbial
Modifier

adverb of degree — napeuue cmenenu. Cm. Adverb

adverb of frequency and repetition — napeuue uwacmommnocmu u
nosmopa. Cm. Adverb

adverb of manner — napeuue oopasa oeitcmeusn. Cm. Adverb
adverb of place — napeuue mecma. Cm. Adverb
adverb of time — napeuue epemenu. Cm. Adverb

affirmative sentence — ymeepoumenvhnoe npeonoxcenue. Cm. Sentence

article - apmurns — cnyxe6HOE CI0BO, MOACHAIOLIEE CYIIECTBUTENILHOE. B
AHTJIMACKOM SI3BIKE J1BA APTUKIIS:

v meonpenenéunbiii aprukias (Indefinite Article) — a (an) -
yr[OTp€6J'I}I€TC}I, KOr'Ja Mbl Ha3bIBaACM IPCIAMCT WX JIMIO, BIICPBLIC
YIIOMHHACM €r0 HJIM OTHOCHM €TI0 K KAKOMY-TO KJIacCy.

He is an engineer.
This is a new computer.
A saw a film.

v' onpenenéunsiii aptukib (Definite Article) — the — ynorpe6Gisercs,
KOraa Mbl I'OBOpUM 00 YK€ HMC3BCCTHOM HWJIM PaHCC YIIOMSAHYTOM
npeaMCTC NI JIUIIC.

The computer is in the lab.
The film was interesting.

[TonpoOHO 06 yroTpebnennn apTukis cM. Appendix 4.

attribute - onpeoenenue — cnoso, otHOCAImEECS K CYLIECTBUTENBHOMY H

o003Havarolee mpu3Hak. Yaine BCero BBIPAXKEHO IMPpUIIaraTeibHbIM WM
MIPUYACTUEM:

This is an interesting question.
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affirmative (relative) clause — npuodamounoe onpeoenumenvnoe. Cm.
Sentence

auxiliary verbs — écnomozamenwvnuwie 2nazoavt. Cm. Verb

auxiliary (functional) words (closed class) — ciyxceonvie uacmu peuu.
Cwm. Parts of Speech

clause - knayza / cpammamuueckasn ochosa / IneMeHmMaApHoe
npeonioycenue — 3TO COUYETAHUE CJIOB, COJEpKallee IMOJJIekKaIIee M
CKa3zyeMoe, HO HE SIBJIAIONIEECS] CAaMOCTOSITEIbHBIM MPEJI0KEHUEM. ITO
MOYET OBITh TJIABHOE WJIM MPUAATOYHOE MPEITIOKEHHUE.

closed class (auxiliary (functional) words) — caysxcednvie yacmu peuu.
Cwm. Parts of Speech

colon — deéoemouue

coma — zanamas

comparative degree — cpasnumenvhas cmenens. Cm. Adjective
complex sentence — c1oxcnonoduunénnoe npeonoxcenue. CMm. Sentence
composite sentence — coicnoe npeonoyxcenue. Cm. Sentence
compound sentence — ¢l10xcHOocoOUuHéHHOe npednoxcenue. CM. Sentence
conditional mood — cocrazamenvnoe naknonenue. Cm. Mood
conjunction — comw3 — with, and, but, if, until, etc.

conjunctive pronoun — COeOUHUmMEIbHOEe (omunocumenvHoe)
mecmoumenue. Cm. Pronoun

content (notional) words (open class) — 3nHamenamenvHble uacmu
peuu. CMm. Parts of Speech

continuous form — npoodoaxncennstit 6uo. Cm. Verb

countable noun — ucuucaaemoe cywiecmeumenvrnoe. Cm. Noun
degrees of comparison — cmenenu cpasnenus. Cm. Adjective
definite article — neonpeoenénnviit apmuxis. Cm. Article
demonstrative pronoun — ykazamensnoe mecmoumenue. Cm. Pronoun

dependent (subordinate) clause — npudamounoe npeonoixicenue. Cum.
Sentence

determiner - onpedenumens / demepmunamug — cioBo, KOTOPOE YACTO
HPE/IIIECTBYEeT CYIISCTBUTEIBHBIM. B OTJIMYME OT MpHiIaraTebHOTO,
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OnpeJIeIUTENIb HE Ja€T KOHKPETHOM MH(pOpMaILIMK O CBOMCTBaX 00BEKTA,
a JUIIb YKa3blBaeT Ha JOMNOJHUTEIbHYI0 HHPOPMAIUI0O O HEM
(M3BECTHBI OOBEKT WJIW HET, YUCICHHOCTh, MPUHAMICKHOCTh K KOMY-
0o, yKazaHWe Ha OO0BEKT W T.1.). K HUM OTHOCATCS apPTUKJIM
(articles), mectoumenus (Pronouns).

direct object — npamoe oononnenue. Cm. Object

dynamic verb — ounamuuecxkuu 2nazon. Cm. Verb
full stop (period) — mouka

finite form —iuunasa gpopma (2nazona). Cm. Verb

functional (auxiliary) words (closed class) — caycebnvie yacmu peuu.
Cwm. Parts of Speech

future tense — oydywee epems (enazona). Cm. Verb

future-in-the-past tense — oydyuiee ¢ npoweowem (8pemsn 2nazona). Cm.
Verb

gerund — zepynouit. Cm. Verb

imperative mood — nogequmenwvnoe naxknonenue. Cm. Mood
imperative sentence — nodyoumenvnoe npeonoxcenue. Cm. Sentence
indefinite form — neonpedenénunotit 6uo (enazona). Cm. Verb

indefinite article — onpedenénnvtit apmurns. Cm. Article

indefinite pronoun — neonpedenénnoe mecmoumenue. Cm. Pronoun
indicative mood — usvasumenvrnoe naxnonenue. Cm. Mood

indirect object — kocéennoe oononnenue. Cm. Object

infinitive — neonpeodenénnas gpopma 2nazona (ungpunumusg). Cm. Verb
interjection — mesxcoomemue — Oh!, Wow!, Alas!, etc.

interrogative pronoun — gonpocumensnoe mecmoumenue. Cm. Pronoun
interrogative sentence — gonpocumenwvnoe npeonosicenue. Cm. Sentence
intransitive verb — nenepexoonuwtit znazon. Cm. Verb

irregular verb — nenpasunvnstit 2nazon. Cm. Verb

link verb — 21azon-ceazka. Cm. Verb

modal predicate — moodanbnoe ckazyemoe. Cm. Predicate

modal verb — mooaavnwsiit 2nazon. Cm. Verb
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mood - uaxnonenue — Gopma rIaronaa, KOTopas IMOKa3hIBaET OTHOIIEHHE
JEUCTBUS K PEATBHOCTHU. | OBOPAILIIMKA MOKET NPEACTABUTh JCUCTBUE KaK
peanbHOe, MpoOJIEeMaTUYHOE, HEpEATbHOE WIM KaKk MpoCch0y WiIu
NpUKA3aHUeE:

v’ Uswsasurensnoe Haknonenue (Indicative Mood) — mpencrasiser
JCWCTBHEC KaK peajbHOE W CYIIECTBYeT B BHIC BCEX BHJIO-
BpemeHHbIX (finite) u 3amoroBsix (Voice) dhopMm. Ymorpebdisercs,
KOTJIa MbI Ha3bIBA€M IIPEAMET HIIM JIMIIO, BIICPBBIC YIIOMHUHAEM €T0
WJIK OTHOCHUM €0 K KAKOMY-TO KJIAcCy:

He is driving his car. (Present Continuous Active)
The door has been closed. (Present Perfect Passive)

v’ IoBemurensuoe HakiaoHenue (Imperative Mood) — Beipaxkaer
pOoCcKOy WK MpuKa3aHue. B yTBepauTensHOM popmMe TpecTaBICHO
nepBoii popMoii ri1arona (MHGUHUTHB Oe3 YacTHIlbI t0):

Be careful.

OTtpuuarenbHas dbopma oOpazyercs C MOMOIIBIO
BCIIOMOTaTeIbHOTO TJaroa don 't:

Don 't go there.

v Vcnosuoe Hakmonenue (Conditional Mood) — ykaseiBaeT Ha
JCWCTBUE, KOTOPOE MOTJIO OBl COBEPIIMTHCS TPU OIPEIeIEHHBIX
obcrosiTenbcTBax. [IpeicTaBIeHO CIIOXKHBIM TPETIOKCHHEM, TIIE
NpPUAATOYHAST YacTh COACPKUT YCIOBHE (OOBIYHO BBOJIHTCS
corozamu if, in case, etc.), mpu KOTOPOM MOXKET COBEPIIMTHCS
JeWCTBHE, a TJIlaBHas — caMoO JIeHCTBUE, KoTopoe OyJer
CJICZICTBHEM 3TOTO YCIIOBHSL. BbIBaeT IByX THIIOB:

e OrtHocsmeecs K HacTosmemy wuiu Oyaymemy. I[lpum sTtom B
TJIAaBHOM TpeyioxkeHun ynorpeodnsercs should / would + mepsas
dbopma rinarona (MHGUHUTUB O€3 YyacTuilbl 10), a B MPUIATOYHOM —
¢dbopma Past Simple:

If I had a yacht, | would travel around the world. (Eciu 051 y
MeHsT ObLIa AXTa, A OBI OTIIpaBUJICA B KPYTOCBCTHOC
My TEIICCTBUE. )

e OrtHocsIeecss K npoirioMy. [Ipu 3ToM B TJIaBHOM MPEIOKEHUN
ynorpeonsercs should / would + have + 3-1 dopma
HEMPaBWJILHOTO TJIAroJia WK MPaBHIBHBINA TJIAroJl ¢ OKOHYaHHEM
-ed, a B mpugaTounom — ¢opma Past Pefect:
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If he had come five minutes earlier, he would have found a
seat. (Eciu Obl OH NpUIIEN HA NSATh MUHYT PaHbIIE, OH HAIIEN
OBI MECTO.)

v CocnararensHoe Hakinonenwe (Subjunctive Mood) mokaseiBaer,
4TO JEHCTBHE pAacCMATPUBAETCI HE Kak peaabHOe, a Kak
BO3MOJKHOE, IPEANOoIaraeMoe WM jKejlaeMoe. B 3aBHCMOCTH OT
(dbopMBI TIIarosa AeIUTCs Ha:

e (CocaraTelIbHOE HAaKJIOHEHUE IMPOIICIIICT0 BPEeMEHH. BBITIsaauT
Kak riaroi B (opme mporrenmero Bpemenu — Past Simple wmun
Past Perfect — u BcTpeuaercs:

o B npumaTto4HON 4acTH YCIOBHBIX NPENI0KEHUMN:

If I were you, | would stay here. — I 61 Ha TBOEM MecTe
OCTaJICA 31ECh.

If we had more time yesterday, we would go for a walk. —
Ecau Obl y Hac Buepa ObUIO OOJbIIE BPEMEHH, MBI Obl
INOIJIN I'YJIATD.

o B mpemnoxenusx tuma | wish | knew, rae wish ucnonssyercs
JUTSE BBIPQ)KEHHUS COKAICHUSA 0 YEM-TO HE CAEIaHHOM:

I wish | knew about it. — XKaib, yto g He 3HaI 00 dTOM.

o B mnpumarouneix  mpennoxkeHwsix  obOpaza  ACHCTBUA,
NPHUCOCIUHAEMBIX COI030M as if:
He spoke as if he were an expert. — OH roBopui Tak, Kak
ecyii OblI ObLT SKCIIEPTOM.

dopma  were  MOXKET  yHoTpeOnsaThCs  Kak IS
€IUHCTBEHHOT0, TaK U JIJISI MHOKECTBEHHOI'O YU CJIA.

e (CocnaraTenbHOE HaKJIOHEHHWE HACTOSILEro BpeMeHU. Bripaxaercs
nepBoii  ¢opmoit Tiarosna (MHGUHUTHB Oe3 dacTHIl  10).
VYnotpebnsercsa peako, B OCHOBHOM B JOKYMEHTAX.

o B mpemioxenusx ¢ oboporamu tmma it IS important that, it is
necessary that:
It i1s desirable that the candidate be at the office at 7
o’clock. — KenarenbHo, 4T0OBI KaHAUAAT OBLT B oduce B 7
4acoB.

o Ilocne rmaroisoB co 3HaYeHUEM IMPpUKa3aHuA, IPCIAIIOKCHUA,
pemieHus1, foropopéunoctu (to command, to order, to propose,
to decide, etc.):
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They ordered that the construction be started immediately. —
OHuM npukKasand, 4YTOObBl CTPOUTEIBCTBO  HAYaJIOCh
HEMEIJICHHO.

negative sentence — ompuuyamenvHnoe npeonoxcenue. Cm. Sentence
negative pronoun — ompuyamenvrnoe mecmoumenue. Cm. Pronoun
non-finite form — neauunas gpopma (2nazona). Cm. Verb

notional verb — cubicrosoii 2nazon. Cm. Verb

notional (content) words (open class) — 3HamenamenvbHble yacmu
peuu. Cm. Parts of Speech

NouUN - cywecmeumenbnoe — Tak K€ KaK U B PYCCKOM S3bIKE, O3HAYAET
IIPEIMETHI, BEIIECTBA, JKUBBIC CYIIECTBA M OTBICUYEHHBIC MOHATHA. B
MPEUIOKEHUU OOBIYHO BBICTYNAaeT B (YHKIMU TOMJICKAIIETO WIH
JOIOJIHEHUSA. B oTiauMuMe OT pPyCcCKOro s3blKa HE H3MEHSETCSA I10
MmaJieKaM.

W3mensiercs o unciam (number):
v’ singular (exuHCTBEHHOE YKCIIO);

v plural (MmHOXecTBeHHOE umciO), OOpasyercs, Kak IIPaBUIIO,
npubaBieHreM oKoHYaHus -S: DOOK — DOOKS.

I[J'I}I aHTJIMICKOTO CYIICCTBUTCI/IbHOI'O BAKHO, ABJIACTCS JIM OHO!

v Ucuucnsemeiv (countable) — t.e. numa mim npeaMersi, KOTOpPbIE
MOXKHO mocuutaTh  (Student, dog, table). Wcumcnsaemsie
CYIICCTBUTEIbHBIC HMMEIOT (OPMY MHOKECTBCHHOIO 4YHCIA U
MOTYT YIOTPEeOJAThCS ¢ HeompeAeaEHHbIM apTukiIeM (Students, a
dog).

v Hencuucnsemeim (Uuncountable) — me mogmarorcst cuéry. OObIUHO
3T0 oTBicuéHHble ToHATHA (freedom, accuracy) wmimu BemecTBa
(air, wood). He wumMmeroT MHOXECTBEHHOrO uyucia. He
YIOTPEOISIOTCS ¢ HEOMPEACTIEHHBIM apTHKIIEM.

HekoTopble CyIIECTBUTEIbHBIE MOTYT OBITh HCUHCISIEMBIMH B
OJHOM 3HAYEHWH M HEHUCUUCIIEMBIMH — B JIPYrOM, HAaIpPHUMEP
a glass (crakan) u glass (crekio).

number — vucio. Cm. Noun

noun phrase — cyocmanmugHoe ciosocouemanue (ci1060couemanue ¢
cyurecmeumenvhuovim). Cm. Phrase

numeral — yuciumenvnoe
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object - oononnenue — nononmser, yrounser 3HadeHHWEe IJAroyia MM
NpUYacTus, yKa3blBasg, Ha 4YTO WJIM Ha KOIO HAIlpaBJICHO JEHCTBUE,
BBIpQKEHHOE TJjarojioM wikd TnpudactueM. OOBIYHO  BBIPaKEHO
CYIIECTBUTEIIbHBIM UJIU MECTOUMEHUEM. bhIBaeT TpEX TUIIOB:

v’ Ilpssmoe momonuenue (Direct Object) — o3madaeT mpeaMeT WM
JUI0, HA KOTOpbIE HEMOCPEJACTBEHHO HAIMPABJICHO JEUCTBUE
rnaroina-ckazyemoro.  OTBeyaeT Ha  BOIPOCH  PYCCKOTO
BUHHUTEIBLHOTO Majiexa Kkoco? umo? CTOUT BCeraa IOCJE Tiaroia-
CKa3yemoro (WiH, €CJIU €CTh, IOCJIE€ KOCBEHHOTO JIOTIOJIHCHUS ):

Jake lost his pen.

v Kocsennoe momonnenue (Indirect Object) — o3mawaer nuio,
KOTOpOMY OOpamieHo JeWCTBHE, HaIlpaBlIEHHOE Ha MPSIMOE
nonojiHeHrue. OTBeYaeT Ha BOMPOCHI PYyCCKOTO AATENIbHOIO Majieka
komy? uemy? CTOUT MEXIY TIJarojiOM-CKa3yeMbiM M MPSAMBIM
JOTIOJTHEHUEM

Anna gave him her pen.
v’ Ipemnoxuoe nononuenue (Prepositional Object) — coenunsercs
C rjiaroJiIoM-CKa3zyCMbIM HIIHW ITPUYACTUEM C IIOMOIIBIO ITPEAJIora:
He is waiting for you.

object clause — npudamounoe-oononnenue (uzvacHumenvnoe). Cwm.
Sentence

open class (notional (content) words) — 3nHamenamenvHvle uacmu
peuu. Cm. Parts of Speech

part of speech /| word class - uvacms peuu — nan6onee o6mue
KJIACChl CJIOB, KOTOPbIE OTJIMYAIOTCS JApPYyr OT Jpyra JIEKCHUKO-
rpaMMaTH4YeCKUM 3HAaYeHUEM (HalpuMep, IJIarojl O3HadaeT JAeucTBue),
MOPQOJIOTHYECKUMU OCOOEHHOCTSIMU (HabopoM ¢GopM M Mapagurm),
OCOOCHHOCTSIMH CJIOBOOOpa30oBaHUsI W (PYHKIUSMH B MPEAJIOKECHUU
(Hampumep, GYHKITUS CKa3yeMoro y riaronia).
Yactu peun nensTcs Ha:

e 3HameHarenbHbIe / camocTosTenbHbIe (Notional words / content
words / open classes) — yactu peun, KOTOpbIE UMCIOT COOCTBEHHOE
3HaueHHE (MIPEAMETHOCTD, PU3HAK, ICHCTBUE, KOJMYCCTBO U JIp.):

v/ NOUN — CYIIECTBUTEILHOE,
v verb — rnaronn,

v' adjective — npunararensHoe,
v' adverb — napeune.
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e Cnyxeonsie (functional words / auxiliary words / closed
classes) — He WMEIOT COOCTBEHHOTO 3HAYCHHUsS, HO CIIy)KaT st
CBSI3KH CJIOB B MPEJJIOKECHUSAX, CPABHEHHUS, POTUBOTIOCTABICHUS
Y IPYTUX LETICH:

v/ pronoun — MecToMMeHHUE,
v’ preposition — npexjor,
v’ conjunction — coro3,
v article — apTukis,
v’ determiner — onpenenurens (IeTEPMHUHATHB )
v’ interjection — mexxomerue.
participle — npuuacmue. Cm. Verb
participle | — npuuacmue |. Cm. Verb
participle Il — npuuacmue 1. Cm. Verb
part of the sentence - uien npeonoyucenus — >ro cuntakcuueckas
(YHKIIHS CJIOB WIIM CIIOBOCOYETAHUI B IpeAIOKeHUH. [lensarcs Ha:
e ['nmaBHbIc uneHbl npemnoxenus (Principle Parts of the Sentence):

o momrexariee (Subject):
Tom and Mary are my friends.

o ckasyemoe (Predicate):
Tom and Mary are my friends.

Bwmecrte noanexaniee U ckazyemMoe COCTABIISAIOT IPaMMATHYECKYIO
OCHOBY IIPEJIOKEHHUS.

e Bropocrenennsie wieHsl npeaioxkenus (Subordinate Parts of the
Sentence):

o nmomnosiHenue (Object):
Jake lost his pen.

o ompeaeneuue (Attribute):
This is an interesting question.

o obcrostensctBo (Adverbial Modifier):
She must be here tomorrow.

passive voice — cmpadamenvhutii 3a102. Cm. Voice

past participle (participle IlI) — npuuacmue npoweouwieco epemenu
(npuuacmue 11). Cm. Verb
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past tense — npouweduiee epems (2razona). Cm. Verb
perfect form — cosepuennsniit 6uo (2nazona). Cm. Verb

perfect continuous form — cogepuieHHO-NPOOOIIHCEHHBLIL 8UO (21a20.1a).
CwMm. Verb

period (full stop) — mouka
person —uyo. Cm. Verb
personal pronoun —.iuunoe mecmoumenue. Cm. Pronoun

phrase (word combination) — cro6ocouemanue — coequneHne aByx
Wik 0ojiee 3HAMEHATEIBHBIX CJIOB, CBSI3aHHBIX II0 CMBICAY H
IrpaMMaTHYCCKH, BBIpAXAIONIMX eauHoe MoHsATHe. Hapsaay co cioBowm
SIBJIICTCS AJICMCHTOM ITOCTPOCHUS TpeaokeHus. [1o riaaBHOMY CIIOBY
JCIIATCS Ha: TJIaroJIbHble, MMCHHBIC, HapeuHble. K YHCIy HMMEHHBIX
OTHOCATCS cyOcTaHTHBHBIE (NOun phrase) — ¢ cCyIiecTBUTEIBHBIM B
POJIH TJIABHOTO CIIOBA!

big tower (npuiaraTenbHOE + CYIIECTBUTEILHOR)
construction plan (cymecTBuTeabHOE + CYIIECTBUTEILHOE)
wheel of the car (cymiecTBuTensHoe + Ipeaior + CyIECTBUTEIBHOE)

plural — mHnoscecmeennoe uucno. Cm. Noun
possessive pronoun — npumsadyicamenvHoe mecmoumenue. Cm. Pronoun

predicate - ckasyemoe — rTnaBHBII uleH NPENJIOKEHHS, KOTOPHIM
0003HaYaeT HE TOJHKO JCHCTBUE MPEAMETOB, HO Ml UX COCTOSIHHE, KAa9eCTBO
wi npusHak. Coriacyercs ¢ MmojieKamuM (B 9rciie, B JIUIE WIA B POJIC)
Y UMEET 3HaYEHUE, BRIPAKEHHOE B BOIIPOCAX: umo delaem npeomem? Yymo
C HUM Npoucxooum? Kakog8 OH? umo OH makoe! KMo OH MaxKou?
CkazyeMoe BBIpaKaeT rpaMMaTHYeCKOe 3HAYCHHE OJHOTO M3 HAKJIOHCHHM
(m3psaBuTenbHOE Hakionenwe (Indicative Mood, Imperative Mood,
Conditional Mood, Subjunctive Mood) — Hacrosiee, mpolieamee,
Oymy1ee Bpemsi; YCIOBHOE HaKJIIOHEHHE, TIOBEJIMTEILHOE HAKJIOHEHUE).

Tunel ckazyeMbIX:

e TiarojbHOe ckazyemoe — predicate (BbIpaXkK€HO TIJIaroJIbHOMN
dbopMoii, cocTosIIEeH U3 OJTHOTO WIJIM HECKOJBKUX CJIOB):
They go to college.
She is learning the rules.

e MoganbHOE ckazyemoe — modal predicate (BbipaykeHO MOJATBHBIM
TJIaroJIOM + CMBICIIOBOM TJ1arod):

We can speak English.
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e COCTaBHOEC HMEHHOE ckazyemoe — predicative (BbIpakeHO
rmaroiom 10 be + cymecrBurensHOoe / mnpumnararensHOE /
YUCIIUTEIBHOE):

Algebra is a part of Mathematics.

predicative — umennoe ckazyemoe. Cm. Predicate
preposition — npeonoe — in, about, into, at, because, etc.
prepositional object — npeodnoscnoe oononnenue. Cm. Object
principle clause — 2nagnoe npeonoxcenue. Cm. Sentence

principal parts of sentence — 2naenvie unenvt npeonoxcenus. Cm. Part
of the Sentence

pronoun — mecmoumenue — CiioBa, KOTOpPbIC YKa3bIBAIOT HA IIPESAMETHI U
1504 KayecTBa. YnotpeOnsitoTcs BMECTO CYLLECTBUTEIbHBIX,
MPUJIAraTeNIbHbBIX U YHUCJIUTENbHBIX. B aHTJIIMHACKOM S3BIKE BBIICISIOT
CJHEAYIOIIUE IPYIIIBI MECTOUMEHUN:

v maunsie mectoumenus (Personal Pronouns): he, they, we, etc.;

v’ nputspkarensusie (Possessive Pronouns): her, my, mine, their,
etc.;

v BosBparueie (Reflexive Pronouns): herself, yourself, yourselves,
etc.;

v ykaszarensabie (Demonstrative Pronouns): this, that, such, etc.;

v meonpenenéunsie (Indefinite Pronouns): some, any, a few, each,
everything, etc.;

v orpunarensusie (Negative Pronouns): nothing, nobody, no, none,
neither, etc.;

v" BompocutensHsie (Interrogative Pronouns): Who? What? Which?
Whose?, etc.;

v’ coemnunurensusle |/ orHocurensusie (Conjunctive Pronouns):
whom, which, that, etc.

reflexive pronoun — go3eépamnoe mecmoumenue. Cm. Pronoun

regular verb — npasunvnstii 2nazon. Cm. Verb

relative (attributive) — npuoamounoe onpedenumenvnoe. Cm. Sentence
semi-colon — mouka c 3anamoi

sentence - npeonoscenue — 0qHO WM HECKOIBKO CIIOB, COIEPKALINE
coOOIIIeHue, BONPOC WM MOOYXJeHue. B oTnuyue oT cloBOCOUYETaHUS
Ipe/UI0KEHNE UMEeT rpaMMaTHIeCKyIo ocHOBY (clause), cocrosmyro u3
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IJIaBHBIX YJICHOB MPEIIOKEHHUS (MOIeXKAIero M CKa3yeMoro). JTo
3aKOHYCHHAS CJMHHUIIA PEYH, a TIOTOMY B KOHIIE BCETJla IPUCYTCTBYET
TOYKA, BONPOCUTCIBHBIA WM  BOCKJIMIATCIBHBIA  3HAKH, WM
MHOTOTOYHE.

B 3aBucuMOCTH OT 11€7TM BBICKA3bIBaHUS (COOOIICHHUS) BCE MPEITIOKEHUS
NETATCS HA TPU TPYIIIIbI:

e [loBectBoBatenbHbIie (declarative) — ciaykat a1 cOOOIICHHS:
He studies Physics.

e Bomnpocutenbubie (interrogative) — ciyxaT IS BBIPpAKCHHS
BOTIpOCa:
Does he study Physics?

What does he study?

e [loOymurenpHbie (iMperative) — cmyxar uisi MOOYXKIEHUS K
NEHCTBUIO:
Read the text.

[loBecTBOBaTENIbHBIE IPEAJIOKEHUS MOTYT OBITh:

e yrBepauTenbHbIME (affirmative):
He studies Physics.

e oTpuaTeNbHbIME (Negative):
He doesn’t study Chemistry.

ITo cocTaBy npeIoKeHuss MOTYT OBITh:

e [IpocteimMu (SiIMple) — uMerIUMHU OJHY TPaMMaTHYECKy OCHOBY =
HOJJTeKAIIEEe CO CKa3yeMbIM:
Michael studies Physics.

e CnoxubiMH (COMPOSite) — CocTosAmMMU U3 JBYX H OoJjee
3JIEMEHTAPHBIX MpeyIoxkeHui (Clause), koTopeie nemsiTcs Ha:

o CnoxHocounHEHHBIE (COMpound), paBHOMpaBHBIC MEXKIY
c0o00i1 1 coenMHEHHBIE coro3amu and, but, or, uinu 6e3 corosa.

Michael studies Physics and Mary studies Chemistry.

o CrnoxuonomuuHEHHBIE (COMPIleX), rae oIHO dJIEMEHTapHOE
npeioKeHue sBisgercs TiaBHbIM (principle clause), a
apyroe / npyrue — npuaatouHsiM (Subordinate / dependent
clause). OT riaaBHOrO K MPHIATOYHOMY MOYXKHO 33]aTh
BOMPOC.  DJCMEHTapHbIE  TNPEJIOKEHUS  COCAMHCHBI
O TYMHHUTEIBHBIMHU COIO3aMHU:

While Michael studies Physics, Mary studies Chemistry.
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[IpugaTounble NPENTIOKEHUS MOTYT BBINOJIHATH (YHKIIMIO pPa3HbIX
YJICHOB MPE/JI0KEHHUS:

o Jomonuenus (Object Clause) (orBewaror Ha Bompoc what? —
ymo?, whom? — koeo?, for what? — 3a umo? v npucoeAUHAIOTCS K
[JIABHOMY TMPEIJIOKEHUI0 TEMH € COI03aMH U COIO3HBIMHU
CJIOBaMU, HO MIPUCOETUHEHUE MOKET OBITh U OECCOIO3HOE):

| know what you mean.

o Omnpenencaus (Attributive / Relative Clause) (orBeuaror Ha
Bonpoc What? — xaxoti?, which? — kakou?, komopuiii? 1 BBOIATCS
MECTOMMEHUSAMU M COIO3HBIMHU cioBaMu Who, whose, which, that —
komopuwitl, Whom — xomopoco wnu Hapeunsmu When — xoeoa,
where — 20e, how — kak, why — nouemy):

| know a person who can help us.

o Oocrostenbcta (Adverbial Clause). [ensitcst Ha pa3HbIe TUIIBI, B
3aBHCHMOCTH OT THIIA OOCTOSITEILCTBA:

= oOcrostenscTBO Mecta (Adverbial Clause of Place)
(orBewarot Ha Bompockl: where? — 2de? kyoa?, from where? —
omKyoa W TIPUCOCTUHSIOTCS K TJIABHOMY TPEIJIOKEHHUIO C
MOMOIIILIO COIO3HBIX CIOB Where — 2de, kyoa win wherever —
20e Obl HU, Kyoa Obl HU):

They stopped where the road turned left.

» obOcrosteanctBo 1enu (Adverbial Clause of Purpose)
(oTBewaror Ha Bompockl what for? — zauem, ons uezo? for
what purpose? — ¢ kakoii yenvio? ¥ BBOJIATCS coro3amu that,
in order that, so that — umo6wr, 012 mozo umobw, lest —
yumoowl He):

He was speaking loudly so that everybody could here him.

» oOctosaTenscTBO oOpasza neiictBus (Adverbial Clause of
Manner) (oTBe4yaroT Ha BOMNpPOC how? — kak, Kaxkum
obpazom? M BBOIATCS coro3aMu as — kak, as if, as though —
Kak 6yomo, Kak eciu 0vl):

She looked at me as if she did not recognize me.

» oOcrostenscTtBo npuunHbl (Adverbial Clause of Cause /
Reason) (orBeuarot Ha Boripoc why? — nouemy? u BBOIATCSA
coro3amu: because — nomomy umo, SINCE — nNOCKoOIbLKY, aS —
Mak Kax):

We couldn’t finish the work because the computer crashed.
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» oOcrosTenscTtBO Bpemenu (Adverbial Clause of Time)
(oTBeuaror Ha Bompockl When? — kozoa? how long? — kax
ooneo? since when? — ¢ kaxux nop? till what time? till when? —
0o Kkaxux NOP? W BBOAATCS COIO3aMH M COIO3HBIMHU CIIOBAMH
when — xoeoa, after — nocie moeco kak, before — npeorcoe,
while — 6 mo epems xax, till, until — noxa, oo mex nop noka,
as soon as — kax moiwko, SINCe — ¢ mex nop kak, by the time —
K momy epemenu ko20a, Whenever — ecsxutl pas ko2oa):

I’ll stay here until they come.

= oOcrostenscTBO ycnmous (Adverbial Clause of Condition)
(oTBeuaroT Ha Bompockl When? — koeda? on what condition? —
npu Kakom yciosuu? u BBoJATCs corozamu if — ecru, unless —
ecau ne, on condition (that) — npu ycroseuu umo, in case (that) —
B CJIydae eClid U Jp.):

We'll start tomorrow if the weather is good.

B mpuaaTouHbix 00CTOATENHCTBEHHBIX BPEMEHU M YCIOBUS HE
ynotpebmtorcs  ¢dopmbl  Future, BmecTo HUX YyHOTpeONSIIOTCA
dbopmsl Present:

I’ll stay here until they come. — 4 ocmanyce 30ecv, noxa onu ne

npuoym.
We’ll start tomorrow if the weather is good. — Mei omnpasumcs
3a8mpa, eciu no200a 6yoem xopoutas.

simple sentence — npocmoe npeonoycenue. Cm. Sentence
singular — eouncmeennoe uucno. Cm. Noun
stative verbs — cmamanonuie 2nazoavt. Cm. Verb

subject - noonexucawee — rnaBHBIl 4neH NPETOKEHHS, KOTOPHIM
0o003HauaeT IMpeaMeT MIH CYObEKT, O KOTOPOM TOBODUTCS B
npenaokeHnn. MoskeT 0003HAa4YaTh JIMIIO, HEOMYIIEBIEHHBIN IPEIMET,
OTBJICUEHHOE TOHATHE, sBJACHHE W T.. COOTHECEHO CO CKa3yeMbIM,
BMECTE C KOTOPBIM COCTaBIISIET IPAMMATHYECKYIO OCHOBY IPEII0KCHHS
(clause). B pycckoMm s3bIKe €ro MOXHO BBIJICIUThH, 3aJaB BOIPOC
AUMEHHUTEIILHOTO Majeka — «KTO? — u4To?».

Yaiie Bcero noajekaliee BBIPAKCHO!

e CymectBUTEIBHBIM (NOUN):
Algebra is a part of Mathematics.

e Mectoumenuem (pronoun):
He is doing exercises.
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Ho MoskeT ObITh BBIpQKEHO M IPYTHMMH YaCTAMHU PEYH — YUCIUTCILHBIMU
(numeral), npunararensaeiM (adjective), nndunutusom (infinitive) — a
TaKXe MPUIaTOYHBIM mpeioxerneM (subordinate / dependent clause).

B oTamume OT pycckoro s3blKa, B AHTJIMKWCKOM TMPEIJI0KCHHUH
NoJjieKalee He MOKET OTCYTCTBOBaTh. ECiiM OHO HE HY>KHO MO CMBICITY,
ynotpedisercs GopMalbHOE MO JIeKAIIee, HATPUMEP MECTOMMEHHE it

It is important to follow all instructions.

subordinate (dependent) clause — npudamounoe npeonoxcenue. Cum.
Sentence

subordinate parts of the sentence - eémopocmenennvie unenvi
npeonoxcenusn. Cm. Sentence

subjunctive mood — cocrazamenvnoe naxknonenue. Cm. Mood
superlative degree — npesocxoonas cmenens cpasnenus. Cm. Adjective
tense — gpemsa (enazonvnoe). Cm. Verb

transitive verb — nepexoonutit znazon. Cm. Verb

uncountable noun — neucuucnsemoe cywgecmeumenvrnoe. Cm. Noun

verb - ziazon — tax xe xak u B PYCCKOM sI3bIKE, O3HaudaeT aerctBus (Jgo,
build), cocrosuus (be, feel), uyBctBa (See, like) u ymcTBeHHYIO
nestenbHOCTh (Understand, remember). B mnpemioxkeHuHn OOBIYHO
BBICTYMAeT B QYHKIMH CKa3yeMoro. BeicTymaeT B 1ByX (hopMax:

v’ JInunas (finite form) — umeer kareropun BpeMeHH, JTIa M YUCIIA.
B npemiokeHuH BBICTYHAeT B POJHM IJIaroJIbHOIO CKa3yeMoro,
yIOTPEOJISIeTCsl BCETa ¢ MOJISKAIINM, C KOTOPBIM COTJIACYETCS B
aurie (person) u uucie (Number):

What are you looking at?

He speaks good English.

Jlenarcst Ha YeThIPE TPYIIIIBI:
o wueonpeaenénnnie (Indefinite),

o mmurenbHbie (Continuous),
o mnepdekranie (Perfect),
o mnepdextHo-mTenbHbIe (Perfect Continuous).
B kaxo# rpyrine uMeercs 4eThipe BpeMeHu (tense):
o Hacrosiee (Present),
o mpomemmiee (Past),
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o Oynymee (Future),
o Oyayiiee ¢ ToukH 3penus nporreiiero (Future-in-the-Past).

Takum 00pa3oM, B HM3bSIBUTEIBHOM HAKJIOHEHUU JIEWCTBUTEIIBHOIO 3ajJ0ra B
AHTJIMACKOM SI3bIKE UMEETCS 16 JTMYHBIX TJIAroJbHBIX (POPM:

Indefinite:
Present Indefinite,
Past Indefinite,
Future Indefinite,
Future Indefinite-in the Past;

Continuous:
Present Continuous,
Past Continuous,
Future Continuous,
Future Continuous-in-the-Past;

Perfect:
Present Perfect,
Past Perfect,
Future Perfect,
Future Perfect-in-the-Past;

Perfect Continuous:
Present Perfect Continuous,
Past Perfect Continuous,
Future Perfect Continuous,
Future Perfect Continuous-in-the-Past.

v Hemwmunas (non-finite form) — raxxxe o6o3HavaeT qeiicTBYs, HO HE
UMeeT ToKa3aTelcii HAKJIOHEHUS, JMIAa M 4uciaa. MOXeT UMETh
MI0Ka3aTeNId BPEMEHH U 3ayi0ra. MOKET BBICTYIIATh B POJIH JIFOOOTO
yjieHa npeaaoxeHus. K ux 4yuciry oTHOCSATCS:

o Ilpuuactue (Participle) — coderaer cBoiicTBa riarona,
NPHUIAraTeIbHOr0 M Hapeuus. B pycckoMm s3bIke emy
COOTBETCTBYIOT (POPMBI TPHUYACTHS U JICCIPHUYACTHS.
JlenuTcs Ha 1Ba TUIA:

[Tpuuactue | (Participle 1), obpasyemoe ¢ momorisio
OKOHYaHUs -ing: reading (uuraromimii).

[Tpuuactue Il (Participle 11), obpasyemoe ¢ momortisto
okoHuanus -ed wmm 3-i  Qopmbel riaroja: painted
(HapuCcOBaHHbIN), Written (HarmucaHHbIH).

~ 143 ~



o Hudpunutus (Infinitive) — coueraer cBoiicTBa riarona u
CYIIECTBUTENBHOTO. B pycckom  si3pike  emy
COOTBETCTBYEeT  HeompeaenéHHas  ¢opma  riiaroia
(oTBE4aeT Ha BOIPOCHI umo Oenamsv? 4mo coeiamsv?).
Kak mpaBmio, ymotpebnsercs ¢ dactureit to: to study
(u3yuatn), to live (kuThb).

o I'epynmuii (Gerund) — coueraer cBoicTBa Tjaroia u
cymectBuTeNnbHOro. [10100HON (hOPMBI B PYCCKOM SI3bIKE
Het. OOpasyeTcsl ¢ MoMOIIbI0 OKOHUaHUs -ing: reading
(cpaBHU pycCCKOE: umenue).

Jlisa 00pa3zoBaHus pa3aMYHbIX (OPM BaXKHO JEJICHUE IJIarojoB Ha:

v Ilpasunsaeie  (Regular  Verbs),  o6pasyromue — GopMel
HeonpenenéHHoro npomeamero Bpemenu (Past Indefinite Tense) u
npuyactus nporeaiiero Bpemenn (Past Participle) ¢ momormsio
okoHuanus -ed: study — studied — studied.

v’ Hempasunsusie (lrregular Verbs), umeromme crenuanbHbie
dbopMbI HeomnpeaenénHoro nporieamero spemenn (Past Indefinite
Tense) u mpuyactus mnpomeimiero Bpemenu (Past Participle):
begin — began — begun. Tabmuily HenmpaBHIBHBIX TJIAr0JIOB CM. B
Appendix 2.

I1o 3Hauenuro n (I)YHKI_II/ISIM B IIPCAJIOKCHNHU I'J1aroJjbl ACJIATCA Ha:

v’ Tomnosnaunsie (Notional Verbs), umeromnme camocrosTensHOE
3HAQYCHWE M BBINOJHSAIONIME (YHKIUIO TMPOCTOr0 IJ1arojbHOrO
CKa3yeMoro:

He starts his work at 9.

v’ Ciyxeounsie (Auxiliary Verbs), e nmeromnie caMoCTOSTENLHOTO
3HAYEHUS U yHoTpeostonmecs 1jisi 00pa3oBaHus CIOXKHBIX (popMm
riaroJfa:

He told me he would come at 9.

v' T'maronsi-cBszku (Link Verbs), e nMmeromume caMoCTOATEILHOTO
3HAYCHUS M YIOTpeOsstonecs s 00pa3oBaHUS WMEHHOTO
CKa3yeMoro:

He is an engineer.

v Mopaneuele  rmmaronsl  (Modal — Verbs), ne umeromme
CaMOCTOSTENIbHOTO 3HAa4YeHUs © OOO3HAYAIOIINEe OTHOIICHUE
TOBOPSAIIETO0 K JCHCTBHUIO, BBIPAKCHHOMY JPYTHM TJIarojoM.
YnotpeOnstoTcs aIsi  00pa3oBaHMS COCTAaBHOTO  MOJAJIBLHOTO
CKa3yeMmoro:

He can speak both English and French.
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Jlns obOpa3oBaHusi cTpaaareabHoro 3aimora (Passive Voice) BaxkHO IejcHHE
TJIarojioB Ha:

v' Ilepexonunie (Transitive Verbs), o6Go3nauaromye OTHOIIEHHE
aub0 JeWCTBUE, HaNpaBJIEHHOEC Ha OMNPEACIEHHBIM OOBEKT
(OmpeameT, JAUIO0) W Mepexojsiiee Ha ATOT 00bekT. B pycckom
S3BIKE  OTOT OOBEKT BBIPAXKEH MPSMBIM JIONOJHCHHUEM B
BUHUTEILHOM Tajie’ke 0e3 mpemyiora (OTBEYAIOMIMM Ha BOIPOC
K020? umo?):

He knows his subject very well.

v Henepexonusie (Intransitive Verbs), e tpebyromiue mocie ceds
IPSIMOTO JIOTIOJTHCHUS:

He lives in Chicago.
v HekoTopble Tjarojiibl MOTYT OBITh IEPEXOJHBIMH B  OJHOM
3HAYCHUHU N HCTICPCXOJHBIMHA — B IPYI'OM:
Corn grows very fast. (HenepexoHbI)
Corn is grown in many countries. (rmepexo IHblIi)

Jlns  oOpa3oBanusi mpoaosbkeHHbIX ¢opm (Continuous Forms) BaxHO
JICJICHHE TJ1arojoB Ha:

v’ Jlunamuueckue (Dynamic Verbs), oGosnauaromue aeidcTBue B
NpssMOM 3HAa4YeHHH 3TOro ciioBa: t0 speak, t0 move u mHorue
apyrue. OHH  MOTYT  ymoTpeOJsThCS B MPOJODKEHHBIX
(Continuous) gopmax riaarona:

He is speaking on the phone.
v Craransneie (Stative Verbs), obOosnauaromue He neicTBue, a
COCTOSIHHE, BOCIIPHSTHE, OTHOIIEHHE MEKIY IpEeAMETaMH HIIN

moaeMu: 10 see, to like, to want, to know, to belong, to object u mp.
OHU HE MOTYT yNOTPEOIATHCS B IPOAOHKEHHBIX (hopMax.

He likes this author.

voice - zanoz — dbopma rmarojia, KOTopas IMOKa3bIBAET, SIBISETCS JIH
MoJiIe)KaIIee MPEAJIOKEHUS  MPOU3BOJAUTEIEM HIH  OOBEKTOM
JNEUCTBHS, BBIPAXKCHHOIO CKa3yeMbIM. B aHTJIHMHCKOM A3BbIKE JBa
3ajora:

v’ neiictBuTenbubiil 3amor (Active VOICE) — MOKa3bIBAET, UTO JIMIO
WIM  TOPEeIMET,  BBIPAXCHHBIA  IOIJICKAIUM,  SBIISIOTCS
IIPOU3BOIUTENIEM JCHCTBHUS, BEIPAKEHHOTO CKA3yEMBbIM:

She entered the room.
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v’ ctpamarensubiii 3anor (Passive Voice) — mokassIBaeT, 4ToO JIMI0
WIN TPEMET, BBIPAKCHHBIN MOICIKAIINM, SBISIOTCS 00BEKTaMU
JICWCTBUS, BEIPAKEHHOTO CKa3yeMbIM:

The work was completed at 7 p.m.

Jlns oOpa3oBaHUs CTpaJaTeIbHOTO 3ajora HUCHojb3yercs riaroyn to be (B
COOTBETCTBYIOIIEH BHUI0-BPEMEHHOM (opMe) U CMBICIOBOM Tyaron B 3-H
dopMe (I HENpPaBUIBHBIX TIJIarojioB) HIM C OKOH4uaHueMm -ed (mis
MPaBUJIbHBIX IJ1aroJioB):

The room is being cleaned.

The meeting will be held in this room.

CrpanatenbHbiid 3anor (B ¢gopMe HMHDUHUTHBA) YNOTPEOJACTCS U TOCHE
MOJAJIBHBIX TJIar0JIOB:

The work must be done on time.

Word class (part of speech) — uacmo peuu. Cm. Part of Speech
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Appendix 2
Irregular Verbs

infinitive past past Russian translation
participle

be was / were  been BbITb

beat beat beaten BuTh

become became become CTaHOBUTLCSH

begin began begun HaynHaTb

break broke broken nomartb

bring brought brought NPUHOCUTL

build built built CTPOUTL

buy bought bought NoKynaTb

can could - MOYb, YMETb

catch caught caught noBUTb, XBaTaTb

choose chose chosen BblOMpaTb

come came come NpUXoauTb

cost cost cost CTOUTL

cut cut cut pesaTb

do did done aenartb

draw drew drawn pucoBaTb, YepTUTb

drive drove driven BOAUTb  (MawuHy), nNpuBOaUTL B
ABWXeHne

fall fell fallen nagatb

feel felt felt 4YyBCTBOBAaTb

feed fed fed nogasaTb MaTepuan, nuTaTb

find found found HaxoaunTb

fly flew flown netaTb

forbid forbade forbidden 3anpeLiaTb

forecast forecast forecast NpPOrHo3npoBaThb

foresee foresaw foreseen npenBuaeTb

forget forgot forgotten 3abbiBaTb

get got got nonyyaTb, CTAaHOBUTbLCA

give gave given AasaTb

go went gone noTu

grind grounds ground namenbyaTb, LWNNgoBaTb
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infinitive

grow
hang
have
hear
hide
hang
hold
keep
know
lead
learn
leave
let
light
lose
make
mean
meet
prove
read
ring
rise
run
say
see
sell
send
set
shake
shine
show
shrink
shut
sit

past

grew
hung
had
heard
hid
hung
held
kept
knew
led
learnt
left
let

lit

lost
made
meant
met
proved

read [red]
rang
rose
ran
said
saw
sold
sent
set
shook
shone
showed
shrank
shut
sat

past
participle

grown

hung
had
heard
hidden
hung
held
kept
known
led
learnt
left
let
lit
lost
made
meant
met
proved

read[red]
rung
risen
run
said
seen
sold
sent
set
shaken
shone
shown
shrunk
shut
sat

Russian translation

pacTu, BblpallmBaTb
BUCETb

nveTb

cnblwaTtb

npaTatb

BMCETb, BeLlaTb

AepXXaTb; NPOBOAUTb
XpaHUTb; NPOAOIKaTb AenaTtb
3HaTb

BeCTu (K yemy-nubo)
yunTb(-cs)

ye3xaTb, OCTaBNATb
No3BONATb

3axuraTb

TepATb, NPOUrpbIBaTh
Aenatb, n3rotaBnmBaTtb
3Ha4UTb, UMETb B BUAY
BCTpeYyaTb

AOKa3blBaTb

ynTaTb

3BOHUTb
nogHMMaTbCA

beraTtb

ckasaTtb

BNOETb

npogasaTb

oTnpaBnATb, NoCbINaTb
ycTaHaBnueaTb

TPACTU

CBETUTb

nokasblBaTb
CKnmaTbCs, AaBaTb ycaaky
3aKpblBaTb, 3axXNonbIBaTb
cnoeTtb
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infinitive

past

past

Russian translation

sleep
slide
speak
spend
spill
spin
split
spoil
spread
spring
stand
steal
stick
strike
swell
swim
take
teach
tear
tell
think
throw
understand
underake
wake
wear
win
wind
write

slept
slid
spoke
spent
spilt
span
split
spoilt
spread
sprang
stood
stole
stuck
struck
swelled
swam
took
taught
tore
told
thought
threw
understood
undertook
woke
wore

won [wAn]
wound
wrote

participle
slept
slidden
spoken
spent
spilt
spund
split

spoilt
spread
sprung
stood
stolen
stuck
struck
swollen
swum
taken
taught
torn

told
thought
thrown
understood
undertaken
woken
worn

won [wAn]
wound
written

cnatb
CKOIMb3UTb, BABUraTb

roBOpUTb

npoBOaUTb (8peMmsi), TpaTUTb
nponueaTb

BpaLLaTbCs

pasgensiTb, pasgensTbes
NCNopTUTL

pacnpocTpaHAaTbCS

BbICKOYMTb, CHAbANTb NPYXNHON
CTOSATb

yKpacTb

NPOTKHYTb, MPUKPENUTBLCS, 3acCTPATb
yaoapsite, outb

pacLnMpuTbCs, pasnyTbca
nnasaTb

GpaTtb

npenogasatb, Y4UTb

pBaTb, pa3pbiBaTb

ckasaTb (Komy-11.)

aymaTtb

BpocaTb

NOHUMaTb

npeanpuHUMaThb

npockinaTtecd, 6yants

HOCUTb (00exqy), N3HalmnBaTb
nobexxgatb

BUTbCA, HAMaTblBaTb, 3aBOAUTb
nncaTb
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Appendix 3

Patterns with Gerund

1. After some verbs meaning beginning, continuing or ending (as part of
the predicate):

They started arguing. — Onu nauanu cnopums.

He stopped working. — Ou npexpamun pabomame.

He gave up smoking. — Ou 6pocun kypums.

He went on eating. — Or npoodonsican ecme.

He continued eating. — On npodonsican ecme.

It kept on raining. — IIpoooasicancs 00icov.

We finished working at 5 o’clock. — Mut 3akonuunu pabomams 6 5 uacos.
| put off writing a letter. — X7 omuoowcun nanucanue nucoma.

| can’t help feeling sorry about it. — 4 ne moey ne cooscanemo 06 smom.
| am against doing like that. — 4 npomue mozo, umobwr max oename.

| am for doing like that. — X 3a mo, umo6wvr max oenameo.

It is worth doing like that. — Cmoum oeramv max.

2. After the following prepositional phrases (as a prepositional object):

to accuse somebody of — o6sunsme xKoco-1ub0 6 uém-mo
to apologise for — ussunamscs 3a umo-1ubo

to approve of — 0dobpsime umo-1ubo

to be afraid of — 6osamucs ueco-1ubo

to be against — 6b1me npomue wezo-1ubo

to be bad at — 6simsb neycnewnvim 6 uém-1ub0

to be capable of — 6vimwb cnocobnvim na umo-1u60
to be engaged in — 6vims 3anameim uem-1ub0

to be fond of — yerexamuvcs uem-nub0

to be for — 6vims 3a umo-1ubo

to be good at — 6vims ycnewnvim 6 wém-1ubo

to be interested in — unmepecosamuvcs uem-nub0
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to be proud of — copoumucs wem-1ubo

to be responsible for — 6bime omeemcmeennvim 3a umo-1ubo

to be tired of — yecmamwv om ueco-1ubo

to benefit by — nonyuums evicooy om uezo-1ubo

to congratulate somebody on — nozopasisme koco-1ubo ¢ uem-mo
to contribute to — cnocob6cmeosame uemy-i1u6o

to dream of — meumamo o uém-1ubo

to get used to — npuswiknymo k wemy-1ubo

to keep somebody of — yoeporcame koco-1ubo om ueco-mo

to look forward to — ¢ nemepnenuem scoams ueco-1ub0

to object to — sospasicams npomue uezo-n1u60

to prevent somebody from — npedocmepeus koco-1ubo om ueco-mo
to suspect somebody of — nodospesamov koco-1ub0 6 uém-mo

E.g. He is responsible for signing this contract. — Oun omeeuaem 3a
noonucanue 3mozo KoHrmpaxkma.

3. After abstract nouns followed by of (as an attribute):

the use of — nozwza, cmwicn

the idea of — uodes

the point of — cueica

the importance of — sascnocmo
the habit of — npuswiuka

the probability of — sozmooicnocmo, seposimnocmeo
the aim of — yenw

the way of — cnoco6

the necessity of — neob6xooumocmo
the intention of — namepenue

the reason of — npuuuna

E.g. What is the use of arguing? — Kakou cmvici cnopumu?
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4. In some expressions (as an object):

He enjoys eating. — On ar06um noecmeo.

He admitted taking the money. — On npusnancs ¢ mom, umo 6351 denveu.

We couldn’t avoid hitting their car. — Mot ne moenu uzbexcamo
CMONKHOBEHUS C UX MAUUHOLL.

| considered buying a car. — X nooymwisan o mom, umobvl Kynumo

MAWUHY.

Do you mind my being here? — Ber ne 6ospasicaeme, eciu si no6yoy

30ech?

| don’t mind waiting. — A ne npomueé mozo, umo6wi nodosxcoame.

It is worth doing like that. — Cmoum oeramo mak.
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Appendix 4

About Articles
(06 apTUKNAX NpPoOCTO)

7 AW
v |

ApPTHUKIIb HE SBISIETCSI CAMOCTOSATEIBHOM YacThI0 peud. IDTO CIIy>KeOHOE
CJIOBO, KOTOPOE ABJISETCA ONPEAEIEHUEM CYIIECTBUTEIBHOTO.

B aHrimickoM s3bIKE HMEETCs 2 apTUKIS — HeolpeAeJéHHbIN
(Indefinite Article) a (an) u onpenenénnniii (Definite Article) the, kotopsie
CTOSIT Tepel CYUIECTBUTEIbHBIMUA, a €CIIH Y CYLIECTBUTEIBHOIO €CTh
omnpeaeneHue, To nepen HuM (a boy — a nice boy).

HEOMNPEIEJEHHBINA APTUKJIb

HeomnpenenéHublii apTUKIIL TMPOM30IIENT OT YUCIUTEIbHOro ‘an’ (‘one’),
MO3TOMY  TMPEUMYIIECTBEHHO  YIOTpeOJseTcs  Tepea  HCUYHUCIISIEMBIM
CYIIIECTBUTEIILHBIM B €IMHCTBEHHOM YHCIIC.

dopma ‘@’ ynorpebisercss mepen CIOBaMH, HAYMHAIOIIUMUCS C
corjacHoOro 3Byka: a book, a good book, popma ‘an’ nepen riacHbIM 3ByKOM —
an apple, an easy text, an hour.

B pycckoM s3pIK€ apTUKIL OTCYTCTBYET, HO CMBICIIOBOE 3HAYEHUE,
BbIpQKaeMO€ AHIJIUUCKUM HEOTPENETIEHHBIM apTUKIIEM, MEPEaaETCsl MOPSIKOM
CJIOB ¥ HEKOTOPBIMH CIIOBAMH, HAIIPUMED: 0OUH, KAKOU-MO, KAKOU-HUOYOb U T.].
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YnorpedJjieHue HeONPeEAEJEHOTO0 AP THKIIA

| HassiBHAsS hVHKIINS:

1) B Ha3bIBHOM MpPEUIOKEHUH, T.€. KOTJla CYIIECTBUTEIBHOE TOJBKO
Ha3bIBAETCS M HE MPEJICTABISAET KOHKPETHOTO YEJIOBEKA MIIM TIpeaAMET (0OBIYHO
B MPEIIOKECHUAX, HAUMHAIOIIUXCS C yKa3aTeJIbHbIX MECTOMMEHUU This is ... ,
That is ... WM TMIHOTO MEeCTOMMEHHS It is ... )

This is a house. This is a nice house.

2) Korpia nuiio Uiy npeaMer sIBISeTCsl el HEM3BECTHBIM COOECETHUKY
1 YIIOMHWHACTCA BIICPBLIC:
| see a boy.

3) OOBIUHO HeompeeAEHHBIA APTUKIIL CTABUTCA Mociie o0opoTa there is,
BBIPAKAIOIIETO HATMYHME KAaKOr0-TO MIPEAMETa B ONPEICIEHHOM MECTE:
There is a book on the table. (Ha cmone — knuea.)

4) Kak mnpaBujo, HEONPEACNEHHBIN apTHKIb YHOTPEOJSeTCS TOoCIe
rmaroja to have, ecim y CyUIECTBUTENIBHOIO HET KOHKPETU3UPYIOIIETO
OTIpeeICHUS:

| have a book. (V mens ecmo knuea.)

Ho! | have the book which you want to read. (Y MeHs ecTh Ta KHHTAQ,

KOTOPYIO Thl XOUY€IIb IMTPOYECTh. — KOHKPETU3UPYIOIIIEE ONPE/ICICHUE)

5) B BockiIMIaTEIbHBIX TPEAJIOKECHUSIX
What a fine day! (Kaxou npexpachsiii Oenn!)

Il Kimaccudunmupyromiass hyHKIIUA:

6) Heonpenen€HHublii apTUKIb MOYET OTHOCHUTH JIMIIO WU MPEIMET K
KJIACCY WK POAY MOJIOOHBIX:
Her brother is a student. (E¢ 6pam — cmyoenm.)

[l 7) 3HayeHre eMMHUYHOCTH:

| can’t hear a word that she is speaking. (I He cipllily HU OJTHOTO CJIOBa,
YTO OHA TOBOPHT. )

Heonpenenénuslii  apTUKIb  BCErga  HMCHOJB3YETCS C  TAKUMU
YHCIMTENbHBIMHY, Kak: hundred, thousand, million.

a hundred kilometres (cmo kunomempos)
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IV 8) O6o06imaroliee 3HaUYCHHUE:

A cat likes fish. (Kowxka mooum pulby. — m.e. kaxcoas Kowka)

B o0oOmaromeM 3HaYE€HUHW HEONPEAECNEHHBIM  APTUKIb  YacTO
UCTIOIB3YETCs B TIOCTIOBUIIAX
A friend in need is a friend indeed. (/{pye noznaémcs 6 beoe.)

HeonpeneaéHHbIN aPTUKIIL HE VIIOTPEOTISIETCS:

1) C HencuucigeMbIMH CyLIECTBUTEIbHBIMU:
She likes cheese and milk. (Ora n0b6um colp u monoko.)

2) C cylecTBUTEIbHBIMA BO MHOKECTBEHHOM YHUCJIE:
There are pupils in the classroom. (B kracce naxoosmcs yuenuxu.)

3) [lepen uucnuTenbHBIM ONE: 1160 a day 1udo one day.

Kak mpaBuno, Heonpenen€éHHbId apTUKIb HA PYCCKHM A3BIK HE

INEPEBOJUTCA, HO HMHOI'Ja MOIKCT IICPCBOAUTHCA YHCIUTCIbHBIM KOOUHY (CO

3HAYCHUEM «KAKOU-MO0Y):
| read it in @ magazine. (A npouén a3mo 6 oOHoM dHcypHane.)
A man told me about it. (Odun (kakoti-mo) wenosex ckazan mue 5mo.)

ONPEJAEJEHHBIA APTUKJIb

Onpenenéuupli  apTukip the  nOpowuszomén OT  yKa3aTeIbHOTO

mecrouMenus ‘se’ (‘omom’). Uuraercs kak [0i:] mepen rinacusiMu (the apple) u

kak [08] mepen cormacHeiMu (the cat). OnpenenéHHbIi  apTHKIb
YHIOTPEOISETCS KaK ¢ NCUUCIIEMBIMH CYIIECTBUTEIHLHBIMU B €JUHCTBEHHOM U
MHOYXE€CTBEHHOM YHUCJIE, TAaK U C HEUCUUCIIIEMbIMU CYIIIECTBUTEIIHLHBIMHU.

OnpenenéHupli  apTUKIb HMEET KOHKPETH3UPYIOIee 3HAYeHUue U
yKa3bIBAa€T, YTO CJIOBO, IMPU KOTOPOM OH CTOHUT, M3BECTHO COOECEIHUKY U
BBIJICJIEHO U3 KJIacCa OJHOPOAHBIX MPEAMETOB WIM Jinil. YacTo 3TO CIOBO B
MPEIOKECHUH SIBIISICTCS MOJIEKALIUM.

The house is new. (/[om Hosblil.)

Peub unér o gome, U3BECTHOM TOBOPSIIEMY M CIyHIAIONIEMY, a HE O
JIoMe BOOOIIIE.

3HAYEHUIO OMNPENCIEHHOTO AaPTHKISA B AHTJIUHUCKOM SI3bIKE OJIM3KHU
3HA4YE€HUs1 PYCCKUX CIIOB: 3MOm, Mmom, ma, KomopPulli, Mmom CaMbll.

This is the book that | asked you for. (Omo ma xknuca, komopyr =
npocun y 8ac.)
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YnorpedjieHue onpeaeIéHHOT0 apTHKJISA

1. OnpenenénHbii apPTUKIIb ynotpeossercs, KoTJ1a u3
MPEIIIECTBYIONIEr0 KOHTEKCTa $ICHO, O KakoM mnpeamere (mpPeaMmerTax,
SIBJICHUSX ) UJET PEUb:

We saw a new film yesterday. The film was interesting. (Buepa mwi
suoenu Hosvlil urom. Punbm OblL1 UHMEPECHDLI.)

B npuBeaéHHOM mnpuMepe BO BTOPOM NPEIIOKEHHUHM YKAa3bIBACTCA
U3BECTHBIN HAM IIPEIMET, O KOTOPOM HUIET PEYb.

2. OnpenenéHHbIA aPTUKIIL YIOTPEOIETCS, KOT/Ia SICHO U3 OKPYKarolen
00CTaHOBKH, O KAKOM KOHKPETHOM IIPeaMeTe (SIBJISHUM) UJIET PeUb:
Open the window please. (Omxkpotime, noxcanyiicma, okHo!)

B HekoTopeIX ciaydasx TIPEAMET, O KOTOPOM HIAET Pedb, MOXKET
OTCYTCTBOBAaTh B JAHHON CHUTYyalldd, OJIHAKO OH M3BECTEH TOBOPAIIEMY H
CIIYIIAIOIIEMY U3 WX MPEIIIECTBYIONIETO OMbITA:

Will you go to the library? (Tet notioéws 6 bubuomexy?)

3. OnpenenéHHbI apTUKIIb YIIOTPEOISIETCS, €CIM y CYIMIECTBUTEIHHOTO
€CThb OTPEICTUTEIHHOE CIIOBO WIIH MPE/II0KCHUE:

the boy that | met (manvuux, komopoeo s 6cmpeuan);

the girl in green (ma oesywka, komopas 6 3e1€HoM).

OnpenenéHHbli  apTUKIb  YINOTPEOJISIETCS C  CYIIECTBUTEIbHBIM,
HMMEIOIIMM OIPaHUYMBAIOIIEE OMPEACICHUE C TPEI0TOM Of:
the name of the street (razsarnue ynuyot).

4.  OnpenencéHHbll  apPTUKIb  yOOTPEOJsieTcs,  ecnu  Tepen
CYIIECTBUTEJIBHBIM CTOUT NPUJIaraTelibHOE B MPEBOCXOIHON CTEIICHMU:
John is the best student of the group. (Zowcon — ayuwuii cmyoeum

epynnol.)

5. OmnpenenéHHblii  apTUKIL  ynoTPeOssercs, eciau  mnepen
CYIIECTBUTEIIBHBIM CTOUT MOPSIKOBOE YNCIUTEIBHOE:

Yury Gagarin is the first cosmonaut in the world. (FOpuu ['acapun —
nepeulil 8 Mupe KOCMOHAEM.)

6. OmnpenenéHHBI apTUKIL YIOTPEONSETCS C CYIIECTBUTEIbHBIMH,
0003HAYAOIINMH TIPEIMETHI, S IMHCTBEHHBIE B CBOEM POJIE:

the sun (connye);

the moon (n1yna);
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the earth (zemns);
the world (mup, ceem).

7. Onpenen€HHbld apTUKIb YNOTPEOIsieTcsl Tepell Ha3BaHUSIMU
MY3bIKaJIbHBIX HHCTPYMEHTOB B MPEIOKEHUSIX THUIIA:
She plays the piano very well. (Ona ouens xopowio uepaem na nuanuto.)

8. OmnpenenéuHplii apPTUKIb yHnoTPeOysieTcs mnepen (paMuausMu  BO
MHOXECTBEHHOM YHCJIE, KOTJa TI0IPa3yMEBAETCS BCS CEMBbSI:
the Blacks (cemwvs braxos).

9. OnpenenéHHplii apTUKIIL YHNOTPEOJISIETCS Tepel NpuilaraTelbHbIMU B
3HAYEHUH OOLIHOCTH JIHOIEH (CYILIECTBUTENBHOE B JAHHOM CIIy4ae OTCYTCTBYET):

the rich (6boecamsie); the white (6enbie);

WM HallMoHaIbHOCTU — the British (6pumanywi).

10. OmnpenenéHHblii apTUKIb YMNOTPEONSIETCS TMepes] HEKOTOPHIMU
reorpauuecKMMu Ha3BaHUSIMU:

— Mopeit —the Black Sea;

— pex —the Volga;

— okeaHOB — the Atlantic Ocean;

— ropHbIX nemnei — the Alps (HO He OTACNBHBIX BepiuH — Everest);

— HEKOTOPBIX rocyaapcts (B KOTOPBIC BXOJIAT ClIoBa union, united nubo
Apyroe HapuiaTelbHOE CcymecTBuTeabHoe) — the USA (the United States of
America).

Ha pycckuii s3bIK ONPENEHEHHBIM ApPTHKIb MOXKET MEPEBOAUTHCS
yKa3aTeJIbHbIMU MECTOUMEHUSMH «IMOM, MU, mom, me» B 3aBUCUMOCTHU OT
KOHTEKCTA:

At the moment he couldn’t tell me about it.

(B mom momenm ou He Moe ckazams MHe 00 dMOM.)

DEFINNTE
ARTICLE
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APTHUKJHU He YIIOTPeOJSAITCHA

1. C umeHaMu cOOCTBEHHBIMU:
| spoke with Peter about it. (1 06 smom 2oeopun ¢ Ilempom.)

2. C Ha3BanusiMHu cTpaH — France.
3. C HazBanussMu ropozioB — London.
4. C na3zBanusmu yiuil — Oxford street.

5. Ilepen cyIIeCTBUTECILHBIMH, 3a KOTOPBIMH CIEAYET KOJIMYCCTBEHHOEC
YHCIUTEIbHOE, 0003HaYaIoIIee HOMEP:
He lives in room 5. (Ou orcusém 6 komname Ne 5.)

6. [lepen Ha3BaHUSAMU HAYK, IPEIMETOB, SI3BIKOB:
Chemistry, Phisical Training, Russian, English u T.1.

Ho! the English language (ecnu ecth ciioBo language).

7. C CyIIeCTBUTECNBHBIMU, ONPEACIICMBIMH TPUTSKATCIbHBIMU U1
yKa3aTeIbHBIMA MECTOMMEHUSIMH:

| see his car. (A susicy eco mawuny.)

| need this book. (Mne nysicna sma xnuea.)

8. C Ha3BaHUSIMU CIIOPTUBHBIX UTP:
He plays football. (On uepaem 6 goymoéon.)

7%

-

171
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Appendix 5

Set Expressions with Articles

General English

THE

A/AN

o

the other day — Ha OHsx (8
rpouwsiom)

the day after tomorrow -
rnocneszasmpa

the day before yesterday —
rnosasyepa

in the morning — ympowm
in the afternoon — OHém
in the evening — seyepom

in the plural - 60
MHOXX€CM8EeHHOM Yucrie
in the singular - 8

eOUHCMBEHHOM Hucre
in the past — e npowiom

in the present - 8
Hacmosiwem

out of the question -
UCKITHOYEHO, HEBO3MOXXHO

just the same - mo xe
camoe

by the way — mexdy npoyum
to play the piano (guitar,
etc.) — uepamb Ha posne,
aumape u m.o.

What is the time? -
Komopelt yac?

to tell the time — ckasame,
KomopablIU Yyac

to tell the truth — ckazame
npaedy

to go to the cinema
(theatre) — noumu e KuHO
(meamp)

at the cinema (theatre) — 8
KuHo (meampe)

in the country — 3a 2opodom

a few — Heckornbko

a little — HemHo20

a bit — HemHo20

a lot of — mHo20

a great deal of — mHO20

for a while — Ha Hekomopoe
gpemsi

in a low (loud) voice -
muxum (2pOMKUM) 20/10COM

to be at a loss — 6bimb 8
pacmepsiHHocmu

(to be) in a hurry — e crnewke
(cnewums)

to go for a walk — udmu
2ynsimeo

to have a good time -
XOpOoWwo rnposecmu epemsi

to tell alie — conzamp
It's a pity (shame) — )Kasnb!

It is a pleasure - C
y0080/Ib.CMBUEM.
What a shame! — Kak He

cmbiOHo! Kakoli nosop!

All of a sudden — sHe3arnHo,
gdpya

| have atoothache

(headache). — Y mens 6onum
3y6 (2on108a).

at home — doma

to go home — udmu domou
at peace — 8 cocmosHUU
mupa

at war — 8 cocmosiHuu
80UHbI

at school — 8 wkone

to go to school — udému
(xo0umb) e wkKony

at table — 3a cmosiom (8o
gpemsi e0bl)

by chance — cnyyvatHo

by heart — Hausycmsb

by name — no umeHu

by mistake — no owubke

in time — sospems

to ask permission -
rpocums paspeuweHust

to be in bed — nexams 8
rnocmernu (6onema)

to go to bed — noxumscs
crnameo

to go by tram (car, train) —
examb Ha mpameae
(mawuHe, noesde)

to go by water (air, sea,

land) - nepedsuzamsbcs
800HbIM (8030yWHbIM,
MOPCKUM, CYXOMnymHbIM)
nymém

to go to town — examb 8
e2opod

to tell lies — 2osopumb
Herpasdy

at work — Ha pabome
at night — Houbro

on Monday - 8
rnoHeoeIbHUK

in March — 8 mapme
in summer — iemom
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Academic English

THE A/AN (7]
the following —| a few — Heckorbko in detail — modpobHo
cnedyrouue ... a little — HemMHO20 in termg of — e nnanre
_ y yero-nubo), 8 KoHmMekcme,
the ne)ft cneOyfoufuu | alot of — MHo20 E:mquu ; )eHu;:/
the main ... — enaembili ... | great / good deal of — P
the only ... — eduHCcMBeHHBIi | 5 by means of — ¢ nomowbto
onbwoe  Koru4ecmeo  (C|(yero-nu6o), mocpedcmeom
Heunc4yucn.) i _
on the whole ... — 8 yeniom in fact — cbakmuyecku, Ha
th ¢ 30803 a great many — 6osnbwoe |camom desne
noibz?/se or ... — 00800 €| yonuyecmeo (¢ ucuncn.) in general — & obwem, &
a number of — psd (dero-|ues1oM
on the one hand ... on the nn6o) /ﬁeKon{lo oe|in principle — & npuryune
other hand — € OO0Hou ’ poe |’ i
CMOPOHBI c  Opyeoii | Konu4ecmeo ... in spite of — HecMompsi Ha
CIMOPOHbI a range of — uyenwili ps0|in time — gospems
the same — mom xe |(4ero-nnbo), duanasoH, kpye |for example / for instance
cambll — Harnpumep

at the same time— 8 mo xe
camoe 8pemsi

on the right / left — cnpaea /
cresa

at the top / bottom — geepxy
| 8HU3Y

in the middle / centre — 8
cepeduHe | ueHmpe

in the direction of ... — 6
HarnpaeneHuu ...

with the help
MOMOWBIO ...

at the moment
Hacmosiwut MOMEeHmM

in the past — e npowiom
in the future — 8 6ydywem

the rest of ... — ocmarbHbie |
ocmarsbHoe

the way of — criocob ...
the level of — yposens ...

of c

8

a variety of — pasHoobpa3sue
(4ero-nnbo), pasHeie

as a result (of)
pe3yrnbmame

a change in — usameHeHue 8
at a time — 3a 0OuH pa3s

as a whole Kak eoOuHoe
uersnoe

as a rule — kak npasuro

for a long / short time -
odorneoe | Kopomkoe spemsi

8

a sort / kind of ... — ceoeeo
poda ..., He4ymo 8pooe ...

alack of ... — Hexsamka ...

in addition to — nomuwmo,

Kpome

in contrast to — 8 omnuyue
om, Ha (poHe, 8 cpaBHEHUU

c

in comparison with — o

CcpasHeHur c

pay attention to
obpawame 8HUMaHUe Ha

by mistake — no owubke
by chance — cnyyvatiHo

in conclusion - 8
3aKrYeHue

at present - 8
Hacmosiuwee epemsi

from beginning to end —
om Hadara 00 KOHua

in reference to - 8
OmMHoweHuu  (4ero-nnoo),

rnpumeHUmesibHO K ...

in spite of — HecMompsi Ha

taking into account
MpuUHUMasi 80 8HUMaHue
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Online Resources

Grammar, spelling and style check:

https://www.grammarcheck.net/editor/
http://www.reverso.net/spell-checker/english-spelling-grammar/
https://www.grammarly.com/

https://www.scribens.com/

https://www.paperrater.com/

https://www.languagetool.org/

http://proofreadbot.com/

http://www.stylewriter-usa.com/

https://advego.ru/text/

Verb tenses:

http://www.english-4u.de/past_prog_ex5.htm
https://learnenglish.britishcouncil.org/en/english-grammar/verbs/
https://www.englishpage.com/verbpage/verbtenseintro.html
https://www.perfect-english-grammar.com/past-simple-present-perfect-4.html
https://www.englishcurrent.com/grammar/study-present-perfect-review-exercises/
https://www.englisch-

hilfen.de/en/exercises/tenses/simple past present perfect3.htm

Passive:

https://www.englisch-hilfen.de/en/complex tests/passivel/index.php
https://www.e-grammar.org/passive-voice/test1-exercisel/

http://first-

english.org/english learning/english active passive/90 passive test english.htm
http://www.edudose.com/english/change-of-voice-questions-answers/

Reported speech:

http://www.learnenglishfeelgood.com/reported-speech-mixed3.html
http://www.examenglish.com/grammar/B1 reported speech.htm

Determiners:

https://www.usingenglish.com/quizzes/70.html
https://elt.oup.com/student/solutions/preint/grammar/grammar_03 012e?cc=us&sel
Language=en

http://www.bes.info.pl/grammar/quantifiers4.html
http://esldivlabs.vcc.ca/ELSA/Instructor Web Exercises/Grammar/Either Neither
Both Multiple Choice.htm

https://www.usingenglish.com/quizzes/82.html
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https://www.englisch-hilfen.de/en/exercises/tenses/simple_past_present_perfect3.htm
https://www.englisch-hilfen.de/en/complex_tests/passive1/index.php
https://www.e-grammar.org/passive-voice/test1-exercise1/
http://first-english.org/english_learning/english_active_passive/90_passive_test_english.htm
http://first-english.org/english_learning/english_active_passive/90_passive_test_english.htm
http://www.edudose.com/english/change-of-voice-questions-answers/
http://www.learnenglishfeelgood.com/reported-speech-mixed3.html
http://www.examenglish.com/grammar/B1_reported_speech.htm
https://www.usingenglish.com/quizzes/70.html
https://elt.oup.com/student/solutions/preint/grammar/grammar_03_012e?cc=us&selLanguage=en
https://elt.oup.com/student/solutions/preint/grammar/grammar_03_012e?cc=us&selLanguage=en
http://www.bes.info.pl/grammar/quantifiers4.html
http://esldivlabs.vcc.ca/ELSA/Instructor_Web_Exercises/Grammar/Either_Neither_Both_Multiple_Choice.htm
http://esldivlabs.vcc.ca/ELSA/Instructor_Web_Exercises/Grammar/Either_Neither_Both_Multiple_Choice.htm
https://www.usingenglish.com/quizzes/82.html

Verbals:

https://www.proprofs.com/quiz-school/story.php?title=verbals-gerunds-participles-
and-infinitives

http://englishteststore.net/index.php?option=com content&view=article&id=4700&
ltemid=418

https://www.englisch-hilfen.de/en/exercises list/gerund infinitiv.htm

Modals:

http://www.myenglishpages.com/site php files/grammar-exercise-modals.php
http://www.perfect-english-grammar.com/modal-verbs-exercises.html
http://www.grammar-quizzes.com/modalquiz.html

Combinatoric dictionaries:

https://www.macmillandictionary.com/
http://www.freecollocation.com/

Articles:

https://www.usingenglish.com/quizzes/216.html
http://englishteststore.net/index.php?option=com_content&view=article&id=58&Ite
mid=453

http://www.myenglishpages.com/site php files/grammar-exercise-articles.php
http://www.grammarbank.com/articles-exercises.html
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